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Figure 12.1 : Proforma of Cost Sheet
COST SHEETOF...........cccovvininn.
for the month ending ..................

Total: Per unit
Rs. Rs.

Raw Materials Consumed
Opening Stock of Raw Materials
Add : Purchases of Raw Materials ~ ...............
Less: Closing Stocks of Finished Goods ~ ...............

Direet Laboui™ A8 & | .-l B BR T S - a
Other DirectExpenses > 400 | . L.ERRI R R 7. Bl .7 ..

PRIME COST | s |

Factory Overheads

WORKS COST | i e,
Office & Administrative Overheads




Add : Opening Stock of Finished Goods | ... | e

PROFIT (LOSS) | oo | ol

SALES/SELLING PRICE | s | i,

Look at Ilustration 1 and see how Cost Sheet is prepared from the given data.
llustration 1
In a factory 20,000 units of Product X were manufactured in the month of September, 2018.

From the following figures obtained from the costing records, prepare a Cost Sheet showing the
total cost and cost per unit:

Rs.
Direct Material Consumed 2,00,000
Direct Wages 1,60,000
Other Direct Expenses 40,000
Factory Overheads 80,000
Office & Administrative Overheads 60,000
Selling & Distribution Overheads 60,000
Solution:
Cost Sheet of Product ‘X’ for the Month of September, 2018
Output : 20,000 units
Total Cost Cost Per unit
Rs. Rs.
Cost of Direct Materials 2,00,000 10.00
Cost of Direct Labour 1,60,000 8.00
Cost of Other Direct Expenses 40,000 2.00
PRIME COST 4,00,000 20.00
Add: Factory Overheads 80,000 4.00
FACTORY/WORKS COST 4,80,000 24.00




Add : Office & Administrative Overheads 60,000 3.00

COST OF PRODUCTION 5,40,000 27.00
Add: Selling & Distribution Overheads 60,000 3.00
TOTAL COST/COST OF SALES 6,00,000 30.00

Note: Cost per unit for each component of total cost has been arrived at by dividing the total
output.

1231 984 GHAT (Direct Materials) &1 ST iTd HRAT

UeT AFHl B AT R R &R 989 dadl YT &) AT AT STUIRT & T Juel arai)
BT ANTT Bl B &I § XGT MY | FH=IdAT U {9y ofafy o @Riar 7 9RT dedl 7T
TR ST Safy H SUANT LT AT ST | e Feal A SN i H AT Al § forad
SADI BH D HRUT ST | 917 7 BT | Srfdier Refody # Sared § araa d ST &)
Tl yde |l B ARTd el 41 g3 sl | 99 MEfaiRad fafer gRT Miebrern S =iy

Sed ¥ SUENT B AT e Gl AR 5

Hod T & URMIH Wl bl afd e,
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Illustration 2

From the particulars given below, determine the cost of direct materials consumed.

Rs.
Opening Stock of Raw Materials 40,000
Purchase of Raw Materials 2,40,000
Carriage Inwards 20,000
Closing Stock of Raw Materials 50,000
Carriage Outwards 20,000
Production Wages 1,80,000



Solution:

Cost of Direct Materials Used in Production Rs. Rs.
Cost of Opening Stock of Raw Materials 40,000
Add : Cost of Raw Materials purchased 2,40,000
Add: Carriage Inwards 20,000  2,60,000
Cost of Raw Materials available for use 3,00,000
Less: Cost of Closing Stock of Raw Materials 50,000
2,50,000

ded AT & id Bl Hed Sl 5 H Jaril MY Bl «ff Ay | Farenm S |oar & | afe
oo ¥ ol faRiy A &1 WART #RA & oy 81 del 1§ Al ded Al & KD Bl YA
Ugel 3T U8l ST (FIFO) UgfI & SR WR fdToi=T SATaT 31287 & iR 39 IR § Us Al
forg <= =2y |

1232 U84 %9 (Direct Labour) &1 &N $i1d HAT

Ue 51 B N W IR &d I99 dad S99 U¥el &8 &1 N WX &= <47 a1y ol
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Sared ¥ WA R T g@e 9 B ArTd Kg
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Ilustration 3

From the following particulars, prepare a statement showing (a) Cost of Direct Materials
consumed, (b) Prime cost, (C) Factory overheads and(d) Factory Cost.

Rs.
Stock of Raw Materials on 1.4.90 24,000
Stock of Raw Materials, on 30.04.90 31,000
Purchase of Raw Materials 1,10,000
Productive Wages 75,000
Drawing Office Salaries 7,800
Counting House Salaries 8,500
Freight on Purchase of Materials 6,000



Rent, Rates, Taxes & Insurance (Factory) 9,000

Rent, Rates, Taxes & Insurance (Office) 6,000
Carriage Outwards 9,500
Repairs of Plant & Machinery 4,500
Travelling Expenses 12,000
Gas and Water Charges (Factory) 3,500
Gas and Water Charges (Office) 1,200
General Charges 7,500
Manager’s Salary (3/4 time devoted to Factory and i
time devoted to Office) 24,000
Depreciation on Plant & Machinery 6,500
Depreciation on Furniture 1,000
Directors’ Fees 9,000
15,000

Advertisement

Solution

Statement of Cost for the month of April, 2018

Rs.

Cost of Direct Materials Consumed
Cost of Opening Stock of Raw Materials 24,000
Add : Cost of Raw Materials purchased 1,10,000
Add: Freight on purchases 6,000 1,16,000
Cost of Raw Materials available for use 1,40,000
Less : Cost of Closing Stock of Raw 31,000 1,09,000
Materials 75,000
Cost of Direct Labour 1,84,000
PRIME COST
Factory Overheads
Drawing Office Salaries 7,800
Rent, Rates, Taxes & Insurance (Factory) 9,000
Repairs of Plant & Machinery 4,500
Gas & Water Charges 3,500
Managers Salary (3/4 x 24,000) 18,000
Depreciation of Plant & Machinery 6,500 49,300
FACTORY/WORKS COST

2,33,300




12.3.6 BTG AN A HRAT (Ascertainment of Cost of Production)

SATed oIRTd haed)/dd dTd 3R S 9 UeNafad SURET &l INT & draeld g
YINITep SURTT H UM W TR iR ST § oY it omvcuel arefl, sracel 19
AR I VLT FAT B ANTd AT BN Sl ©, b1 Temad & A1 Hee Bl 2 |
TEERI 3 H e T 3Nl & MR WR IdATeH aIRTd AforRad a¥id & Sdrell Sros:

Rs.
FACTORY/WORKS COST 2,33,300
Office & Administrative Overheads Rs.
Counting House Salaries 8,500
Rent, Rates, Taxes & Insurance (Office) 6,000
Gas & Water Charges (Office) 1,200
General Charges 7,500
Managers Salary (¥ x 24,000) 6,000
Depreciation on Furniture 1,000
Directors’ Fees 9,000 39,200
COST OF PRODUCTION —2,72,506

s wu A fABfad < d Aoidhd yafeld Ul & AR ‘Slad dRd’ R haes)
AN’ P ARG A9 G § 1 O W@l H, BRI 9 WRINIAG Y e AR Bl
321 81 BId | WIfb WRA § AN oidihd ® il H T ol 'Iured Anrd’ 3R haes]
AR ¥ g AT S 7 |

TSR AN o@ihd @ o Rd @& Ho # Sdred ara § srfed 8k e 2>
fe & o 2 |

1237 Hol dFG/fasha AT (Total Cost /Cost of Sales) SiTd &R

Gl ANT/fAsHy AT SIfad Sl B ITed ANTd IR fAhd dorn faaRvr IuRerd @1
IJIT Bl 2 | Ay 9 fadvor SuRery & famy iR faaxor & o vamr &1 15 srueger arfl,
JITET T 3R 3T I Bl NI AMASA bl Ol & | IerexvT 3 # I T fds! &

IMER W el AR/ [Asha & AT BT MERT $69 bR S

Rs.
COST OF PRODUCTION OF GOODS PRODUCED 2,72,500
Selling & Distribution Overheads
Carriage Outwards 9,500
Travelling Expenses 12,000
Advertisement 15,000 36,500
TOTAL COST/COST OF SALES 3,09,000

1238  Qoiaan fRf wofa & =@ 9 w1f 9 <l &1 o1 (Treatment of items of

Expenses and Losses of Purely Financial Nature)
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I8 €T G JMaeId & b g T 81 & {7 Yoiaan [ geia &1 g sﬁ?ﬁ
ANTT H e 81 fhar Sir 8 | ¥ /e 8 < T Ade ge, & @, Y R gah,
& U M @R, Ay T AT, M= g1 (obsolescence loss), %l aRewafral &1 faa
wR g, e fasa wR e, anfe |

Illustration 4

The following particulars have been obtained from the cost records of P Manufacturing
Company Limited for the month of August, 2018:

Output and Sales for the month ... 10,000 Units
Rs.
Stock of Raw Materialsason1.890 ... 15,000
Stock of Raw Materialsason31.890 ... 20,000
Drawing Office Salaries ... 9,000
Counting House Salaries ... 6,000
Direct Wagespad ... 58,000
Direct Expenses .. 20,000
Purchase of Raw Materials ... 92,000
Carnage Inwards .. 3,000
Carriage Outwards ... 4,500
Cash Discount allowed ... 1,500
Power and Consumable Stores ... 12,000
Indirect Wages L. 15,000
Lighting of Factory ... 5,500
Repairs to Plant & Machinery ... 6,500
Depreciation on Plant & Machinery ... 5,000
Debenture Interest ... 10,000
OfficeRent 12,000
Directors’ Fees ... 6,000
Travelling Expenses ... 7,500
Salesmen’s Salaries and Commission ... 18,000
Office Salaries .. 9,000
General Charges .. 7,000
Advertisement L 10,000
Outstanding Direct Wages ... 2,000
Sale Proceeds of Factory Scrap 3,000

You are required to prepare the Cost Sheet for the month of August, 2018 showing the various
elements of cost per unit.

10



Solution :

Cost Sheet of P. Manufacturing Co. Ltd. for the Month of August, 2018

Output | 10,000 Units
Rs. Rs. Total Cost Cost Per Unit
Cost of Direct Materials used 15,000 Rs. Rs.
Add: Cost of Raw Materials purchased 92,000
Add: Carriage Inwards 3,000 95,000
Cost of Raw Materials available for use 1,10,000
Less: Cost of Closing Stock of Raw Materials 20,000 90,000 9.00
Cost of Direct Labour 58,000
Direct Wages paid 2,000 60,000 6.00
Add : Outstanding Direct Wages 20,000
Cost of Direct Expenses
1,70,000 17.00
PRIME COST
Add: Factory Overheads
Drawing Office Salaries 9,000
Power and Consumable Stores 12,000
Indirect Wages 15,000
Lighting of Factory 5,500
Repairs to Plant & Machinery 6,500
Depreciation on Plant & Machinery 5,000
Less: Sale proceeds of Factory Scrap 53,000
FACTORY/WORKS COST 3,000 50,000 5.00
Add : Office & Administrative Overheads 2,20,000 22.00
Counting House Salaries 6,000
Office Rent 12,000
Directors’ Fees 6,000
Office Salaries 9,000
General Charges 7,000 40,000 4.00
COST OF PRODUCTION 2,60,000 26.00
Add : Selling & Distribution Overheads
Carriage Outwards 4,500
Travelling Expenses 7,000
Salesmen’s Salaries & Commission 18,000
Advertisement 10,000 40,000 4.00
COST OF SALES 3,00,000 30.00

Note : Cash Discount allowed and Debenture Interest are items of purely financial

nature and, as such, are excluded from cost.
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124 AT Qrdl 99T (Preparation of Production Account)

ST AR o1 IRGd B BT U 3 dNId] Sl @il 2 | I8 Udh ook @Nd & wd
A 1T ST 2 | Ufer gobrs ofiTd fohddl ool wrer™ § T fearl) Sirdl | o @ | gvg
e =R ¥ fewry 9 & 941 fb Serexor 5 § fearr Tar 2

lllustration 5
Based on data given in Illustration 4, prepare Production Account.
Solution :

Production Account of P. Manufacturing Co. Ltd. for the Month of August, 2018

Dr. Cr.
Rs. Rs.
To Opening Stock of Raw Materials 15,000 | By Closing Stock of
Raw materials 20,000
To Raw Materials purchased 92,000 | By Cost of Direct
Materials used c/d 90,000
To Carriage Inwards 3,000
1,10,000 1,10,000
To Cost of Direct Materials used b/d 90,000 | By Prime Cost c/d 1,70,000
To Direct Wages 58,000
Add: Outstanding Direct Wages 2,000 60,000
To Cost of Direct Expenses 20,000
1,70,000 1,70,000
By Factory/Works
To Prime Cost b/d 1,70,000 | Cost c/d 2,20,000
To Factory Overheads
Drawing Office Salaries 9,000
Power & Consumable Stores 12,000
Lighting of Factory 5,500
Indirect Wages 15,000
Repairs of Plant & Machinery 6,500
Depreciation on Plant & Machinery 5,000
53,000
Less: Sales proceeds of Fact. Scrap 3,000 50,000
2,20,000 2,20,000
To Factory/Works Cost b/d 2,20,000 | By Cost of Production c/d 2,60,000
To Office & Administration Overheads
Counting House Salaries 6,000
Office Rent 12,000
Directors fees 6,000
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Office Salaries
General charges

To Cost of Production b/d

To Selling & Distribution Overheads
Carriage outward
Travelling Expenses
Salesmen’s Salaries
Advertisement

To Cost Sales b/d

9,000

7,000

4,500
7,500
18,000

10,000

40,000
2,60,000

2,60,000

40,000
3,00,000

3,00,000

By Cost of Sales c/d

2,60,000
3,00,000

3,00,000

Note: If sales are given in the problem, the same should be shown on the credit side and the

difference between Sales and Cost of Sales should be treated as profit/loss on sale.

I UH B

1 Reaa =t a1 Ry |

®) SN B T GodeT AT Bl AT =
W) T T = oo sssessees s sssssees s
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o
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[N o
). f[dshd qod = fdha +

) SUTE ARTd = Hhdes] dRTd +

2 garsy b frafeRag Tiexon § 3 &9 98 & IR B9 Tad ¢ |

®)  Hded AN = o AN + BRI IURSY
o) Yol oNd = Y& IrTd
M A AR = o AN + G e AN
) SR o = haed] AnTd + fasa g faaver suReqy
S) fIhd dNTd = haex drTd + fawa T faave SuRe
3 4 ?EgTﬁ & 9 fRed RH 318 ANTd o &1 Ahadgdd SUART fhar o
Fhdl T |
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125 €419 39 AT a9y 9

1251 I AHA/SISF &1 g (Value of Scrap/Wastage)
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1252 o fAffia A1 &1 URPAIS iR 3if<gs e (Opening and Closing Work-in-Progress)
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1253 IR AT BT TRMAS AR Afaq wi@ (Opening and Closing Stock of Finished
Goods)

IgdT T & gar ® b fady oy § Safld GUR A B e gargai 9 sl § e
Y | a_dd H TR AT & §{Y S(H b G J&g B AT Bl 2 dIfh s srafyy 4
faen FR=R Bl 32| dTef 3@l § 99 T AT B IAGH R S &) & ol Ia1fed
A & Fd H ¥ IR 71 & A0 Wl &I aFTd geqr aifed | fUss! @ & R
AT @ JMfH Wi AT el A & URME WTIdh B drFtd dI FIFO (U8l 3T Uzl
ST & SR IR IR AR § ST d1igd it 9 AT @] dlef 3fae H 99 ST+ &l
FYTT BT 1 39 YhR JIR dTl & URAP 3R <9 Wi b Farare fAeforad adid
I fear T

TR A1 & URMS Wi Pl g @@ dE8) .
SIf$d: Sanfed Wi @Y S@red A,
g & o Sudte A1l &1 e ad
gersd: IR Al & Ifd e @ ad @fe &8 8) e
9 A B[R AR

Illustration 6

The following information has been obtained from the costing records of a manufacturing
company for the month of October, 2018:

Cost of Raw Materials on 1-10-18 ... 75,000
Cost of Raw Materials purchased ... 9,60,000
Carriage on Purchases ... 15,000
Chargeable Expenses ... 80,000
Direct WagesPad ... 4,20,000
Factory Overheads ... 2,30,000
Cost of Work-in Progress on 1-10-18 ... 60,000
Cost of Raw materials on 30-10-18 ... 90,000
Cost of work in progress on 31-10-18 ... 75,000
Cost of Stock of Finished Goods on 1-10-18  ........ 1,50,000
Cost of Stock of Finished Goods on 31-10-18 ........ 1,80,000
Office & Administrative Overheads ... 1,25,000
Selling & Distribution Overheads ... 1,30,000
Sales .. 22,50,000
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You are required to prepare

)} Cost Sheet showing the cost of production of goods produced, and
i) Statement showing cost of sales and profit for the month of October, 2018

Solution:

Cost Sheet for the Month of October, 2018

Cost of Direct Materials used

Opening Stock of Raw Materials
Add: Raw Materials purchased
Add: Carriage on Purchases

Less: Closing Stock of Raw Materials

Cost of Direct Labour
Cost of Chargeable Expenses
PRIME COST
Add: Factory Overheads
GROSS FACTORY/WORKS COST
Add: Cost of Opening Stock of Work-in-Progress

Less: Cost of closing stock of Work-in-progress
FACTORY/WORKS COST
Add: Office & Administrative Overheads
COST OF PRODUCTION OF GOODS PRODUCED

9,60,000
15,000

75,000

9,75,000

Rs.

1

90.000

0,50,000

9,60,000

4,20,000
80,000
14,60,000
2,30,000
16,90,000
60,000
17,50,000
75,000
16,75,000
1,25,000
18,00,000

2) Statement Showing the cost of Sales and Profit for the Month of October, 2018

Cost of Opening Stock of Finished Goods
Add: Cost of Production of goods produced
Cost of Production of goods available for sale
Less: Cost of Closing Stock of Finished Goods
COST OF PRODUCTION OF GOODS SOLD
Add: Selling & Distribution Overheads

COST OF SALES

Profit (balancing figure)

SALES

Rs.
1,50,000
18,00,000

19,50,000
1,80,000

17,70,000
1,30,000

19,00,000
3,50,000

22,50,000
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faspa T SR o @ fqavor o H Aol Bl A4 b R b SAfIRe drer wmAel BT
ST |qH ST & | SHA 99 T AT DI AT AT Ihb H A DI A A B A i
B & |

1254 fawa 3R fFa=er SuRa™ (Selling and Distribution Overheads)
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Illustration 7

The following is the cost data relating to product D for the year ending December 31, 2018.

Rs.
Purchase of Raw Materials 1,20,000
Factory Rent & Insurance 8,000
Carnage Inwards 1,440
Other Factory Overheads 40,000
Direct wages 60,000
Stock on 1-1-2018
Raw Materials 20,000
Finished Goods (1,000 tons) 15,000
Administrative Overheads 28,400
Sales
Stock on 31-12-2018 2,99,000
Raw Materials 22,240
Finished Goods (2,000 tons) 31,950

There was no stock of work-in-progress either at the beginning or at the end. Advertising and
other selling costs were Re. 1 per ton. During the year 16,000 tonnes of product D was produced.

Ascertain (a) total the cost of production (b) the cost of goods sold (c) the cost of sales, and, the
(d) net profit for the year; and work out (i) the percentage of factory overheads on direct wages
(i) the percentage of administration overheads on works cost, and (iii) the net profit per ton.

Solution
Cost sheet of Product D for the year ending December 31, 2018
Output : 16,000 tons

Cost of Direct Materials used
Opening Stock of Raw Materials 20,000
Raw Materials purchased 1,440
Add : Carriage inwards 1,20,000

1,41,440
Less: Closing Stock of Raw Materials 22,240 | 1,19,200
Direct Wages 60,000
PRIME COST 1,79,200
Factory Overheads
Rent & Insurance 8,000
Other Factory Overheads 40,000 48,000
Works Cost 2,27,200
Administrative Overheads 28,400
COST OF PRODUCTION 2,55,600
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2,55,600

Cost of Production per Unit = 16,000 = Rs. 15,975
Statement of Cost of Sales and Profit
Quantity Amount
(Tons) (Rs.)
Opening Stock of Finished Goods 1,000 15,000
Add: Cost of Production 16,000 2,55,600
17,000 2,70,000
Less: Closing Stock of Finished Goods 2,000 31,950
COST OF GOODS SOLD 2,38,650
Add: Selling & Distribution Overheads 15,000
(15,000 x Re.1)
COST OF SALES 2,53,650
Net Profit 45,350
SALES 2,99,000
1) Percentage of Factory Overheads to Direct Wages
Factory Overheads
= i 100
Direct Wages
_ 48,000 100
60,000
= 80%
i) Percentage of Administration Overheads to Works Cost
__ Administrative Overheads o3
B Works Cost
_ 28,400 < 100
~2,27,200
= 12.5%
iii) Net Profit per Unit
Net Profit

- Number of Units Sold

_ 45,350
~ 15,000

= Rs. 3.02
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Illustration 8

X Manufacturing Co. Ltd. receives an enquiry for the supply of 20,000 units of its products.

The costs are estimated as follows:
Raw Materials 1,00,000 Kgs @ Rs. 2 per kg.
Direct Wages 10,000 hours @ Rs. 8 per hour

Variable Overheads :
Factory @ Rs. 4.80 per labour hour
Selling & Distribution Rs. 32,000

Fixed Overheads :

Factory Rs. 12,000

Office & Administration Rs. 1,00,000
Selling & Distribution Rs. 28,000

The company adds 20% to its cost as its margin of profit. Prepare a Statement of quotation

showing the price to be quoted.

Solution :

Statement of Quotation Showing the Price to be Quoted per unit and for 20,000 Units

Estimated Cost of Direct Materials
Estimated Cost of Direct Labour

Estimated Prime Cost
Add: Estimated Factory Overheads
Variable 48,000
Fixed 12,000
Estimated Factory Cost

Add: Estimated Office & Administrative Overheads
Estimated Cost of Production
Add: Estimated Selling & Distribution Overheads
Variable 22,000
Fixed 28,000

Estimated Cost of Sale
Add : Desired Profit @ 20% on Cost Price

Estimated Selling Price

Total Per Unit
Rs. Rs.
2,00,000 10.00
80,000 4.00
2,80,000 14.00
60,000 3.00
3,40,000 17.00
1,00,000 5.00
4,40,000 22.00
60,000 3.00
5,00,000 25.00
1,00,000 5.00
6,00,000 30.00
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Illustration 9

The following figures have been obtained from the cost records of a manufacturing company for
the year 2018:

Rs.
Cost of materials 2,40,000
Wages for direct labour 2,00,000
Factory overheads 1,20,000
Distribution expenses 56,000
Administration expenses 1,34,400
Selling expenses 89,600
Profit 1,68,000

A work order was executed in 2018 and the following expenses were incurred:

Rs.
Cost of materials 32,000
Wages for labour 20,000

Assuming that in 2018 the rate for factory overheads went up by 20% distribution charges went
down by 10% and selling and administration charges went up by 12%:%, at what price should the
product be quoted so as to earn the same rate of profit on the selling price as in 2018. Show the
full workings.

Factory overheads are based on direct wages while administration, selling and distribution
expenses are based on factory cost.
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Solution

Statement of Cost for the Year 2018

Cost of Direct Materials
Direct Wages

PRIME COST

Factory overheads

WORKS COST

Administration overheads

COST OF PRODUCTION

Selling overheads
Distribution overheads

COST OF SALES

Profit

SALES

Rs.
2.40.000

2,00,000

4,40,000

1,20,000

5,60,000

1,34,400

6,94,400
89,600
56,000

8,40,000

1,68,000

10,08,000

Factory Overheads Rate

Administration Overheads Rate

Selling Overheads Rate

Distribution Overheads Rate

Factory Overheads

= : x 100
Direct Wages

~1,20,000

= 2.00,000 < 100
= 60%

_ Admn. Overheads
Works Cost

X 100

_1,34,400

= 560,000 < 10V

= 24%

_ Selling Overheads

Works Cost x 100

89,600

= 560,000 < 100

=16%

_ Distt. Overheads

Works Cost x 100
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56,000

560,000 < 100

=10%

Profit

Rate of Profit = Costof sales *
ate of Profl Cost of sales

100

~ 1,68,000

= X
8,40,000 100

= 20% of cost of sales

Statement of Quotation for a Work Order

Cost of Direct Materials

Direct Wages
PRIME COST

Factory Overheads

(60% of wages plus 20% thereof i.e., 72% of wages)
WORKS COST

Administration Overheads

(24% of works cost plus 12% % thereof i.e.,27% of works cost)
COST OF PRODUCTION

Selling Overheads

(16% of works cost plus 12% % thereof i.e., 18% of works cost)

Distribution Overheads

(10% of works cost minus 10% thereof i.e., 9% of works cost)
COST OF SALES

Profit (12% of cost of sales)
ESTIMATED SELLING PRICE

Rs.
32,000
20,000

52,000

14,400

66,400

17,928

84,238

11,952

5,976

1,02,256

20,451

1,22,707
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12.7 COMPREHENSIVE ILLUSTRATIONS

Illustration 10

The following particulars relating to the year 2018 have been taken from the books of a
Chemical Works manufacturing and selling a chemical mixture:

Kg. Rs.
Stock on 1st January, 2018
Raw Materials 2,000 2,000
Finished Mixture 500 1,750
Factory Stores 7,250
Purchases
Raw Materials 1,60,000 1,80,000
Factory Stores 24,250
Sales
Finished Mixture 1,53,050 9,18,000
Factory Scrap 8,170
Factory Wages 1,78.650
Power 30,400
Depreciation of Machinery 18,000
Salaries
Factory 72,220
Office 37,220
Selling 41,500
EXxpenses
Direct 18,500
Office 18,200
Selling 18,000
Stock on 31%t December, 2018
Raw Materials 1,200 ?
Finished Mixture 450 ?
Factory Stores 5,500

The stock of finished mixture at the end of 2018 is to be valued at the factory cost of the mixture
for that year. The purchase price of raw materials remained unchanged through out the year.
Prepare a statement giving the maximum possible information about cost and its break up for the
year 2018.
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Solution:
Cost Sheet of a Chemical Works for the year 2018

Output : 1,53,000 Kg
Total Cost Cost per unit
Rs. Rs.
Cost of Direct Materials used
Cost of Opening stock of raw materials 2,000
Add : Cost of Raw Materials purchased 1,80,000
1,82,000
Less : Cost of Closing Stock of Raw Material 1,350 1,80,650 1.181
Cost of Direct Labour 1,78,650 1.168
Cost of Direct Expenses 18,500 0.121
PRIME COST 3,77,800 2.470
Factory Overheads
Cost of Factory Stores consumed :
Opening Stock 7,250
Add: Purchases 24,250
31,500
Less : Closing Stock 5,550 25,950
Power 30,400
Depreciation of Machinery 18,000
Factory Salaries 72,220
1,46,570
Less : Sale of Factory Scrap 8,170 1,38,400 0.904
WORKS COST 5,16,200 3,374
Office & Admn. Overheads
Office Salaries 37,220
Office Expenses 18,200 55,420 0.362
COST OF PRODUCTION 5,71,620 3,736

Statement Showing Cost of Sales and Profit for Year 2018

Rs.
Cost of Opening Stock of Finished Mixture (500 kg.) 1,750
Add : Cost of production of Finished Mixture (1,53,000 kg.) 5,71,620
5,73,370
Less: Cost of Closing stock of Finished Mixture (450 kg.) 1,518
COST OF GOODS SOLD (1,53,050 kg) 5,71,852
Selling & Distribution Overheads
Salaries 41,500
Selling Expenses 18,000 59,500
COST OF SALES (1,53,050 Kg.) 6.31.352
Profit (Balancing figure) 2,86,648
Sales (1,53,050 Kg. finished mixture) 9,18,000
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Working Notes

1) Production during the year = Goods Sold + (Closing Stock - Opening Stock)
(1,53,050 + 450 - 500)

1,53,000 Kg.
) ] 1,80,000
2) Value of Closing Stock of Raw Materials =Rs. ———x% 1,200 = Rs. 1,350
1,60,000
5,16,200
3) Value of Closing Stock of Finished Mixture = Rs. 153000 X 450 = Rs. 1,518

Illustration 11

Work out in Cost Sheet form the unit cost of production per ton of Special Paper manufactured
by a paper mill in March, 2018 from the following data:

Direct Materials

Paper Pulp 500 tons @ Rs. 50 per ton
Other Materials 100 tons @ Rs. 30 per ton

Direct Labour

80 Skilled men @ Rs. 3 per day for 25 days
40 Unskilled men @ Ks. 2 per day for 25 days

Direct Expenses

Special Equipment Rs. 3,000

Special Dyes Rs. 1,000

Works Overheads

Variable @ 100% and Fixed @ 60% on Direct Wages
Administrative Overheads @ 10%

Selling and Distribution Overheads @ 15% on Works Cost

Forty tons of special paper was manufactured and Rs. 800 was realised by the sale of waste
material during the course of manufacture. The scrap value of the special equipment after
utilisation in manufacture is nil.
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Solution

Cost Sheet of a Paper Mill for the Month of March, 2018
Output : 400 Tons

Total Cost Cost per Ton
Rs. Rs.
Cost of Direct Materials used
Paper Pulp = 500 X Rs. 50 = 25,000
Other Materials =100 X Rs. 30 = 3,000
28,000
Less: Sale of Waste Materials 800 27,200 68.00
Cost of Direct Labour
Skilled Men =80 x Rs.3 x 25 6,000
Unskilled Men =40 X Rs. 2 x 25 2,000 8,000 20.00
Cost of Direct Expenses
Special Equipment 3,000
Special Dyes 1,000 4,000 10.00
PRIME COST 39,200 98.00
Works Overheads
Variable (100% on direct wages) 8,000
Fixed (60% on direct wages) 4,800 12,800 32.00
WORKS COST 52,000 130.00
Administrative Overheads (10% on Works Cost) 5,200 13.00
COST OF PRODUCTION 57,200 143.00
Selling & Distribution Overheads (15% on Works Cost) 7,800 19.50
COST OF SALES 65,000 162.50

Illustration 12

Cooling Ltd. manufactured and sold 1,000 refrigerators in the year ending 31st March, 2018. The
summarised Trading and Profit & Loss Account is set out below:

Rs. Rs.

To Cost of Materials 8,00,000 By Sales 40,00,000
To Direct Wages 12,00,000
To Other Manufacturing Cost 5,00,000
To Gross Profit c/d 15,00,000

40,00,000 40,00,000

To Management and Staff Salaries 6,00,000 By Gross Profit b/d 15,00,000
To Rent, Rates and Insurance 1,00,000
To Selling Expenses 3,00,000
To General Expenses 2,00,000
To Net Profit 3,00,000

15,00,000 15,00,000

For the year ending 31st March 2018, it is estimated that—
a) Output and Sales will be 1,200 refrigerators.
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b) Prices of Material will go up by 20% on the level of previous year.

C) Wages will rise by 5%.

d) Manufacturing costs will rise in proportion to the combined cost of Material
and wages.

e) Selling cost per unit will remain unaffected.

f) Other expenses will also remain constant.

You are required to submit a statement to the Board of Directors showing the price at which the
refrigerators should be marketed so as to show profit of 10% on selling price.

Solution :

Statement showing Estimated Selling Price of Refrigerators for the year ending 31%* March, 2018
Output : 1,200 units

Cost of Direct Materials
Cost of Direct Labour

PRIME COST

Add : Factory Overheads

FACTORY COST

Add : Office & Administrative Overheads

COST OF PRODUCTION

Add: Selling & Distribution Overheads

COST OF SALES

Add: Profit @ 10% on Selling Price i.e., 1/9 on Cost of Sales
Estimated Selling Price

Total Per Unit
Cost Rs.
Rs

11,52,000 960
15,12,000 1,260
26,64,000 2,220
6,66,000 555
33,30,000 2,775
9,00,000 750
42,30,000 3,525
3,60,000 300
45,90,000 3,825
5,10,000 425
51,00,000 4,250

Working Notes :

1)  For the sake of convenience, it is desirable that the cost sheet for the last year is prepared as

follows :

Cost Sheet of Cooling Ltd for the year ended 31.3.2018

Total Cost | Cost Per Unit

Rs. Rs.

Cost of Direct Materials 8,00,000 800

Cost of Direct Labour 12,00,000 1,200

PRIME COST 20,00,000 2,000

Add : Factory Overheads (Other Manufacturing Costs) 5,00,000 500

FACTORY COST 25,00,000 2,500

Add : Office & Administrative Overheads 9,00,000

Management & Staff Salaries 6,00,000
Rent, Rates & Insurance 1,00,000

General Expenses 2,00,000 9,00,000 900

COST OF PRODUCTION 34,00,000 3,400

Add: Selling & Distribution Overheads 3,00,000 300

COST OF SALES 37,00,000 3,700
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2) It is important to note here that the cost of all variable items should be determined per
unit and the same should be multiplied by the output for the next year. Thus, increase in
the volume of output will be automatically taken care of.

3) Cost of direct material per unit for the next year

20
= 1200 + (— X 800) = 800 + 160 = Rs. 960

100
4) Cost of direct labour per unit for the next year
5
= 1200 + (1—00 X 1,200) = 1,200 + 60 = Rs. 1,260
5) Increase in combined cost of material and labour i.e., Prime Cost

0= 220 100 11%
=] X =
2,000 y

B (2,220 — 2,000)
B 2,000

~ Manufacturing cost per unit for the next year

11
A 500+<ﬁx 500) — 500 + 55=Rs. 555
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Bhaed g AR (Factory Works Cost): Hd @RI 3R haed] SuRer &I I |
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1) Prepare a Cost Sheet from the following data to find out profit and cost per unit:

Rs.
Raw Materials consumed 1,60,000
Direct Wages 80,000
Factory Overheads 20% of Direct Wages
Administrative Overheads 10% of Factory Cost
Selling Overheads 12,000
Units produced 4,000
Units sold 3,600
Selling Price 100 per unit

(Answer: Prime Cost: Rs. 2,40,000; Factory Cost: Rs. 2,56,000; Cost of production of

2)

goods produced : Rs. 2,81,600; Cost of Sales: Rs. 2,65,440; and Profit : Rs.
94,560)

You are the chief Cost Accounting Department of Leather Products India Ltd.
Your organisation manufactures shoes. The following figures have been extracted
from the account books relating to the production of shoes for the year 2018.

Rs.
Raw Materials consumed (including abnormal wastage of 5,10,000
Rs. 10,000)
Direct Wages paid 4,00,000
Factory Overheads 1,00,000
Tools consumed 10,000
Depreciation of Machines (Factory) 5,000
Machines imported 1,00,000
Work Expenses (Misc.) 50,000
Office Expenses 25,000
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Overheads for Office 40,000

Managing Director’s Salary 50,000
Stationery & Printing (Office) 5,000
Depreciation of Machines (Office) 1,000
Selling and Distribution Expenses 25,000
Entertainment of customers 20,000
Advertising 30,000
Dividend paid 1,00,000

Prepare a cost analysis statement after considering the following:
1) The profit rate is 20% on sales
i) Wages outstanding Rs. 25,000.

Hint : Abnormal wastage of raw materials should be treated separately and as such, it
should not form part of cost.

(Answer: Cost of raw materials consumed; Rs. 5,00,000, Cost of direct labour:
Rs. 4,25,000; Prime Cost: Rs. 9,25.000; Factory Overheads :
Rs.1 ,65,000 Factory Cost: Rs. 10,90,000; Administrative Overheads : Rs.
1,21,000; Cost of production of goods produced : Rs. 12,11,000; Selling &
Distribution Overheads: Rs. 75,000; Cost of Sales :Rs. 12,86,000; Profit: Rs.
3,21,500 & Sales: Rs. 16,07,500)

The following details have been obtained from the cost records of Comet Paints limited:

Rs.
Stock of Raw Materials on 1st September, 2018 75,000
Stock of Raw Materials on 31st September, 2018 91,500
Direct Wages 52,500
Indirect Wages 2,750
Sales 2,11,000
Work-in-progress on 1st September, 2018 28,000
Work-in-progress on 30th September, 2018 35,000
Purchase of Raw Materials 66,000
Factory Rent, Rates and Power 15,000
Depreciation of Plant and Machinery 3,500
Expenses on Purchases 1,500
Carriage Outwards 2,500
Advertising 3,500
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Office tent & Taxes 2,500

Travellers’ Wages and Commission 6,500
Stock of Finished Goods on 1st September, 2018 54,000
Stock of Finished Goods on 30th September, 2018 31,000

Prepare a Production Account giving the maximum possible break up of costs and profit.

(Answer: Cost of Raw Materials consumed: Rs. 51,000; Prime Cost: Rs. 1,03,500;
Factory Overheads : Rs. 21,250; Factory Cost: Rs. 1,17,750; Cost of
Production of goods produced : Rs. 1,20,250; Cost of Production of Goods
Sold Rs. 1,43,250; Selling & Distribution overheads: Rs. 12,500; Cost of Sales:
Rs. 1,55,750; and Profit : Rs. 55,250)

4) A company makes two distinct types of vehicles A and B. The total expenses during a
period as shown by the books for assembly of 600 of A and 800 of B are as under:

Rs.
Material 1,98,000
Wages 12,000
Stores Overheads 19,800
Running Expenses of Machine 4,400
Depreciation 2,200
Labour Amenities 1,500
Works General Expenses 30,000
Administration and Selling Expenses 26,790
Other Data available to you are: AB
Material Cost Ratio per Unit 1:2
Direct Labour Ratio per Unit 2:3
Machine Utilization Ratio per Unit 1:2

Calculate the cost of each vehicle per unit giving reasons for the basis of apportionment adopted
by you.

Hint a) Calculate the effective ratio by taking into account the total output of two

vehicles as follows:
Effective Material Ratio = 1x 600 : 2 x 800
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600: 1600=3: 8

2 x 600: 3 x 800

1200:2400=1:2
Effective Machine Utilisation Ratio = 1x 600 : 2x 800

= 600: 1600=3:8

b) Apportion Material and Stores overhead in Material ratio, Direct wages, Labour
amenities and Works general expenses in Labour ratio, Running expenses of
Machine and Depreciation in Machine utilization ratio and Administrative &
selling expenses in the ratio of works cost.

Effective Labour Ratio

(Answer: Prime Cost : A— Rs. 58,000/Rs. 96.67, B— Rs. 1,52,000/Rs. 190.00;
Factory Overheads : A — Rs. 17,700/Rs. 29.50; B—Rs. 40,200/Rs.50.25; Works
Cost A — Rs. 75,700/Rs. 126.17; B-Rs. 1,92,200/Rs. 2,40,25; Total Cost/Cost of
Sales; A— Rs. 83,270/Rs. 138.79, B — Rs. 2,11,420 /Rs. 264.28)

5) From the following information prepare the Cost Sheet of Pig Iron showing cost of Pig
Iron produced and Cost per tonne of each item of expenditure:

Stock on Purchases Stock on
1st August, during the 31st August, 2018
2018 month of
August, 2018
Rs. Rs. Rs.
Iron Ore 10,800 56,000 10,200
Lime Stone 4,500 15,000 4,800
Coal 94,000 70,000 47,000
Coke 10,500 59,000 7,200
Sundries 6,500 24,000 7,500
Wages Paid Rs. 66,000
Works Charges Rs. 44,500
Sale of Slag during the month was Rs. 8,500

Production of Pig Iron during the month was 1,000 Tonnes

(Answer: Cost of Direct Materials used: Rs. 2,73,600; Factory Cost/Cost of
Production: Rs. 3,75,600; Cost per tonne: Rs. 375.60)
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6) The following particulars have been made available from the Cost Ledger of

a company:

Rs.
Stock of Raw Materials on 31.12.2018 25,600
Stock of Finished Goods on 3 1.12.2018 56,000
Purchases of Raw Materials 5,84,000
Direct Wages 3,97,000
Sales 11,84,000
Stock of Raw Materials on 31.12.2018 27,200
Stock of Finished Goods on 31.12.2018 60,000
Works Overheads 88,072
Office and General Charges 71,048

The company is required to submit a tender for a large machine The Cost Department estimates
that the materials will costs. 40,000 and wages to fabricate the machine Rs. 24.000. The tender
is to be made at a net profit of 20% on selling price.

Prepare a statement showing a) Cost of materials used, b) total cost, c¢) percentage of factory
overheads to direct wages, and d) percentage of office overheads to works cost.

Also prepare a statement of quotation showing the price at which the tender of the machine can
be submitted.

(Answer: Cost of materials used : Rs. 5,82,400; Total cost Rs. 11,38,520;
Percentage of Factory Overheads to Direct Wages 22%; Percentage of
Office Overheads to Works Cost 6.65%; Price to be quoted in tender: Rs. 92,360.)

Al 39 Ul ¥ 3MUBI 59 ghls Bl AR I dvg I gEgE ¥ ggrdr Aol | 99 SR
< B T P 3R uregar sl ¥ gfie STy | dfdd o SR favafdenera @
A7q AR | 3 RI% U e s & forw fov I €
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IPIS 13 Si9 ARG fAerRor

TSI P WG

130 T

131 YRCITGAT

132 Silg AT iRy fafgy
1321 9R¥TET 3R fIRrydmy
1322 WAN S

13.2.3 PHrifafd
13.2.4 FATH
1325 fharHAd g3
133 AR
134  SrcTdell

135 91 YAl B SN

13.6 UG Y/31T

130 S

9 THIS Bl UST b d1¢ AU 39 ANY & B P

. Sifg @rTd fReiRer f[afe &1 aRarT § 96 3R 39 [T Jevr qar e,

. ST FREiReT & ford SR ST arell dRIvGHT aa1 Ha;

. AnTa R @ (Y & w5 | Sife anTa MgRer 3y &1 qeaied a) 9@; IR
. Sifg ArTd fdeRer 991 9 |

131 UdEHr

JH®Y IATE IIfad B dlell BH ANTd R & o sHhis drTd @i fafer &1 I
PRAT 8| 3D dN H 3T SHhTs 2 H UGT 2 | oifhT old BIs BH UH B — BT Sid dl &
8 arfl, 3 IR SURITY BT ST T—ITAT ATAT G XM ol &I, O fb R IR Bl
g, RS Follde AL, BArAR 1 (e, AT SHls AN oldidh] (I BT TANT &l
fhaT ST I | W1 BH AT 9 oTd oRgie fafs &1 YT &xell & S0 Sifd aIRTd
fRerfer faf wed € iR g9 Ay § v i &1 va yura aFTd gHTe FHET W 2 | 39




fafy & sfifa omra wfg iR faved & ot € 3R SHd1 AT JIe—37e™T e &
SIAR T S 2 |

39 THIs H MY 39 fAf &1 AR I egd= ¥ IR I8 O fh BT g & oM IR
ARTT Y ST BT ol | fa9y wy § 31y g g ofic a9 & IR | AR |

132 Sifg &g feriRer fafr (Job Costing)

TIh PR IR Ay v & fory R Sded &9 & 9ol o9 faf¥re ameyr o foed
Sare &1 Ao fear Sirar 8 a1 [ar verd df Sl § a g SeiRer @ o fafer sroemrh
STl § g8 Sifg anrd fgiRer {4y g 81 9 A § U gore St Siew wedr @
=T ISP Sifd T T O Silg & T8 DI AR Udbd AR Rabre @l Il 8 | udh
St @1 el § AR B € S8R SHe fAvy ogikd @ avdddl Bl © | Udb
AAF—3ISTR I aTell Baes! AT Y BR ARFAT I bl Bl IaTeRVl ofd & | T Je AT
AP IRET B oiid H IRl 9 oF i arEmet § R O © 8iR SuRad @ wfdr o)
=1 I 2| A IAD IS IT S Bl AN Bl Ubd BT 3Maehdh © dlih sHDI B
AN e @ ST W 3R AFTdl 9 Tl BT Sfd Hel AR S 9 |

13.2.1 gRYTYT 3R fadvamd

A ALTAT. (ICMA) FI =Tl & STFAR Silg oarTd FeiRer fafgr “fafkre smeer arrd
feiRor fafe 1 a8 ®U € Sl 981 YA BT Sl & 9781 BRI A8dhl &l f[92y 7T & JgER
o Sar & 3R IS MR SUeATdHd HH WA ofdl & | BRI U haedl a7 gaeny H &
T ST € SR 5 Ufshdl | 98 [oiRdl @ 9 FROR Ugdrl S aTell sargdi 8kl 6 |

39 UpR 59 St § Sifg g aiRer fafer &1 sanr fear S d@edr @ S99 Sdred g
arTd iR Gewelt fagy @eror f=forlRad € -

i) TAd St Afgy, fafdre ik s s |
i) I® S TS BT A9 77 W fHar Ser g, wid # @ B oy T8 |
i) TS S MedHd Al rafy w1 BIar B |

IV) U® Sifd SAGA & 91 RN H UgaT off Adhdl © |

V) U GG Bl B AR GET B IR WX Il F & Ugal Sff Fddl © |

Vi) TP fMRT I gER YT § SUed & ydre | Py GEeudl 8l sl |

vil)  SIf9 Qe @ s, ARl QIR Y &I UE ANTd U wU W FEiRa ot
ST € |

viil) SURe™ &1 wR g4 MuiRa &= & SR W STl 9T © |
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1322 WRANT (Applicability)

SR IARIT AT fAPSdrell & MR UR Ig Hel Sff Jdbdl & fb e g fAeiRor fafer &1
ST v fAEferRad deHt # fhar o 9ot ©

fifeT = BTUT ST dTell UAd AE, a8 a8 BIs BRI 81, fhare &
a7 fasmu AR 8L Ud gUd Sid g |

AT AT ®I S aTell Td$ R UH JIH e 2 |

HeIeR g9 arell: HeeR BT YD IS} U Sifd AT ST | SR &
fo, T & TRE @1 HRIFT 1 980 A SHEAT Ub FHE H IR0
SITQT |

|qaT HITo: qes YhSeed Pl YhHH, Jdl G & Udh SRVl & | T
ERT &7 11 UR% BRI QY U YU Sifd A1 Sl 8 3R 34T
T ATAR IHDH! BN ol Il 2 |

fortor waferm: U W U YId Sid o Fifdh Id Bl AT &
IR feorsT =1 8ar 2|

132.3 &M fafr (Procedure)

Sifg drTd MR A #§ B! 1o iR favelyor -1 BT & | $9a o U favaweiy
IcTe fFRIFeT Rarel @1 Sxd Rl © ol Al Sifg &1 Frffaa arel, fafe S w® o
59 Y AR IS Sifd & A~ AN sl | JoRd IR SURGAT P I e i

&l
T

1

| ST Rl Sifd aIRTd fafy Sfg=re 8 a8 anTa fRerRer & fory fa=ferRad wrifafer syo=men

Site ATl BT A A St onTa fHeiker Oy & Rl fafy § orgHE e
3MIedd acd & | fAfaer omd ik Swex <o # ¥ Suarfl BT g1 Wi @ o |
U AN T @ |l ANTd &I A T BT § | UTEd BT Sl Hod §ardn
ST & 98 S99 WX STEITRA BT B |

Sifg QY &1 T O 81 AR W BT 2 IR iR fHar Siar € 99 € 39
Teh AT 3T AT § & el 8 | S99 Iedrad AR AN Bl F=d S H gfaer
BIel & |

IS MR I Sifd eR Hx o> Srar & dF Aor 9T gRT U Sred
JMSYT 9T ST & ForaasT ued s 1341 § f3ar 11 8| I8 U I e AT i
3T BT & S haedl & BRAT B Sd Y& dd &1 foalRad ieR gar = |
BRI HRAT & IIP Y AP fAaR s@d foF B 2| dRdd ¥ I8 TP oiid
forad &1 T AT @ oRgipT ® UIPR & WU H B HRdl 2 |

s 43




Figure 13.1 Form of Production Order

Name of Customer.................... Production Order JobNo.............

Date of Commencement................... Date.................

Date of Completion.......................... Bill of Material No......
Special instructions...............c.coeenne. Drawing Attached Yes/NO
Quantity Description Machines to be used Tools required

4 ARTAT BT sl BRAT 3R RPIE BRAT AP Sifd & ford oIFral &l (T o U d
Rere fhar ST 81 Sifd oFTd 3 &7 YRR UAd Sifd &l AT, 819 3R SuRed
D ANTT B RPBIE I AR ST Aferad wU § uKd a3 & ford fbar Sran &, st
b s 13.2 4 fa@mar W €| Sife anTd @i & 984T Sifd drTd fafer &1 ot g
AT SITAT © | 96T WART Sifd & OR1 8 R EvmE erd fEEer @ (Work-in-
Progress Control Account) @1 Hfee &3+ @& ol IR UAd Sifd U= o9 a1 81 o
o b ford fopar S 21

Form 13.2 : Form of Job Cost Sheet

Job Cost Sheet
CUStOMET . .ottt eeeie e eeeaaeas JObNO...ciiviiiii
Date of Commencement.....................euven.e. Date of completion...............
Material Cost Labour Cost Factory Overhead
(Absorbed)
Date | Material | Amount Date | Hours | Rate | Amt. Dept. | Hours | Rate | Amt.
Reg.no. | Rs. Rs. Rs. Rs. Rs.
Total Total Total
Profit/Loss Cost Summary
Rs.
Rs. Material
Price Quoted ........... Labour
Less: Cost  .......... Factory Overheads
Administration Overheads
Selling Overheads
Profitor Loss .............
Total Cost




Sifg ANTAl BT Uhd &R @ AId Ffeled & -

®) AU Al A, ARl AR 9 AR e faeeryor e
W)  HOIGR: Sl PrS AT 518 AR (Ao fagetyor wie) |

) T I el I & dISeR |

") SuRegy: WART &1 AT SfErenyor Ay oR emenRa qi—eiRa )i & R
W =Tt fHar S 2

5 IS AR & ST ARGl § ol AL Sifd & X7 89 0 IA1e fadeT
gRT Uh wHgd Ruré (completion report) T faRT @7 Wl Il €1 S9® 919
AT fWIT Sife arTd 2fie 9911 & QIR Sifd W ardfdd anTd 3R o™ ST dRal @
| $9 g1 $HB] JTT AN IIFAMT | B Sl 2 difh 3R I S e 3iR
i & ford gema ) S 9o |

1324 YeAlb
Sife arra FaRa A &1 = S 9_e Sifd R aM A1 g1 FuiRa w21 98 S|

AT B YFaT DI S B P BMA HIAT o (oD MER W I g O © | aRifde
ATl 1 AT ARTAl & gelT a1 Ugel IR I T U &1 Sifd DI AN A Jol 1 b |
JTEd & SR By [Hal Al JHIAl B Al Foldl © | $9 bR Sifd anra fHeiRor fafer
AMEIIS Sitd Bl B dTel Sifd | g Sl &, [Usel AgAMI W FRIF0 JaM #=al 8 iR
A= # T BRI B ARTAL BT ATAM T & MR & ©Y H BRI Bl g | ofd Shl Bl
qRAfdd ANTd § oY &1 Uh 98d9d Ufd9d Sile X WIeR fhar oer 8, 59 g @ik
g @™ (cost plus) MR w81 AT &, a9 ¥l g9 fAfer &1 vt fhar Srar 2 |

Sifg orTd fafr &1 g <Y g8 2 fb g9H ArTdl Bl SHE o | BITSl briare! H,
fSSTeT 9 # IR IR & WA 91 H 9gd I BT & | SHO SHHI TART a1
PRAT AT 9 A MaeD 87 |

9 U B
1 Sitg g faiRer & IR faRyane adqrsy |

2 VY IR AN & T8 915y 51 arrd FaRe & o Sife orrg feior
fafyy &1 v Sugad fafdy AT Smar 2

3 Raa i &1 wRY
i) Sitg T fafer &1 TRT 981 fHar SIar € S8 e
BT R A T g & w9 H AT ST Fhm 2 |
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i)  Sifg arra R f & o, TR® S BT TP e

SECH B |
i)  TR® S @ SHD T TRON TR B ST FH B |
Iv)  Sif9 emeer Sifg onTa fReiRer fafsy & srata amra &t
............................. BIAT 2 |
) Sife ArTd ¥ BT TN S AR BT e M & ford far Srar 21

4 gargd & FfeRad wem I8 € A1 Tad 3R U IR &1 gfte SR Afgd Hifomy |

i) Sitg @mra fReiRer fafy § sga &4 foifies &Rt gar 2
i)  SAET ey B & ford WReR BT § |

i) S A MR Iy &1 9= 39 1@ S R oM FeiRa a=ar
BT B |

V) SURS™ S &1 WM o @ide fh ol arTal & Uea &xd & ol fhar Siem
=My 7 b Sfd B AN BT JFAH T B o |

V) UG SifG IUeTdhd HH STafd BT BT © |

1325 f®arsi®d ue9 (Practical Problems)

(N

I g GET b S i e Ul Gifd B AR, $M IR SuREy arTd & Rars
PR AR IIBT AR <4 & ol I99RN Sl © IR 399 TP Sifd bl A—8IT S df
S 21 o 132 ® I ¥ T USU Bl S@H WR Y BT UdT doll BN b IS SHhIS
nTd fgiRer A & oraeid ST @1 el ANTd IR A Marer & ford g9l S arel
rTd 2 Ol B B | Sife R faf & S S ATaIiRe I S~ Bl & S8
NG H AR A T 3R Iad S dTel Hod T FeiRa &< g1 & | 39 ax H
MU SHIE ANTd FeiRor fafdr (unit costing) § T geT o (GRIY B8 10 BT ¥FT 10.5) For=aH
YD IURTAT DI IYell &R W AMASA BRD AN AFAFI b AR R IAR- S dTed oo
BT fIaRoT 9T AT | TR 981 Ugfd Site orTg fReiRer fafr § o g 1 Sy @ o b
fr=forRaa Serexon o feamr T g

Illustration 1

The estimated material cost of job D-2 is Rs. 5,000 and direct labour cost is likely to be
Rs. 1,000. In the machine shop it will require machining by Machine No. 8 for 20 hours and by
Machine No. 11 for 6 hours. Machine hour rates for Machine No. 8 and Machine No. 11 are
Rs. 10 and Rs. 15 respectively. Last year, the direct wages amounted to Rs. 80,000 and factory
overheads (excluding those related to Machine No. 8 and 11) amounted to Rs. 48,000. Similarly,
the factory cost of all jobs last year amounted to Rs. 2,50,000 and office expenses Rs. 37,500.
Prepare a statement of quotation which provides for 20% profit on selling price.



Solution
Statement of Quotation for Job Number D-2

Direct Materials 5,000
Direct Wages 1,000
PRIME COST 6,000

Machine Expenses
Machine 8:20 x 10 = Rs. 200

Machine 11: 6 x 15=Rs. 90 290

Other Factory Overheads
(60% of wages) 600

FACTORY COST 6,890
Office Overheads

(15% of factory cost) 1,034
TOTAL COST 7,924
PROFIT (20% on selling price) 1,981

SELLING PRICE 9,905

Working Notes :

1) Factory overhead rate has been worked out as 60% of wages as under:

Factory Overheads
= _ X 100
Direct Wages

48,000

80,000 < 100

= 60%
2) Office overhead rate has been worked out as 15% of factory cost as under:

Office Overheads
= x 100
Factory Cost

37,500

= ———x
2,50,000 100
=15%

llustration 2 : A shop floor supervisor of a small factory presented the following cost data for job No.
42.



Per Unit

Rs.
Materials 70
Direct Wages (18 hours @ Rs. 2.50) 45
(Deptt. X-8 hrs., Deptt. Y-6, hrs., Deptt. Z-4 hrs.)
Chargeable Expenses (special stores items) 5
PRIME COST 120
Add : 33 of prime cost for expenses 40
TOTAL COST 160
Analysis of the Profit and Loss Account of 2018 shows the following:
Dr. Cr
Rs. Rs.
Materials used 1,50,000 | Sales 2,50,000
Direct Wages:
Deptt. X 10,000
Deptt. Y 12,000
Deptt Z 8,000 30,000
Special Stores Items 4,000
Overheads:
Deptt. X 5,000
Deptt. Y 9,000
Deptt. Z 2,000 16,000
Gross Profit c/d 50,000
2,50,000 2,50,000
Selling Expenses 20,000 | Gross Profit b/d 50,000
Net Profit 30,000
50,000 50,000

It is also noted that the hourly wage rate for the three departments X, Y and Z is same.

You are required to:.

1) Draw up a job cost sheet.

2) Calculate revised cost using 2018 figures as the base.

3) Add 20% of total cost to determine the selling price.



Solution :

Job Cost Sheet
Job No. 42 Date of Commencement.........
Description .........cocovveiiiiiiiiiiininn, Date of Completion................
Particulars Rate Quantity Amount
Rs.
Materials 70.00
Direct Wages:
Deptt. X Rs. 2.50 8 hrs 20.00
Deptt Y Rs. 2.50 6 hrs 15.00
Deptt Z Rs. 2.50 4 hrs 10.00
Chargeable Expenses 5.00
PRIME COST 120.00
Add: Overheads:
Deptt. X Rs. 1.250 8 hrs 10.00
Deptt Y Rs. 1.875 6 hrs 11.25
Deptt Z Rs. 0.625 4 hrs 2.50
TOTAL COST 143.75
Add: Profit (20% of 28.75
total Cost)
SELLING PRICE 172.50

Working Notes:

1)
department by the labour hour rate.

Overheads

Overhead Rate =

No. of hours

The number of working hours has been ascertained by dividing the direct wages in each

p . S. ) p r ur
p . S. . p r ur



Illustration 3

A factory uses job costing. The following data are obtained from its books for the year ended
31st December, 2018:

Rs. Rs.
Direct Materials 90,000 Selling and Distribution Overheads 52,500
Direct Wages 75,000 Administration Overheads 42,000
Profit 60,900 Factory Overheads 45,000

a) Prepare a Job Cost Sheet indicating the Prime Cost, Works Cost, Cost of Production,
Cost of Sales and Sales Value.

b) In 2018, the factory received an order for a number of jobs. It was estimated that direct
materials required would be for Rs. 1,20,000 and direct labour would cost Rs. 75,000.
What should be the price for these jobs if factory intends to earn the same rate of profit
on sales as in 2018, assuming that the selling and distribution overheads had gone up by
15%? The factory recovers factory overheads as a percentage of direct wages and
administration and selling and distribution overheads as a percentage of works cost.

Solution
Job Cost Sheet for the Year ended 31-12-2018
Rs.
Direct Materials 90,000
Direct Wages 75,000
PRIME COST 1,65,000
Factory Overheads 45,000
WORKS COST 2,10,000
Administration Overheads 42,000
COST OF PRODUCTION | 2,52,000
Selling and Distribution Overheads 52,500
COST OF SALES 3,04,500
Profit 60,900
SALES VALUE 3,65,400
Overhead Recovery Rates
1) Percentage of Factory Overheads to Direct Wages = % X 100 = 60%
2) Percentage of Admin. Overheads to Works Cost = 2412(’)000(?0 x 100 = 20%
3) Percentage of Selling & Distribution Overheads to Works Cost
= 2250 100 = 259
~ 2,10,000 -
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60,900

4) Percentage of Profit to Sales

X 100 = 16.67%

~ 3,65,000

Estimate Job Cost Sheet for 2018
Rs.
Direct Materials 1,20,000
Direct Wages 75,000
PRIME COST 1,95,000
Add: Factory Overheads (60% of direct wages) 45,000
WORKS COST 2,40,000
Add: Administration Overheads (20% of works cost) 48,000
COST OF PRODUCTION 2,388,000

69.000

Add: Selling & Distribution Overheads
(25% of works cost + 15% thereof)

COST OF SALES 3,57,000
Add: Profit (16.67% of sales or 20% of cost of sales) 71,400
SALES 4,28,000

Illustration 4

The following information for the year ended December 31, 2018 is obtained from the books and
records of a job order factory:

Completed  Work-in-
jobs progress
Rs. Rs.
Raw Materials supplied from stores 90,000 30,000
Wages 1,00,000 40,000
Chargeable Expenses 10,000 4,000
Materials transferred to work-in-progress 2,000 2,000
Materials returned to stores 1,000

Factory Overheads are 80% of wages and office overheads are 25% of Factory Cost. The price of
the executed Contracts during 2018 was Rs. 4,10,000. Prepare (i) Consolidated Completed Jobs
Account showing the profit made or loss incurred, and also (ii) Consolidated Work-in-progress
Account.

11



Solution

Consolidated Completed Jobs Account for the Year ending 31-12-2018

Dr. Cr.
Rs. Rs.
To Materials 90,000 By Sales 4,10,000
Less: Transfer to W.I.P. 2,000
Returned to stores 1,000 3,000 87,000
To Wages 1,00,000
To Chargeable Expenses 10,000
PRIME COST 1,97,000
To Factory Overheads
(80% of wages) 80,000
FACTORY COST 2,77,000
To Office Overheads
(25% of factory cost) 250
COST OF PRODUCTION 3,46,250
To Net Profit 63,750
4,10,000 4,10,000

Consolidated Work-in-progress Account for the year ending 31-12-2018

Dr. (O]

Rs. Rs.

To Materials 30,000 By Balance c/d 1,35,000
Add : Transfer to W.I.P. 2,000 32,000
To Wages 40,000
To Chargeable Expenses 4,000
PRIME COST 76,000
To Factory Overheads (80% of wages) 32,000
FACTORY COST 1,08,000
TO Office Overheads (25% of factory cost) 27,000

COST OF PRODUCTION 1,35,000 __u N

To balance b/d 1,35,000 1,35,000

133 9RI9

TEdh &I A9 A R 99 B o ordr © 3R dd $F AHT o9 dTell 8IdT © dd ol
ST B B o St arTa fAuiRer fafer & v B Ser 81 59 UeR I8 fafY R,

T IFE B, Follde HRE, BAreR g4 IS S & ol W &1 Sl 2| 39 fafr &
=T IAH St Pl Ueh YoIdh NI §ebls AT ST © | AR TS Siid DI AN IR IHPI
A ST BRA B forl¥ U g 3fie 99 O B |1 Sifd arTd efie &1 W S Sifd @Y
ST BT TFAM T & ford 5=y apfl ofFT © 3R S9a ford dicd o & fory +1 foam <

FhdT 2 |
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134  SIETdell

|l &1 faa (Bill of Materials)y: 39 @RTGd H Ush ¥ gU Sifd & o 3maedsd ARRi @l
3 g4l BT B

gf& &1 (Escalation Clause): Hedi ¥ JWMNE gig T T WS & ol SHAR @l
afrgfd & & fory IR | fBar 7 vreer |

IfiRad s Extrasy d # 9 § fHI T gRadw / gfg & o SHeR gRT & A
arfaRad IR

Sifq e e faffr (Job Costing): faf¥re sneer amra ek Ay Rad v ara sars
S’ | FERT AT BT G9d fRAT ST 8, 99 Ud SIS JUETdhd BH AT BT BT &
| 3 Sifg 3MeY arTd fHuRer fafeyy ¥ wed €

Sifs @mTa ¥e (Job Cost sheet): g8 fdaror ST vas faf¥re Sifg a1 Sifd & A9 A1 U S |
TG AT 3R Y g 2

®feuad a1 R (Notional or Attributable) @ IO &R & Hea # & WA &1 @l

ATTd BT T IR U XPH |

Sa@red 3Me¥ (Production Order): AT fITT §RT 99T ST Tl BRTSTT Sif foll T
Sifd R R M a1 SR &1 faavoy ffds 9 wiegd #=ar © |

WY I (Progress Payment): & & fafi= =Rl @R A1 WEAd RIS R SHAR Bl
[ERIREIEUGIEE

AP T HA (Retention Money): BRE &1 3R SR &I O & § 0 & ol FoH @
SIS IERECA I BN CA RN URIE BCI NI

IV ®1™d (Work Uncertified): JA0 @7 fafYr & oi@ied a¥ @1 if=<aw fafer & fean
AT BRI SR S AT AT fbar ST & |

135 9 U] P SIN

& 3 ) Sared i) Sife e dii)ugaE iV) g8 V) ORI
4 1) Terd i) |8 iii) &8 Iv) et V) &8l
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136 WURE J¥/3RITH

1) Sifg ARTa—EiRor o gk ARy iR ga@! faRmvdrstl &1 avi| oIy |

2) it Ara-FRIRe & A ugi @ W SN | U $ el &1 AW foiRay o
Sife—feriRor fafer &1 grer fbar e 2

3)  Sd ArTa—ER e o1 qedie (e bR a1 S Gl 57 AN STHAT Bl
TR B H 9T FGgIReD HiSATRAl AT 57 370 IR Dl Yfe Iugad IaTer0T 4
PIFTY |
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1) The following direct costs were incurred on Job No. 415 of standard Radio Company:

Rs.
Materials 4,010
Wages:
Deptt. A-60 hours @ Rs. 3 per hour
Deptt. B-40 hours @ Rs. 2 per hour
Deptt. C-20 hours @ Rs. 5 per hour
Overheads expenses for these three departments were estimated as follows:
Variable Overheads:
Deptt. A Rs. 5000 for 5,000 labour hours
Deptt B Rs. 3000 for 1,500 labour hours
Deptt C Rs. 2,000 for 500 labour hours

Fixed overheads: Estimated at Rs. 20,000 for 10,000 normal working hours.

You are required to calculate the cost of job No. 415 and calculate the price to earn profit
of 25% on selling price.

(Answer : Total Cost : Rs. 4,830; Sales Price: Rs. 6,440)

2) A company is engaged in job work. It has completed all jobs in hand except Job No.44 on
December 30, 2018. The cost sheet on December 30 showed direct material and direct labour
costs of Rs. 40,000 and Rs. 30,000 respectively as having been incurred on Job No. 44.
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The costs incurred by the business on 31st December, 2018. the last day of the accounting
year, were as follows:

Rs.
Direct Materials (Job 44) 2,000
Direct Labour(Job 44) 8,000
Indirect Labour 2,000
Miscellaneous Factory Overheads 3,000

It is the practice of business to charge factory overheads to the jobs on the basis of 120
per cent of direct labour cost. Calculate the cost of work-in-progress of Job No. 44 on
31st December, 2018.

(Answer: Rs. 1,25,600)

Hints : The cost of indirect labour and miscellaneous factory overheads is not to be
included, as the factory overheads have been included on the basis of recovery rate.
A company of civil engineers proposes to make tenders for the construction of an
auditorium and estimate their direct cost at Rs. 1,12,500 as follows.

Rs.
Material 45,000
Wages 47,250
Cost of transport of men and materials to site 12,750
Other Direct Expenses 7,500

Existing commitments of the company are involving a total overheads of Rs. 6,37,875 for
various projects and direct labour cost of Rs. 4,25,250.

Assuming all the overheads as variable, calculate the estimated value of tender keeping in
view the following:

1) Necessary overheads,
2) 5% interest on total capital outlay, and
3) 10% margin on total cost.

(Answer: Estimated value of tender: Rs. 2,11,798)

Hints : Overheads = 47,250 X 6,37,875 or 150% ;
Ints : Overheads —4’25'250 ,37, or 0 wages;

5% interest on capital outlay to be computed on total cost of Rs. 1,83,875)
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Ilustration 1

The total contract price in respect of a contract was Rs. 5,00,000. On 31st March, 2020, the
value of work certified was Rs. 3,00,000, and the cost of work certified (total cost incurred to
date minus cost of work uncertified) was Rs. 2,55,000. The cash received was Rs. 2,40,000.

You are required to determine the amount of profit to be taken to the Profit and Loss Account for
the year ending 31st March, 2020.

Solution :

Value of Work Certified 3,00,000
Less: Cost of Work Certified 2,55,000
Notional Profit 45,000

Profit taken to Profit and Loss Account
Cash Received

2/3 X Notional Profit x Work Cortified

_| 2 X 45,000 X 240,000
3 ’ 3,00,000

= Rs. 24,000
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Illustration 2

The contract price in respect of a project was Rs. 5,00,000. On 31st March, 2020, 90% of the
work had been completed and certified by the architects. The costs incurred up to 31st March,
2020 on this project amounted to Rs. 4,00,000. It is estimated that Rs. 20,000 will have to be
spent further to complete the project. The contractee pays 80% of the value of work certified:

Complete the profit to be taken to Profit and Loss Account for the year ending 31st March, 2020.

Solution
Rs.
Contract Price 5,00,000
Less: Total Estimated cost:
Cost to date 4,00,000
Costs to be incurred 20,000 4,20,000
Total Estimated Profit 80,000

Profit to be taken to Profit & Loss Account

Work Certified Cash Received
X
Contract Price  Work Certified

= Total estimated profit X

4,50,000 3,60,000

= 80,000 X =°557500 = 250,000

= Rs. 57,600
Working Note

Cash received being 80% of the work certified is

_ 80 X 4,50,000
1007 T

= Rs. 3,60,000

3d BH BB I&TERVI B FERIAT A AT HXT {F fOgd AnTa sffdhs & S WR 31qut Sapf
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Illustration 3

On 3rd January, 2020 Beas construction Ltd. started work on the construction of an office block
for a contracted price of Rs. 7,50,000. The construction company’s financial year ended on 31st
October, 2020 and on that date the accounts pertaining to the contract contained the following
balances:

Rs.

Materials issued to site 1,61,000
Materials returned from site 14,000
Wages paid 68,000
Own Plant in use on site (at cost) 96,000
Hire of Plant and Scaffolding 72,000
Supervisory Staff:  Direct 11,000
Indirect 12,000

Head office Charges allocated to the contract 63,000
Value of Work Certified to 31.10.2020 4,00,000
Cost of Work Completed but not yet Certified 40,000
Cash Received on Work Certified 3,30,000

Depreciation on own plant is to be provided at the rate of 12%% per annum on cost; Rs. 2,000 is
owning for wages: Estimated value of materials on site was Rs. 24,000.

You are required to prepare the Contract Account for the period ended 31st October, 2020
showing the amount to be included in the construction company’s Profit and Loss Account.

Solution :
Beas Construction Ltd.
Contract Account for the Year ending 31-10-2020
Dr. Cr.
Rs. Rs.
To Materials issued 1,61,000 | By Materials returned 14,000
To Wages paid 68,000 | By Plant on hand 86,000
(Depreciation value)
To Plant at cost 96,000 | By Materials on site 24,000
To Plant Hire 72,000 | By Cost of Work-in-progress c/d 3,61,000
To Supervision: Direct 11,000
Indirect 12,000
To Head Office Charges 63,000
To Wages 2,000
4,85,000 4,85,000
To Cost of Work-in-progress b/d 3,61,000 | By Value of Work Certified 4,00,000
By Cost of Work Uncertified c/d 40,000
To Notional Profit :P & L Alc 43,450
Reserve 35,550 79,000
4,40,000 4,40,000
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Working Notes

1) Depreciated value of plant on hand
Rs.
Plant at cost 96,000
Less: Dep. at 12 for 10 months 10,000
Depreciated value 86,000

2) Profit to be credited to Profit & Loss Account

2 « Notional Profit x Cash Received
3 oHionat Frof Work Certified

= 79,000 X 2 X 3,30,000 _ Rs.43,450
- 37400000 O

Illustration 4

A firm of building contractors started its business on 1-4-2020. Following was the expenditure
on the contract for Rs. 3,00,000

Rs.
Materials issued to Contract 51,000
Plant issued for contract 15,000
Wages incurred 81,000
Other Expenses incurred 5, 000

Cash received on account up to 31-3-2020 amounted to Rs. 1,28,000 being 80% of the work
certified. Of the plant and materials charged to the contract, plant which cost Rs.3,000 and
materials which cost Rs. 2,500 were lost. On 31.3.2020 plant which cost Rs. 2,000 was returned
to stores. The cost of work done but uncertified was Rs. 1,000 and material costing Rs. 2,300
were in hand on site.

Charge 15% depreciation on plant and take to the Profit & Loss Account 2/3rd of the profit
received. Prepare the necessary Contract Account from the above particulars.
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Solution:
Contract Account for the Year ending 31-3-2020

Dr. Cr.
Rs. Rs.
To Materials issued 51,000 | By Profit & Loss Alc
To Wages 81,000 | Plant Lost 3,000
Materials Lost 2,500 5,500
To Plant issued 15,000 | By Plant returned to store
(2,000 — 300) 1,700
To Other Expenses 5,000 | By Materials on hand 2,300
By Plant on site
(10,000 - 1,500) 8,500
By Cost of Work-in progress c/d 1,34,000
1,52,000 1,52,000
To Cost of Work-in-progress b/d 1,34,000 | By Value of Work Certified 1,60,000
To Notional Profit By Cost of Work uncertified 1,000
P &LA/I 14,400
Reserve 12,600 27,000
1,61,000 1,61,000

Workiyng Notes

1) Value of Work Certified: Cash received is Rs. 1,28,000 representing 80% of

the work certified, hence the value of the work certified would be ( 1,28,000 x %):
Rs. 1,60,000
2) Profit to be taken to Profit and Loss Account : It has been worked out as follows:
2 « National Brolt B Cash Received
y3 qHonal grog Work Certified
_ 2 X 27,000 X 128000 _ Rs.14,400
304 160,000 o
Ilustration 5

The following is a summary of entries in a Contract ledger as on 31st December, 2020 in respect
of Contract No. 27.

Rs.
Direct Materials 30,000
Materials from stores 6,500
Wages 17,210
Direct Expenses 6,710
Establishment Charges 8,000
Plant 34,200
Sale of Scrap 1,820
Sub-contract Cost 7,210

13



The following further information is made available to you:

a)
b)
c)
d)
e)
f)

Accruals as on 31st December, 2020 were:

Wages Rs 800 and Direct Expenses Rs. 1,120

Depreciation of plant up to 31st December, 2020 was Rs. 8,550

Included in the above summary of entries were : Wages Rs. 1,000, Other
Expenses Rs. 1,500 and Materials Rs. 2,080. These expenses were incurred
after certification.

Materials on site on 31st December, 2020 cost Rs. 10,000

Rs. 62,500 worth of work had been certified up to 31st December, 2020
when three eighth of the contract remained uncompleted.

The total contract price was Rs. 1,00,000.

You are required to show what profit or loss would be taken into the accounts for the year ended
31st December, 2020 in respect of this contract.

Solution :
Contract Account for 2020
Dr. Cr.
Rs. Rs.
To Materials By Sale of Scrap 1,820
Direct 30,000
From stores 6,500 36,500
To Wages 17,210 By Materials on hand 10,000
Add: Outstanding 800 18,010
To Establishment Charges 8,000 | By Plant on hand
(34,200 — 8,550) 25,650
To Plant at Cost 34.200 | By Cost of Work Uncertified 4,580
To Direct Expenses 6,710 By Value of Work Certified 62,500
Add : Outstanding 1,120 7,830
To Sub-contracting cost 7,210 | By Loss (transferred to P & L A/c) 7,200
1,11,750 1,11,750
fewfor

THIOTT BRI BT IR, JHIUH & 916 &1 AT, 519 9 3 AT BT oANTd Dl
JATHR U] WY F & Y T | 3T T 39 VRN B Sedx Adrel T g

oM @Rl @1 arTa T8 Mttt T 7 =ifd vmia B @ Hed iR '
BT I BT ShT W & Usel 9T § &) fexar far mar 2| I8 3hT |@rar 991 Y
U dbfousm fafdy 2|

Sl BIM SeIaT & | FIHl & AR 81 &1 AR RIRT &l A 81 @i &l

JART BT BT 2 |
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1426 Sdardr &1 @raT (Contractee’s Account)

SHETAT BT WAl SHBT AfFITT WAl BIaT 2 | 519 |7 Shardr & Fdha I3 Ui 8l & o a8
9 WA Bl HISC TR &1 Ol § | S & QT 89 dP 39 @I § Dl M | T
ST 8 | 31 S1d T S T $IH doidl & ad I8 WAl sdhfse IY & Q@R wdife Sdhardar
| U IR T B @ Hed & ford € sl S <Idl 8l A Sfar 3R 39 g

BT IR BT AR Aol FWR™T ST =1y | A= YT I8 © fob 9 ¥If3r &f
TREHRT 1 R e oM ara = $1 § 9§ ger faar 9 &)

1427 fEOm| & (Work-in-progress)

MU ST W ¥ I8 <@l &8RN b 31l 3 WR & anral &l fafomef| & @ ara &
w0 ° fegrar Srar g | FEomiE s @ arta | vEifitrd el @ drTd iR Sty B
P ANTT ST B RS BT B | o/ I MUBT FHIOT B Bl AN T ® ol
AT SR & B arTa H | WG B B ANTd el R | R 39 o ud A
o a7 s9H A—aT= W BT 3faRd fhar Tar A Y SISt SITQT | ofd: S efie &)
ST aTell 7d € @ (@) YA B & dFTd, (@) I drd & anTd, 3iR (1) - I
g7 I IIART fhaT 13T AT |

M I8 A1 ugl 2 & SdHarar & @ &1 sfse AV (I TAbe)gea U3 4§ SRl S areft
O B @1 @rTd § | g™ §Idl § | 39 Alel B BT o UF DI GRAAREAT Bl
AR fferRad &1 & & el il e 9 fe@mr S & -

fermtomefia ot
THITG BRI BT AR,
uEIfoTd &R & dAId e,

IR Bl ama 44 | B ER EER A.Eewm. e
SIfSY oY I @IT & faRd o™,

gClgd: ddbq UK X ]l

R

el BT
1o e s 2 2 (2
Iy dd HM A

wzﬁm—ci .........................

Yclgd: "ddha HItd AR

Ife gH IaTerv 3 H fad T affesl & SR R Beas Coustruction Ltd & o= o3 ¥ =re]
B Bl @ 81 dI 98 39 UHR @ Se:
T
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Ao B

319 dH DI AN 3,61,000
SIFSA: STI—8IfY W &1 FaRd T 43,450
4,04,450

gergd: ddhe U JIfdr 3,30,000
74,450

famoua: AT @ 3 .
YA B BT AT 4,00,000
T BRI B ARTT 40,000
4,40,000

Tersy: Rord 35,550
4,04,450

gergd: ddhe U I3 3,30,000
74,450

AGTHR PR A A &1 TN rd & | I8 &g I b gfe gadt fafer sru=ms o .
2 Al 9Te] B R AR AM—8I W Bl JAARA BT & ol DI AARISH HR Dl
JMETIHAT ol BT |

1428 YdH IqreV (Comprehensive lllustration)

Illustration 6

Alcon Construction Co. Ltd., commenced its business on 1st January, 2020. The following data
has been extracted from its books in relation to a contract.

Rs.
Cash received from Contractee 1,20,000
Materials 40,000
Direct labour 55,000
Expenses at site 2,000
Plant& Equipments (at cost) 30,000
Fuel and Power 2,500

The contract price was Rs. 3,00,000 and the work certified Rs. 1,50,000. The work completed,
since certification had been estimated at Rs. 1,000 (at cost). Machinery costing Rs. 2,000 was
returned to stores at the end of the year. Stock of materials at site on 31-12-2020 was worth Rs.
5,000 and wages outstanding were Rs. 200. Depreciation on Machinery was to be charged at
10%.

You are required to calculate the profit on the contract and show how the work-in-progress will
appear in the Balance Sheet as on 31.12.2020. Also prepare the Contractee’s Account.
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Solution :
Alcon Construction Company Ltd.

Contract Account 2020
Dr. Cr.
Rs. Rs.
To Materials 40,000 | By Materials at site 5,000
To Direct Labour 55,000 | By Machinery
at site 25,200
at stores 1,800 27,000
To Expenses at site 2,000 | By Value of work certified 1,50,000
To Fuel & Power 2,500 | By Cost of work 1,000
To Machinery at site 30,000 | uncertified
To Notional Profit c/d 53,300
1,83,000 1,83,000
To Profit & Loss Alc 28,427 | By Notional Profit b/d 53,300
To Balance c/d (Reserve) 24,873
53,300 53,300

Workings : Profit taken to Profit & Loss Account

v 2 o Cash Received
= hotiondl PYolit X3 Work Certified

= 53,300 x 7 X 000 Rs. 28,427
~ N\ 37 150,000 4%
Balance sheet as on 31.12.2020 (Extracts)
Assets Rs.
Work-in-progress
Work certified 1,50,000
Work Uncertified 1,000
1,51,000
Less: Reserve 24,873
1,26,127
Less: Cash received from Contractee 1,20,000
6,127
Contractee’s Account
Dr. Cr.
Rs. Rs.
To Balance c/d 1.20,000 By Bank 1.20,000
By Balance b/d 1,20.000
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Illustration 7

The following particulars relate to a contract for Rs. 40 lakhs:

Materials

Wages

Expenses
Carriage

Work Certified
Work Uncertified

2016 2017 2018

Rs. Rs. Rs.
4,50,000 7,00,000 6,00,000
4,30,000 6,00,000 5,00,000
20,000 50,000 16,000
20,000 60,000 50,000
9,00,000  30,00,000 40,00,000
10,000 50,000 --

Plant costing Rs. 1,00,000 was bought in the beginning of 2016, and depreciation was charged at
25% to per annum. The contractee was to pay 80% of the work certified every year and settle the
account in 2018. Draw Contract Account for three years and also write Contractee’s Account and
Work-in-progress Account in the books of the contractor.

Solution :
Contract Account for 2016
Dr. Cr.
Rs. Rs.
To Materials 4,50,000 | By Plant on hand
(1,00,000-25,000) 75,000
To Wages 4,30,000 | By Work certified 9,00,000
To Expenses 20,000 | By Work uncertified 10,000
To Carriage 20,000 | By P &L A/c (Loss transferred) 35,000
To Plant at cost 1,00,000
10,20,000 10,20,000
Contract Account for 2017
To Work-in- progress By Work Certified 30,00,000
Work Certified 9,00,000
Work Uncertified 10,000
9,10,000 | By Work Uncertified 50,000
To Plant on site 75,000 | By Plant on hand
To Materials 7,00,000 | (75,000 — 18750) 56,250
To Wages 6,00,000
To Expenses 50,000
To Carriage 60,000
ToP &L Alc 3,79,333
To Balance c/d 3,31,971
31,06,250 31,06,250
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Contract Account for 2018

To Work-in-progress: 30,00,000 | By Plant on hand
Work certified 50,000 | (56,250-14,062) 42,188
30,50,000
Less: Reserve 3,31,917
Work uncertified By Contractee’s A/c (contact price) 40,00,000
27,18,083
To Plant on site 56,250
To Materials 6,00,000
To Wages 5,00,000
To Expenses 16,000
To Carriage 50,000
ToP& L Alc 1,01,855
40,42,188 40,42,188
Contractee’s Account
Rs. Rs.
2016 To Balance c/d 7,20,000 | 2016 By Bank 7,20,000
7,20,000 7,20,000
2017 To Balance c/d 31,20,000 | 2017 By Balance b/d 7,20,000
By Bank 24,00,000
31,20,000 31,20,000
2018 To Contract A/c 40,00,000 | 2018 By Balance b/d 31,20,000
By Bank 8,80,000
40,00,000 40,00,000
Work-in-Progress Account
Rs. Rs.
2016 To Contact Alc 9,10,000 | 2016 By Balance c/d 9,10,000
9,10,000 9,10,000
2017 To Balance b/d 9,10,000 | 2017 By Contract A/c (transfer) 9,10,000
To Contract A/c 30,50,000 By Contract A/c (reserve) 3,31,917
By Balance c/d 27,18,083
39,60,000 39,60,000
2018 To Balance b/d 27,18,083 | 2018 By Contract A/c (transfer) 27,18,083
27,18,083 27,18,083
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Working Notes

1) ProfittakentoP & L A/cin 2018

—2><711250>< 80 = Rs.3,79,333
_3 ) ) 100_ S., )

2) Depreciation has been charged on the basis of diminishing balance method.

Y UHE G

1 SHER BT I N BT TH HRT SHaral Rl b ol © 7
2 arfaRad sl (Extras) fbd @gd & ?
3 Rad =1 &1 9RY -
i) afe yeIfora &l &1 Jou 8T QT 8 A 9 gRT DI AT A

Tl ST Fahd 2 |

i) oYUl 3 R M & g8 IR FEIRT SR F9y [ o™ 819 @1 &l

JART FAT B, SFH F oo @ ford uraum fsar S @Ry |

i) 9@ T® & Ad H o DI ARG TCSTHR YA BRI DI AR Sd D
ST HaH © |

IV)  SUSRY AT AU BT SNATAT B BT SBT G Bl PR QAT
= |

V)  god uF H fEiondE er feerd w9y g9H | Shaldl ¥ UK The IR
........ MY |

vi)  Ifc FEOTEE SR & eI OB A Do A HH g dl YUl Sh W

hls W A ATI—T WTd BT AR el fbar e |
vi) It 3 &1 i d9=1 @1 ad R S@T W BT Sfde fhar war g ar

AGTHT I¥ B T H S BT WA Bl oo R Bfec AT ARy |
Vi) & BT A H TP B Wl © [OI@ 3T=Id Sl Hod demdT Sff
FhdT 2 |
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143 RIS

3hT arTd fHeiRor faf Suerd orrg fReiRor fafd &1 v favy wu ? fSrger =T a1 — g91
gRATSTTRN, T2 3BT Bed 8, B od 3R S W) o 91d B34 & oy far oram 2 | St
SR H YR 980 AN oAl § SR 0 ORT B H BIH] FHY Al oIl © | SHBT B haes]
aR¥R & 9ER BIaT © | 9 iy rftrerer fafae SR Suert, S 6 wad, ds@, 9 g
afe g9 & fory TRt &Y Sl 2 |

2/3 x Hfeqd aM X

Ife ST @I B qeIar & @ 98 AR & ANy o ' # feerd srelt | e o H
A= o @1 59 yeR feemrr s 98 e e T g

T B & e e
UG BRI B AR

ey Red

gclgd @ dhq YItd X /| .

144 9ISl

S®HER (Contractor): a8 fad a1 AR T S& HI o1 H FeAad &l 7 |

Iderar (Contractee): a8 afda a1 wver s o) Susrd fhar ST 2|
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3T AFTd fAeiRer Y (Contract Costing): Suarl @rTd fafer &1 v fa9y wu Rraer 99+,
gdf 3nfe & i Sl Sel—a<! uRaremsl & forl wamT v Simar & s wR) onTd
T B SR AT e R R fhar S 2

S®I q (Contract Price): 98 Hed T TR SBHeR IUGR TR B AHd BT 2 |

SY—3HT AT (Sub-contracting): 3& ¥ ARG B3 AT B ST-SHIR BT <7 |
AT Bf (Work Certified): S®arar @ 3ffiicde a1 H9IR §RT FHIG B |

145 9 Y] P STIN

B 3 ) w8 i) Taa i) |98 iv) |1 V) ITerd vi) @8

LGl 3 1) ufderer i) wfasy i) Mo & iv) Bfse v) ger <=
Vi) T& dierg vil) g< gV g Vil) 9fg arr

146 UG Y/

1 ShT INTd fAeiRor fafy Susrd o Rgivor fafy @ fed gor =1 & 2

2 gargy & 3mg 3aT Wi # A=fRad dgl &1 drTd WihT B BRI ?
®) oo o ford RIYAA TRIT T FIH AR A=A |
W)  gRE T AT A g i |aE @ el
M) SU-SH &l

3 3T U YUl 3P WR ARKIAD oA DI S HIT 2 U A BT b1 anT
A2 @ BT faRa far S & ?

4 (@) UP AT =ROT W I W YAE BT IREGAT D [Har Srar g 2
(@) SETE IS BT IYINT IAgY R SHADT T AT ST |
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1)

2)

3)

A company of civil engineers proposes to make tenders for the construction of an
auditorium and estimate their direct cost at Rs. 1,12,500 as follows.

Material 45,000
Wages 47,250
Cost of transport of men and materials to site 12,750
Other Direct Expenses 7,500

Existing commitments of the company are involving a total overheads of Rs. 6,37,875 for
various projects and direct labour cost of Rs. 4,25,250.

Assuming all the overheads as variable, calculate the estimated value of tender keeping in
view the following:

1) Necessary overheads,
2) 5% interest on total capital outlay, and
3) 10% margin on total cost.

(Answer: Estimated value of tender: Rs. 2,11,798)

Hints : Overheads = 4427&'_’225:0 X 6,37,875 or 150% wages; 5% interest on capital outlay to

be computed on total cost of Rs. 1,83,875)

The following figures are available at the end of a financial year relating to a contract.

Total cost of work done to date 1,10,350
Cost of Work Uncertified 8,300
Contract Price 5,80,000
Value of Work Certified 1,40,280

Determine the amount of profit to be taken to Profit and Loss Account.

(Answer: Notional Profit: Rs. 38,230; Profit taken to P & L A/c;

NIL (Value of work certified is less than one-fourth of the contract
price.)

A construction company took a contract in 2018 for road construction. The contract price
was Rs. 5,00,000 and its estimated cost of completion would be Rs. 4,60,000. At the end
of 2018, the company had received Rs. 1,80,000 representing 90 per cent of work
certified. Work not yet certified had cost Rs. 5,000. Expenditure incurred on the contract
during 2018 was as follows:

Rs
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4)

Materials 25,000
Labour 1,50,000
Plant 10,000

Materials costing Rs. 2,500 were damaged and had to be disposed off for Rs. 500. Plant
was considered as having depreciated by 25 per cent. Prepare Contract Account for 2018
in the books of the construction company. Also show the amount of profit that can be
reasonably credited to Profit and Loss Account in respect of the contract.

(Answer: Notional Profit : Rs. 30,000; Profit takento P & L A/c:

Rs. 9,000. Since the value of work certified is more than one-fourth of the
contract price but less their half, the formula used is:
Cash Received

Work Certified

1
= 3 X Notional Profit X

A contractor has obtained a contract for construction of a bridge. The value
of a contract is Rs. 12 lakh, and the work commenced on 1st October, 2018
The following details are shown in their books for the year ended 31st Sept.,
2018:

Rs.
Plant purchased 60,000
Wages paid 3,40,000
Materials issued to site 3,36,000
Direct Expenses 8,000
General Overheads allocated 32,000
Wages accrued as on 30.9.2018 2,800
Materials at site as on 30.9.2018 4,000
Direct Expenses accrued as on 30.9.2018 1,200
Work not yet Certified at cost 14,000
Cash Received being 80% of Work Certified 6,00,000

Life of plant purchased is 5 years and scrap value is nil.

1) Prepare the contract account, for the year ended 30th Spt.. 2018

2) Show the amount of profit which you consider might be fairly taken on the
contract and how you have calculated it.

(Answer :Profit taken to P & L A/c: Rs. 19,200)
Hints: 2/3 of Notional profit as reduced on cash basis should be takento P & L A/c.

24



From the following particulars relating to a contract, prepare a) Contract Account, b)
Contractee’s Account and also show how work-in-progress will appear in the Balance
Sheet as on 31.12.2018.

Rs.
Materials sent to site 85,349
Labour engaged on site 74,375
Plant installed at cost 15,000
Direct Expenditure 4,126
Establishment Charges 3,167
Materials returned to store 549
Work certified 1,95,000
Cost of work not yet certified 4,500
Materials on hand as at 31.12.2018 1,883
Wages accrued on 31.12.2018 2,400
Direct Expenditure accrued on 31.12.2018 240
Value of Plant as on 31.12.2018 11,000

The contract price had been agreed at Rs. 2,50,000. Cash had been received from the
contractee amounting to Rs. 1,80,000.

(Answer:. Notional Profit: Rs. 28,275; Profit credited to P & L A/c: Rs. 17,400; WI.P. to
be shown in B/s : Rs. 8,625)

3 U I AU 30 SHIs Bl IR IJH] dvg I I8 H Fergdl el | S5 SR
o B TN BIY 3R aregaqrdl | gfte HIfoy | oifd 3o SR fazafdenery &
qd AT | A % 31U 3o+ e @ forg foy T 2|
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151 UdEHr

faery smeen iR afaawra fafde™l (specifications) @R ememRa fafdre Susrd s &f
NI SITd BRA B fold SUBR R bl arta HeiRoer fafdal &1 wanT fear Siar 8 | 59
IR W IO TS 12 H Ul 2| Wb I AR 9 S & ol Iuged ARl AW S
R H 980 98 WR W IARA (a1 Sl &, O & A9 63975, rTal faf=mior, arer A,
e Aa, wuer e, snfe| g Sar & daed fdg Y &1 v &Y I8 96 I &)
TP 3R g7 g B UfbArel W R ST § | A W] $hiy onTa HeiRor fafgr an
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SINCSESISACARSIRSC I

152 3l 3R T

T ITe Sl A= S (sequential) HfshaTell | [ORAT &, SHG IUGT D IAD ARV
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ufohar # g ST 21 I A & U Wielg, g & A 39 iR # 991 W 57 A6 2| 39
TRE gA1S UfhdT BT IUre (STUR®pd AT YRExT HUS]) Hed H|o1€%?€qﬁqﬁwwmﬁ
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2 UHh UfhdT &1 ST Tl UfshaT @1 T (input) 991 STTaT & 3R I8 A
Jf~dd IS 994 db FoldT ¥&dT 2 |

3 SATE FHEY AR AF@IGT BId 2 |
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HRT 3o friEe & oy eifde 3TUETIP SRATT Bl & adifdy Iedra o
QAT P 3aeghal Bl 2 | Rerdr 3R A PIHROT 31fd® BldT 2 |
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qgT fHaT SITT @ T8l Udhdl 3Tex
ScaTe (one-off order) wXT BIAT & |
SN b wei—S U@,
STRA—3 SN =R, BUTs,

HIEX—hR AIHd, 3T |

fohar SITaT ® Wigl Scure fARAR Biar ®
3R IEH ATHAS UfHAT] Bl © 9
|ARY IS BT & | o T e,

IR SdTE, IdTE Bl didd d S H
HRAT, Tl TRSBROT, AT G741, ATfS |
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e faemyard

afshar dmTd fReriRor fAfe S99 =l § @R 8l § S8l e FRAR BT & 3R
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6. I ff~TH UfhaT Bl BISHR STD Ugdd &I AU UihIRil &I Icured IWTell Ufshar
P SN (input) 99 ST ® 3R 3ifm ufshar &1 Sdred IR AT Wi W
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7. ufd gTs INTT T 3Tl UfhaT DI oINd AdRT BT BT MR TS Bl © |
gfehaT A Td |

0 9 B

1 gfehar oirrd feivor fafdr @ar gy 8 °?

2 I SN BT Bis 19 fAAYAG gAYy S Ufshar orTd fAuiRer fafer e € |

3 garsy b frafaRad wo= | € a1 T4 -

i) uforar amra R I v sg—a~ofi s a1 ugfa @ e o vm W
IATGH B dTel SN § IATe NI A4 ST 8 |

i) ufhar arra MuRer Afer 39 SET §RT TR @1 SRl § STET Sdred @
TS SHE g d A Bl 2 |

i) wfshar arra fReiRor fafr & 9fa gaE i arTd erTell Ufhar &1 faRd &xA
BT IR T BT 8 |

vi)  wfthar arra fReiRer fafer 57 SeE § o @ Sl § Set arE $ie b o
AFGIPd aRU IcdTfad Bl Sl ¢ |

V) qTEd & ATQUAHR 15 S drell 7l &1 fAfFHor S arell dueil gRT
gfhar SRTa—f=eriRor fafer &1 v fhar o dohdr 2 |
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MU Ig ol o9 B forar g 6 ufthar orvrg FeRor fafdr & swaefd 579 ufbar & ar #
ST STd BRAT 8] AP folU U 3Tl GTdT Widll Sidl 2| I8 &0+ W& & ude ufshar

Gd H 3Ud Sfac AR Bfec &1 3R Yifded AET Rbre o & ol Th—Tah AfIRad dred
BT | o 15.1 <Ry S ufshar W &1 urey e B |
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Figure 15.1 : Proforma of Process Account
Process Account

Cr.

Particulars Qty Amount | Particulars Qty Amount

(Units) (Rs.) (Units) (Rs.)

T iR vgfa | FefalRed g8 @) 8 € -

1

el e AT D AN Ugel UhaT @i &l e AT IR 99 SHSI AT 3R
IR qHT e |

Uddh Ufhar Wid H ST Ufhar B 3 ATl el 19 3R Ucue Yy
fegran |

UAd UfhaT Wid H IATeT SURIIAT bl fhdl ~ITIGITd 3R ) Sfde a7 |

FfhAT WA ®I JHR ATA g I99 el T Sl ffa & a¥fell g oI | Hise
B AT AR, IfS $9hT Udr & | fAdbcud: a1 3 Bl Fed dTd | | Tl ol
HHT T |

Uil B Bl AN A1 PR IcdTa Bl Ui hlg NI BT GRBAT BRI |

afe Bl ufhar &1 ART ST 31Tell Uishar &l idRa fdar a1 8 ar |t anTd
BT BHIST BT AR el ARBAT BT R & w H WA ST FhaT € | §9 3Tl
afshdn @I & Sfde ol AR fa@rn Sme |

Ife ISATeH &1 U 91T Ay & oy <ar ar a1 99 f3am 1ar af s9a! orid &l
IER BT IARUT & ®Y F WRN AR AT 9RT Bl 3FTell UfhaT Hl 3faR0T & ®Y H
e | I8« W {6 9 99 ST T U WRT 99 foar Sirar & a1 ufshar
G ®T Hacl $HH AN | e BT Ay, faha Joa & 72 |

IR 71 &1 BT & fory wanT fey T St anfe &7 o &7 e ufshar

WA Bl Sfde HAT ey |




9 JAf=TH UfhaT B FI AN IR ATA Db DT BT AART B &1 ST |

10 IR A1 CIP QT U A9R @Td (Trading account) @1 Hifd g | o1d: fah! &r
39 W1 Bl pfec fhar ST IR Tohd o SId fhar ST |

IR 1 3R 2 BT &I F o 3R 3e7g= HY fob ufshar @ o a9 ot &

Illustration 1

In the course of manufacture, a product passes through three distinct processes, A, B and C.
During a four week period, 1,000 units are produced and the following information is made
available:

Process A Process B Process C

Rs. Rs. Rs.

Direct Materials 2,000 1,000 --
Direct Wages 1,500 700 800
Direct Expenses 300 100 -

Indirect production costs were Rs. 4,500 and these are to be apportioned to the processes on the
basis of direct wage cost. Prepare the necessary process accounts.

Solution
Process A Account
Output : 1,000 units
Dr. Cr.
Particulars Units Amount | Particulars Units Amount
Rs. Rs.
To Direct Materials 2,000 By Transfer to process . 6,050
' B at Rs. 6.05 per unit '
To Wages 1,500
To Direct Expenses 300
To Overheads (7/30) 2,250
6,050 6,050

Cost Per unit of 1= 200 _ s 6.05
ost Per unit of output = 1000 S. 6.



Process B Account

Particulars Units Amount | Particulars Units Amount
Rs. Rs.
To Transfer from 6050 | By Transfer to Process C 8,900
Process A at Rs.8.90 per unit
To Direct Materials 1,000
To Direct Wages 700
To Direct Expenses 100
To Overhead (7/30) 1,050
8,900 8,900
Cost P it of out t—8'9 = Rs.8.90
0S er unit o Oupu_l,OOO_ S. 0.
Process C Account
Particulars Units Amount | Particulars Units Amount
Rs. Rs.
To Transfer from 8,900 | By transfer to Finished Stock 10,900
Process B AJc at Rs. 10.90 per unit
To Direct Wages 800
To Overhead (8/30) 1,200
10,900 10,900
Cost P it of out t—lo’goo—R 10.90
0S €r unit ot output = 1,000 = RS. .
Finished Stock Account
Dr. Cr.
Particulars Units Amount Particulars Units Amount
Rs. Rs.
To Transfer from 1,000 10,900
Process C




Illustration 2

The following details are extracted from the costing records of an oil mill for the year ended 3lst

March, 2018:

Purchase of 500 tonnes Copra

Crushing Refining

Rs. Rs.

Cost of Labour 2,500 1,000
Electric Power 600 360
Sundry Materials 100 2,000
Steam 600 450
Repairs of Machinery 280 330
Factory expenses 660

Cost of Casks

1,320

Rs. 2,00,000

Finishing
Rs.

1,500

240

450

140

220
7,500

300 tonnes of crude oil were produced. 250 tonnes of oil were produced by the refining process.
248 tonnes of refined oil were finished for delivery. Copra sacks were sold for Rs. 400.
tonnes of copra residue were sold for Rs. 11,000. Loss in weight in crushing 25 tonnes, 45 tonnes

of by-products obtained from refining process valued at Rs. 6,750.

175

You are required to show the accounts in respect of each of the following stages of manufacture
for the purpose of arriving at the cost per tonne of each process and the total cost per tonne of the

finished oil.

(a) Copra Crushing Process (b) Refining Process (c) Finishing Process including

casking.
Solution
Crushing Process Account
Dr.
Particulars Tonnes | Amount Particulars Tonnes | Amount
Rs. Rs.
To Copra used 500 | 2,00,000 | By Loss in Weight 25 --
2,500 | By Sale of Copra Residue 175 11,000
To Labour
600 | By Sale of Copra Sacks -- 400
To Electric Power
To Sundry Materials 100 | To Transfer to Refining 300 1,94,000
process Alc
280
To Repairs to
Machinery
To Steam 600
To Factory Expenses 1,320
500 | 2,05,400 500 2,05,400

Cr.



1,94,000

Cost Per tonne of Crude Oil = 300 or Rs. 646.67
Refining Process Account
Dr. Cr.
Particulars Tonnes Amount | Particulars Tonnes Amount
Rs. Rs.
To Transfer from By Loss in Weight 5 --
Crushing Process Alc 300 1,94,000
To Labour 1,000 | By Sale of By product 45 6,750
To Electric Power 360
To Sundry Materials 2,000 | By Transfer to Finishing 250 1,92,050
Process Alc
To Repairs to Machinery 450
To Steam 330
To Factory Expenses 660
300 | 1,98,800 300 1,98,800
1,92,050
Cost per tonne of Refined Oil = oo or Rs.768.20
Finishing Process Account
Dr. Cr.
Particulars Tonnes Amount | Particulars Tonnes Amount
Rs. Rs.
To Transfer from By Loss in Weight 2 --
Refining Process A/c 250 1,92,050
To Labour 1,500 | By Finished Stock A/c 248 2,02,100
To Electric power 240
To Steam 450
To Repairs to Machinery 140
To Factory expenses 220
To Cost of Casks 7,500
250 | 2,02,100 250 2,02,100

2,02,100

248 or Rs.814.92

Cost per tonne of the Finished 0Oil =

156  Ufshar AT (Process Losses)

rfdreier fafemior el & Sared & A= =Rol 4 S 99 aEiE @ §8 ' a1 ag
(wastage) eTa%g BIAT & | SfeTd UfhaT & IcUTET UM SFD! MTA A HH BT 2| 39 R
31 ufoear g1 ®wed | ufhar =l &1 <1 AR | qfer S Adar ® ¢ (1) ameg gfhar
g, 3R (2) =T Tfhar 1M | 319 89 UAd UHR &l B & UHfa W IR ufhar anTa

¥ ISP oIGihT W fa=oR & |
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156.1 =T Afhar B

Icqre ufshar § @e wifval Mfkd Bt & Jrnl @ a1 Sares ufar @ gefa 1 O g
g b 37 sl @1 gr =El fbar S |ebd1| 579 aredieRor, e wfdfhar, saRer &
et anfe & giferat enfier el €1 U SRON | Sored # BN arell g1 @ | ufthar
BN A1 WM ed ded | Fife A B wm uRRefRl | OER & € sdfery 3
AT Bl € 3R sl ToRd & JMER WR 36T A U8l | TR Sl AHhT § |

AR UfhAT BN BT @@ oie &l U Jo 99 I8 2 5 fxi) «ff |amm =1fy a1 arra
BT AT 3T FhISAl DI IRTd gIRT fhaT AT 8 | 31 Uy Shls ST IRTd ST HRA
& ol Bl AT BT ] SHISAl (HAMARI IUTE) Bl AT F 9RT B o7 A1 | aAfdhe
IS & ¥ HB oI Igel [BAT S Fahal & Al 59 UhAT WK Bl biec B <A1 =ad 3R
BT SATEH AN | JATad FHRIIGH R AT a1y | SETervned, 9 ISR fob ggel ufshar
H 5,000 Bo & HI 500 T dedl AT NIAT AT | 3T URHAT AN 39 UBR & : 519 2,500
To AR IURAT 1,100 To | AfT Ufhar & 10% IR @ A= 81 8l © 3R s/ 9
T 1 Bo UfT IHIE Bl § A1 U IHIS SUTET AT 39 UHR SN Bl oI Fhall &

Process | Account

Dr. Cr.
Particulars Units Amount Particulars Units Amount
Rs. Rs.

To Materials 500 5,000 | By Normal Wastage 50 50
To Labour -- 2,500 | By Transfer to Process Il 450 8,550
To Overheads -- 1,100

500 8,600 500 8,600
Cost Per Unit of Output = m = Rs. 19 per tonne

MU IETERYT 2 H <&M BT fh 500 S TRI (copra) T U @1 Ufshar (crushing process) #
STell 73 oY IR &adl 300 €4 Fedl ddf el o7 | U e I @ dRTd §ol anTd (TR &
A BIo & [Ahg oI BT ARG BRI @ d16) Bl 300 A AN B [eblell T o1 | I&i
g A forar a7 o fh Mol & T BT SAUTET HIA H U DI Ufehar H 40% aoi9 a1 81+
AHRI BT % |

156.2 AT HfshaT BN

Al @ AW B A SRS B @ SN ufshar B AT AT e Bl Wi R |
SQTERUNY, YA @1 Ufshar # A= BT 40% @ g | IfT SMRTT 500 7 2 A MR SUIGH
300 BIT B | IR+ Ife IR&ifde IeqTaT 280 €4 81 BIAT & 9 20 S &I B DI A B
AT SIAT 21 g8 BT B srvred a1 sy Rerfdl Sy geles, S rael, peieran Al
gfeAT Hed AT BT TN 3 A 8 Al & | VAl BT @I el @R S &1 S ey
3R ST Y JMAYIH B T2 R IR B ol U IR =AY |
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AT UfHAT BN BT @ IET BT 38 ShIgdl Pl ofiTd bl 2dr g1 g+ 3=
JE JEEIIH ®UY W IATGH AN B 9T <701 | 37 NI 8\ &I ANTd DI oNTd ot
g1 @1 (Costing Profit and Loss Account) @1 1dRd wxa Ffham FTdl | ger far Sir = |
U Rafd & araell THRIT 39 I Ufhar 81 &1 SRTd Si1d &R+ &) Bl € | 399X H
fdye 9w I8 2 & 39 S| B1fF &l IS &1 3%l ghigdi & I AT SIU | 31
I B SHIZAT DI ANTd IS DI 3T ShIsal HI Wifd 3R S IR WR 1T BT
STl 8 | T 31f I8 83T b qol Ufhar ANTd &l Ired) gdhisdl 3R SRR 81 ghlsdl
& g e U ¥ dfc <1 A1 |

gyfbar orra fRuRer fafy @ ofavfa s ' @ 9w 9 fAues & o smuel
fereferRaa wrifafdr sro=r =nfed

1 TS UfhAT B A B Aaifer) @ik S S¥@ a¥dl B AT {od Afed Sl
ufehar @ @ mise o IR feEmy e ufhar @ 9 I8 |=td 2|

2 Ig HHN b PIS A=Y B TEl 8, Scures B Ufd gebls oivrd AeforlRad fafd &

HTfory
IATE Bl Gl T
A SaTe
3 SR & T A & uRefora ufd soe arFTd & MR IR IMTERI 819 SHhisdl &l

ART ST DI |

4 SMATHIY &7 T JIFT 3R VR I M= 81 W &I Sfde diford iR Trg ufshar
T Bl Bfsc BT |

5 UfhAT WTT BT IV T IRA[dD IATET Dl NTd S@RAT 57 31Ter Ufsham @rd &l
JART ®R f&am ST |

6 IR B W1 9978y 3R AT 81 ShIsdl &l dINTd §9d Sfac &l 3R
feamgd iR 3@ 9 g8 Rl @ Hou BT pfec o AR @z | R
B @Td BT AT ANTT ATH—BI W1 Bl IfART B fear ST 2 |

IRVl 3 <RIY IR IeqyT piford fb ufehar orrd fHeriRer fafr § s g1fF &1 oraie
9 fpar ST 2

llustration 3
1200 Units were introduced into a process at a cost of Rs. 12,000. The additional expenditure

incurred for the process was Rs. 3,000. From past experience and technical estimates, a normal
loss equal to one-sixth of the input is expected which has scrap value of Re. 1 per unit. The

12



actual output for the period was 900 units. Complete the Process Account and show how

abnormal loss will be treated in accounts.

Solution
Process Account
Dr. Cr.
Particulars Units | Amount | Particulars Units | Amount
Rs. Rs.
. Rs. Rs. Rs. Rs.
To Materials 1.200 12.000 By Normal Loss 200 200
To Expenses - 3,000 | By Abnormal Loss 100 1,480
By Cost of Production tr. to 900 13.320
next Process
1,200 15,000 1,200 15,000
) _ Total Cost of Production
Cost of Production Per Unit =
Normal Output
S Rs. 14.80 it
= 1,000 = RS. . perunl
Abnormal Loss Account
Particulars Units | Amount | Particulars Units Amount
Rs. Rs.
To Process Alc 100 1,480 | By Cash A/c (scrap value) | 100 100
ByP &L Alc 1,380
100 1,480 100 1,480

Working Notes:

1) Normal Output

2) Cost of Production

3) Abnormal Loss Units

Total Input — Normal Loss Units
1,200 — (1/6 of 1,200)

1,200 - 200

1,000 units

Total Expenditure — Scrap Value of Normal Loss Units

15,000 — 200
Rs. 14,800

Normal Output — Actual Output

1000 — 900
100 units

13



4) Cost of Abnormal Loss
Abnormal Loss Units x Cost of Production Per unit
100 x 14.80 = Rs. 1,480

157 M M / T=d (Abnormal Gain/Effectivness)

Ig g B 5 5 uforar &1 avafae Scares wwifad () STTe 3§ 31ferd &1 | U
g BT 8 99 AT A BRG] & BRI IRAMAS ST A 8§ $HH &1 1 A g1
BT ARAAHAT H 3TH A AT AT 81 | AT Reafcy 7 ar<ifdes Idre &1 9= I1s
TR IR IATHRT ST JIFT STUIT | STATER 99d | SdATeH dl Ufd ShIs g w4
Bl B d1fey i g9dT RGBT W S bR fhar S 59 UdR ME=T 819 6T
forar SITar 2

ST @ SRAHI AT S8l BT Hod Ui §dbls Scdlad &l AN &l Wil | Farerr Sl
23U IRg UhA @A & ST U Bl AR qAT T Tiel T J[HRI oM W @ BHIsST
geT & 3R @ ST & | ST oM WA &l NTd AT —8l+ @ H JfaRd wadb d& P
fe=m e B |

I8 [ IR fH AR AR B B AT AR o™, AR B DI o—eiRa =i &
MR WX Ufham @ # fegray Sen &, a<fdd 819 & MR R el | 3fd: TAHI dad &l
Retfdr # A= 819 Soh1eal &1 a¥fell Ag Hed, il o afdhar @rd # fegrn 8, 96
A @ S ¥ 9ga o T aRdidd IR H ARE BN | dBR ATA DI I8 T g Dl
T ]I, AT AT W B AY DI ANTI— B W H AR BRI Ugel, S ETd
& Sfdc I 3R RETH FHRINTT &) el 2 |

TSTEN0T 4 SRIU 3R Y= Hiforw b gfehar arTg Herivor R_fY & = 99d &1 odih
fohd YR fhar SIar 2 |

Illustration 4

Based on data given in Illustration 3 and assuming the actual output was 1,050 units, prepare the
Process Account and show how abnormal loss effectiveness will be treated in accounts.
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Solution:

Process Account
Dr. Cr.
Particulars Units | Amount | Particulars Units [ Amount
Rs. Rs.

To Material 1,200 12,000 | By Normal Loss 200 200
To Expenses - 3,000 | By Cost of Production to next Process 1,050 15,540
To Abnormal Gain 50 740

1250 | 15,740 1250 | 15740

) i Total Cost of Production
Cost of Production per Unit of Output =
Normal Output
14,800 Rs. 14.80 it
= = Rs. 14. er uni
1,000 P
Abnormal Gain Account
Dr. Cr.
Particulars Units Amount Particulars Units Amount
Rs. Rs.
T Losder 50 50 | By Process Alc 50 740
(unrealized scrap value)
ToP &L Alc 690
50 740 50 740

Working Notes

1) Normal Output

2) Total Cost of Production

3) Abnormal Effectiveness

1

4) Value of Abnormal Effectiveness

Total Input-Normal Loss
1,200-(1/6 of 1,200)
1,200-200
1,000 Units

Rs. 14,800.

Actual Output -Normal Output

,050-1,000

50 Units

Total Expenditure-Scrap Value of Normal Loss
15,000-200

= Abnormal Effectiveness x Cost of Production Per unit =50 x 14.80 = Rs. 740
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<R UHE G
1 ufehar B1f m el 8 7
2 =Y ufshar g1 & 9 PR 98y |

3 ST =1 T Bl & ?

4 Rad emt &1 Ry |
i) qg BT ST 3T ShISAl DI ARTd BT TIAT BRAT & oo

ufshar g1+ HEarRl & |

i) R BN @ U BB g Il ¢ |

i) ardfa® 1 &1 9T B TR SRR BEAT B |

V) NI B SR =T gad <l & Rerfadl #, sivgd Sred arra &t
GR&BAT BT FUTGT AT Bl oo A AT AR fHIT €T & |

V)  E g9d & RAIT W, JBR SHIsAT BT 98 o Sl agdl T8l g3, MR
AT @ B Sfde fHar S 8 8RR W P hise fhar S
2 |

Vi) e B @ RAfT # s9@] dBR SHISAT BT Hed JEH BN W Bl
Hiee fHAT ST 8 3R G ® Sfde fhar S 2 |

158 U$H IarERY (Comprehensive lllustrations)

Illustration 5

In a factory the product passes through two processes A and B. A loss of 5% is allowed in
Process A and 2% in Process B, nothing being realised by disposal of the wastage.

During April 2018, 10,000 units of material costing Rs. 6 per unit were introduced in Process A.
The other costs were as follows:

Process A Process B

Rs. Rs.
Materials -- 6,140
Labour 10,000 6,000
Overheads 6,000 4,600

The output was 9,300 units from Process A. 9,200 units were produced in Process B which were
transferred to the warehouse. 8,000 units of the finished product were sold at Rs. 15/- per unit,
the selling and distribution expenses were Rs. 2 per unit. Prepare (1) Process Accounts, and (ii) a
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statement of Profit and Loss of the firm for April, 2018, assuming there were no opening stocks
of any type.
Process A Account

Dr. Cr.
Particulars Units Amount | Particulars Units Amount
Rs. Rs.
. By Normal Loss (5% of
To Material 10,000 60,000 10,000) 500 --
To Labour 10,000 | By Abnormal Loss 200 1,600
By Transfer to Process B at
To Overheads 6,000 | ™% s 8 per unit 9,300 | 74,400
10,000 76,000 10,000 76,000
Process B Account
Dr. Cr.
Particulars Units Amount | Particulars Units Amount
Rs. Rs.
To Transfer from By Normal Loss (2% of
Process A 9,300 B0 9,300) 186 -
To Material 6,140 ||BY Finished Stock Alcat 9,200 92,000
Rs. 10 per unit
To Labour 6,000
To Overheads 4,000
To Abnormal Gain 86 860
9,386 92,000 9,386 92,000
Statement of Profit and Loss for April, 2018
Rs.
Profit on sale of 8,000 units 40,000
Less : Abnormal Loss in Process A 1,600
38,400
Add : Abnormal Gain in Process B 860
39,260
Less : Selling and Distribution Expenses 16,000
Profit 23,260

Note : The valuation of unsold stock has been ignored.

Working Notes:

1) Normal Output = Total Input — Normal Loss
In Process A =10,000 - 500 = 9,500 units
In Process B = 9,300 -186 = 9,114 units
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2)

Cost of Production = Total Expenditure - Scrap Value of Normal Loss

In Process A
In Process B

=76,000 - NIL
= 91,140- NIL

Rs.76,000
91,140

Cost of Production

3 fP i it =
) Cost of Production per Unit Normal Output
InP A—76’000— Rs. 8 it
n rrocess = 9,500 = RS.o peruni
InP B = L1140 _ Rs. 10 it
n rrocess = 9'114 = S. per uni
4) Normal Loss Units = Normal Output - Actual Output
= 9,500 - 9,300 = 200 units
5) Cost of Abnormal Loss = Abnormal Loss Units x Cost Per Unit
In Process A = 200 x 8=Rs.1,600
6) Abnormal Gain Units = Actual Output — Normal Output
In Process B = 9,200 — 9,114 = 86 units
7) Value of Abnormal Gain = Abnormal Gain Units x Cost Per Unit
In Process B = 86 x10 = Rs.860
llustration 6

Product ‘Z’ is obtained after it passes through three distinct processes. The following information

is obtained from the accounts for the month ending December, 31, 2018:

ltems Total Processes
| | i
Rs. Rs. Rs. Rs.
Direct Material 7,542 2,600 1,980 2,962
Direct Wages 9,000 2,000 3,000 4,000
Production Overhead 9,000 -- -- --

1,000 Units at Rs. 3 each were introduced in process I. There was no stock of materials or work-
in-progress at the beginning or at the end of the period. The output of each process passes direct
to the next process and finally to finished stock. Production overheads are recovered at 100 per
cent of direct wages. The following additional data are obtained:
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Process Output during the | Percentage of Value of Scrap per unit
month Normal Loss to
input
| 950 5% Rs. 2
I 840 10% Rs 4
11 750 15% Rs 5
Prepare process accounts, and normal loss, abnormal gain and abnormal loss accounts.
Solution :
Process | Account
Dr. Cr.
Particulars Units | Amount Particulars Units | Amount
Rs. Rs.
. By Normal Loss
To Units introduced 1,000 3,000 (5% of 1,000) 50 100
To Direct Materials 2,600 | By Transfer to Process Il 950 9500
To Direct Wages 2,000
To Production Overheads 2,000
1,000 9,600 1,000 9,600
Process Il Account
Dr. Cr.
Particulars Units | Total Particulars Units | Total
Rs. Rs.
To Transfer from Process | 950 9500 | By Normal Loss 95 380
To Direct Materials 1,980 | By Abnormal loss 15 300
To Direct Wages 3,000 | By Transfer to Process 11 840 | 16,800
To Production Overheads 3,000
950 | 17,480 950 | 17,480
Process I11 Account
Dr. Cr.
Particulars Units | Total Particulars Units | Total
Rs. Rs.
To Transfer from Process |1 840 | 16,800 Zw,oor?;{oljoss 126 630
To Direct Materials 2,962 | BY Transfer to Finished 750 | 28,500
Stock A/c
To Direct Wages 4,000
To Production Overheads 4,000
To Abnormal Gain 36 1,368
876 | 29,130 876 | 29,130
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Normal Loss Account

Dr. Cr.
Particulars Units | Amount Particulars Units | Amount
Rs. Rs.
To Process | 50 100 | By Cash A/c
To Process Il 95 380 Process | 50 100
To Process Il 126 630 Process Il 95 380
Process Il 90 450
By Abnormal Gain A/c 36 180
271 1,110 271 1,110
Abnormal Loss Account
Dr. Cr.
Particulars Units Total | Particulars units Total
Rs. Rs.
To Process Alc 15 300 | By Cash Alc 15 60
By Profit & Loss A/c (Loss) 240
15 300 15 300
Abnormal Gain Account
Dr. Cr.
Particulars Units | Total Particulars Units | Total
Rs. Rs.
TlNorria i Cossraie 36| 180 | By Process Il Alc 36| 1,368
(unrealized scrap)
To Profit & Loss A/c (gain) 1,188
36| 1,368 36| 1,368

Working Notes:

1)
In Process |
in Process Il
In Process Il
2)

In Process I =

Cost of Production per unit =

)

950

Cost of Production = Total cost - Scrap value of Normal Loss

9,600- 100 = Rs. 9,500
17,480 - 380 = Rs.17,100
27,762 - 630 = Rs.27,132

Cost of Production

Normal Output

= Rs. 10 per unit
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17,100

In Process II = = Rs. 20 per unit

855
InP [l = 27,152 _ Rs. 38 it
n rrocess = 714 = S. per uni
3) Abnormal Loss Units = Normal Output x Actual Output
In Process | = 950 - 950 = NIL
In Process Il = 855 - 840 = 15 units

4) Cost of Abnormal Loss
In Process 11

Actual Output - Normal Output
750 - 714 = 36 units

5) Value of Abnormal Gain

Abnormal Gain Units x Cost per unit
In Process |11 = 36 x 38 = Rs. 1,368
Ilustration 7
A product passes through two processes P & Q and then to Finished Stock Account. It is
ascertained that in each process normally 5% of the weight of output is lost and 10% is scrap

which from process P realises Rs. 80 per tonne and from process Q Rs. 200 per tonne.

The following data is available for both the processes for the month of February, 2018.

P Q
Materials in tonnes 1,000 70
Cost of material per tonne in rupees 125 200
Wages in rupees 28,000 10,000
Mfg. expenses in rupees 8,000 5,250
Output in tonnes 830 780

Prepare process accounts, showing cost per tonne each process. There was no stock or work-in-
progress. There was no stock or work-in-progress in any process.
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Process P Account

Dr. Cr.
Particulars Units | Amount Particulars Units | Amount
Rs. Rs.
. By Loss in Weight
To Materials 1,000 | 1,25,000 (5% of 900) 50 B
By Normal Loss
To Wages 28,0001 71006 of 1,000) 00| 8000
To Mfg Exp 8,000 | By Abnormal Loss 20 3,600
By Transfer to
Process Q at Rs. 180 per tonne 830 | 149,400
1,000 | 1,61,000 1,000 | 1,61,000
COLO S . | Co st of Production _ 1,53,000 . - )
osto utput per tonne = Normal Output = 850 = RS. per tonne
Process Q Account
Dr. Cr.
Particulars Units | Amount | Particulars Units | Amount
To Transfer from By Loss in Weight
Process P 830 1 149,400 | 504 4 1,000) 45 X
. By Normal Loss
To Materials 70 | 14,000 (10% of 900) 90 | 18,000
By Transfer to Finished Stock
To Wages 10,000 at Rs. 210 per tone 780 | 1,63,800
To Mfg Exp 5,250
To Abnormal Gain 15 3,150
915 | 1,81,800 915 | 1,81,800
Cost of Production 1,60,650
Cost of Output per tonne = =

Working Notes :

1)

Normal Loss Units =

Normal Output 765

= Rs. 210 per tonne

Normal Output - Actual Output
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In Process P = 850 - 830= 20 tonne

1) Cost of Abnormal Loss =  Ab. Loss Units x Cost per unit
In Process P = 20 x 180 = Rs. 3,600

3) Abnormal Gain Units
In Process Q

Actual Output — Normal Output
780 — 765 = 15 tonne

4) Value of Abnormal Gain = Abnormal Gain Units x Cost Per unit
= 15x210=Rs. 3,150

5) Loss in Weight has no scrap value

Illustration 8

A company manufactures and sells three chemicals produced by three consecutive processes known as A,
B and C. In each process, 2% of the weight put in is lost and 10% is scrap. The scrap realises in Process
A and B — Rs. 100 per tonne and in C — Rs. 200 per tonne. The other details are as follows:

A B C
Material (in tonnes) 100 140 1,348
Cost of Materials per tonne (in rupees) 120 200 80
Mfg. Expenses (in rupees) 30,800 24,810 1,832
Output retained for sale 25% 50% 100%
Output sent to next process 75% 50%
Solution:
Process A Account
Dr. Cr.
Particulars Units | Amount Particulars Units | Amount
Rs. Rs.
To Material 100 12,000 | By Loss in Weight 2
To Mfg. Exp. 30,800 | By Scrap 10 1,000
By Transfer to stores for sale 22 10,450
By Transfer to Process B 66 31,350
100 42,800 100 42,800
Cost of Production per tonne = 41{;:300 = Rs. 475 per unit
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Process B Account

Dr. Cr.

. Units Amount . Units Amount
Particulars Particulars
tonne Rs. tonne Rs.
Rs. Rs.

To Transfer from Process C 66 31,350 | By Loss in Weight 4 --
To Materials 134 26,800 | By Scrap 20 2,000
To Mfg. Exp. 24,810 | By Transfer to store for sale 88 41,480
By Transfer to Process C 88 41,480
200 82,960 200 82,960

80,960

Cost of Production per tonne = = Rs. 460 per tonne

176

Process C Account

Dr. Cr.
. Units [ Amount . Units | Amount
Particulars Particulars
tonne Rs. tonne Rs.
Ton. Rs. Ton. Rs.
To Transfer from Process B 88 41,480 | By Loss in Weight 28 --
To Material 1,312 | 1,04,960 | By Scrap 140 28,800
To Mft Exp. -- 1,864 | By Transfer to finished stock 1,232 | 1,19,504
1,400 | 1,48,304 1,400 | 1,48,304
" 1,19,504
Cost of Production per tonne = 232 Rs. 96 per tonne

15.9 RISl

gfesar orra feriRer faf Sare & fafsior @ uQ@a ufhar J1 =R IR ARG ST BRA Bl
v fafy @ | a8 ARy 9=f warr @ Sl @ STet (i) Sared RAOR T ' oIk ws ufshaeit |
TorRar ©, (i) T ufhar &1 IE [Tl Ulhar &1 dedl A1l 99 Sl =, AR (iii) I
AMBIPa 3R FHRY B & | I UihAT aRTd Al $usT, da ReGIIRT, SITst, JeI=Hio I
S @ ford Sugaa aash ot 2

ufehar amra ReRer Y & sravta fafvmior @) yxe ufhar & fo U ofe T warar w@re
SIAT & IR ufhar ¥ Weg 9 antd |9 Sfde a4 Wl 2| afe e ufthar @1 A
JATE 3Tl UfshdT Bl AR fbar e & a1 ol AN Bl 3Tl UlshdT DI FROT & WY A
Bfec @) 3R e 9ar g1 Ife ST &I Th 91T 9ok § 99+ & oy wa foram wimar
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g O U9 SR @ SMUIad oRTd & R $I AR & w9 H fI@mn Sar 21 <A
AfhAT 3§ SHD! B AN DI IR AT I W DI JART B &A1 S & |

gfhar BT AT A7 AT &1 Adhall & | AMg eIl fos 1 uftear # fAfta g €1
S 99T A8l O Adhdl | I Q@rmﬁﬁrmﬁmmaﬂwﬁmwﬁl
AT BT U1 R deal ATl JANT $R |, qHreldl 4 AT guc-ﬂdﬁﬁ Bl © | ST
ST SEATEA &) ol T @ SR R FEiR &) S 2 ek SRy g @’ P ER]
I AT ATI—8T BT FIRT B a1 91 2 |

$o Rl § Irafdes I FHRI SR 9 2Af¥d 8 dahdT 7 | W1 Rafa 5 39 afda
DI AT I9d (39 AT oM W HEd &) Hed o | U aM @ anTd Hl Sdred @l
AT AT @ MR W YR @7 St § @R 39 d1Td Ar—81 @1d & fdlRd & faam
ST 2 |

15.10 STeGTdll

SN HfshaT B (Abnormal Process Loss): aR<ifd® &9 &1 GG 81 UR Merad Sl
gE RN, TG 3MfE & HRT BT 2 |

I A (Abnormal Gain): dr&ifdd TG &I AEFIAIT FHIdd ST IR ST |
39 N d9d W) hEd © |

Y S@1E (By-product): a8 IS Sil 3UeTTHd HH o &I BIaT & 3R a1 Sdred o

AT A P& TG g9 & GRE FANT F 81 Sl & |

Sarg (Joint Product): fl & ATl | ScTE g9 &1 Ufshar H &1 AT e ITal &l
SATGH | Q1 & IUTRT BT FH He<d 81T ® 3R TF1 &7 & Sal Jod B ¥ |

3 M W) SdEd 9@ SET (Mass Production Industries): I SEINT S g UHM WR

AFBIPd 3R FHEY SIE g1 § BRIRT © |

A Sdred (Normal Output): o AT & s Afad AT # Tt o A= |ifad
T |

g gfear g1 (Normal Process Loss): &R & amr Rerfadl § armft o dwifad g
S Icared ufshar # fAfed gl 2

wfshar arTa fRuiRer faffr (Process Costing): faffaior &1 ue gfhan a1 =Ror R Idrg &
T ST ®RA @l fafer |
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Eg 3 1) &1 1) Terd 1il) 81 1V) |81 V) Ted

4 I) I A1) 9l A i) SRR BN V) W STe V) | g1
Vi) THdT |

15.12 WRY U /I

1 Susr orTa fAaRer {fY ik ufthar g FuRo (/S § 92 SRy |
2 uferar amTd ko Iy & g faRarg qagd &k gaal arf A qasy |

3 MY 3R TATE Ufhar BT &1 o1ef gdrsy iR I8 ) gdrsy b g9
AT GTdl ¥ olikgidh fhg YR fhar Sirar € |

4 frfaRad et @1 g\ Y -
®) MY g9d (Abnormal Gain/Effectiveness )

) QY IdE (By-product)
) TYgad Ire (Joint product)

1) Chemical X passes through three consecutive processes P,Q and R. From the following
cost data relating to the three processes, prepare the process cost accounts and find out the
cost of production of each process. The production per month was 270 bottles.

Items Process P Process Q Process R
Materials 8,750 4,250 2,900
Labour 3,600 9,000 2,700
Direct Expenses

Fuel 1,500 1,500 1,500
Carriage inwards 1,500 1,500 1,500
Factory Expenses 1,170 3,240 1,125

Indirect expenses Rs. 3,825 should be apportioned on the basis of labour.
(Answer: Total Cost: P-Rs. 17,420, Q-Rs. 39,160, R-Rs. 49,560
Unit Cost: P-Rs. 64.52, Q-Rs. 145.04, R-Rs. 183.550)
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2)

3)

4)

5)

In the month of May, 2018, 6,000 tonnes of raw material A costing Rs. 150 per tonne
were produced through process No. 3 for the manufacture of solvent X.

The total operating cost of the process for the month was Rs. 12,50,000. 10% of the input
was wasted and was disposed off at Rs. 25 per tonne.

Prepare the Process 3 Account for the month of May, 2018 assuming that the wastage
was

1) the normal process loss

i) an abnormal loss due to poor quality material.

(Answer: i) Finished stock Rs. 21,35,000 @ Rs. 395.37 per tonne.
i) Finished stock Rs. 19,35,000 @ Rs. 358.33 per tonne.)

600 Kgs. of a material was charged to Process | at the rate of Rs. 4 per kg. The direct
labour accounted for Rs.200 and the other departmental expenses amounted to Rs. 760.
The normal loss is 10% of input and the net production was 500 kgs. Assuming that the
scrap is sold at Rs. 2 per kg., prepare the Process | Account clearly showing the values of
normal and abnormal loss.

(Answer: Normal loss Rs. 120; Abnormal loss Rs. 240; Transfer to Process Il Rs.
3,000)

The particulars for the last process are as follows:

Units Rs.
Transfer to last process from the first process 4,000 9,000
Transfer to Finished Stock from the last process 3,240 --
Direct Wages 2,000
Direct Materials used 3,000

The factory overhead in process was absorbed at 400% of direct materials. Allowance for
normal loss is 20% of units worked. The scrap value of the wastage was Rs. 5 per unit;
You are required to prepare

a) Last Process Account
b) Normal Wastage Account
C) Abnormal Effectiveness Account.

(Answer.: Transfer to Finished stock Rs. 22,275; Abnormal Effectiveness Transfer to P
& L Alc Rs. 75 (275-200)

The product of a manufacturing company passes through two processes A and B. It is
ascertained that in each process 10% of the total weight is lost and 20% is scrap. The
realisation from scrap amounts to Rs. 160 per tonne and Rs. 400 per tonne from processes
A and B respectively.

27



6)

7)

The process figures are as follows:

Process A Process B

Materials consumed in tons 2,000 140
Cost per tonne Rs 250 400
Wages Rs. 36,000 Rs. 24,000
Manufacturing Expenses Rs. 12,000 Rs. 10,000

Prepare process accounts showing the cost per tonne of output in each process.

(Answer : Cost per unit : Process A Rs. 345.71, Process B Rs. 418.18; Transfer to
Finished Stock 1070 units at Rs. 4,50,800

Manufacturing Company’s product passes through two distinct processes A and B then to
Finished Stock. It is known from past experience that wastage occurs in the process as
follows : in Process A, 5% of the units entering the process and in Process B, 10% of the
units entering the process. The scrap value of wastage in process A is Rs. 16 per 100
units and in Process B is Rs. 20 per 100 units. The process figures are:

Process A Process B

Rs. Rs.
Materials consumed 6,000 3,000
Wages 7,000 4,000
Manufacturing Expenses 2,000 2,000

5,000 units were brought into Process A, costing Rs. 5,000. The outputs were: Process A
= 4,700 units, Process B = 4,150 units. Prepare Process Accounts showing the cost of the
output.

(Answer :Process A : cost per unit-Rs. 4.20; Abnormal Loss-Rs. 202 (210-8)
Process B : cost per unit-Rs. 6.77; Abnormal Loss-Rs. 434 (542-108)

The product of a company passes through three distinct processes to completion. From
the past experience it is ascertained that wastage is incurred in each process as under:

Process A 2%, Process B 5%, Process C 10%

The wastage of Processes A and B is sold at Rs. 10 per 100 units and that of Process C at
Rs. 80 per 100 units.

Following is the information regarding the production of March, 2018:

Process A Process B Process C

Materials 12,000 8,000 4,000
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Direct Labour 16,000 12,000 6,000
Machine Expenses 2,000 2,000 3,000
Other Factory Expenses 3,500 3,800 4,200

20,000 units have been issued to Process A at a cost of Rs. 20,000. The output of each
process has been as under:

Process A 19,500 Units

Process B 18,800 Units

Process C 16,000 Units

There was no stock or work-in-progress in any process in the beginning and in the end of
March. Prepare Process Accounts.
(Answer : Transfer to Finished stock 16,000 units at Rs. 90,549.50)

3 U I MU 30 SHhls Bl AR [ dvg I A H Fergdr el | S5 SR
o DI T DIY 3R aregaqmdl ¥ gfte SISy | offd 3o+ SR fazafdenery !
A AU | A Y% U 31U 3T B fow oy T § |
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16.1  UqEHr
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16.5.1 ISR 3ar fam Jog fafd

9 fafg ¥ I &1 URD SHhIs @ IOk Jod & AR W Bl qroiR Jod e fear
ST 2| g Al ifdes Isnfe 2 | S gdhis aRAT & IR oI JAerdT f9@l Jed @
SKHT B gU 59 Y 3 ardfdsd qroiR Hed 9 fdhar Siran 2| 59 fafd 9 dyad
ANTA T AT &I MR WX fHar Srar 3—

(i) TP SHS & (9] ed & AR UR AT

(i) @B @ T & IAER R,

(i) AP 3PS & AN o9 & AR R : 39 A # Fgaa am1d &7 rgaTo
Iarfed A3 W AR {6 991 Sgad IUE B U gy & AU H UAd
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Eﬁuwm)xucqm smlsiﬁrfﬁzﬁﬂ?ﬂzﬁsﬂwwmwélwwm

P IATed 7T R TR &HRar 2 |

Illustration 1

The Joint Products A,B,C, and D are produced at a total joint production costs of Rs.
1,20,000. Quantities produced are A 20,000 units, B 15,000 units, C 10,000 units and D
15,000 units. Product A sells for Rs. 16; B Rs. 4; C Rs. 8 and D for Rs. 4. These figures are
at the split off point. Required to show the apportionment of joint costs by using.

(a) Sale price per unit method and (b) Total sale value method

Solution :
Apportionment of Joint Cost by Sales Price per unit Method
Product Selling Price | Apportionment of Apportionment of Joint
per unit costs ratio Costs
(16:4:8:4) Rs.
16 =
A Rs.16 16 120,000 60,000
32
4 =
B Rs. 4 A 120,000 15,000
32
8 =
C Rs.8 S 120,000 30,000
32
4 =
D Rs.4 A 120,000 15,000
32
Total Joint Costs Rs. 1,20,000 rounded off




Apportionment of Joint Cost by Total Sale Value Method

Total Sale Value of each Product

Formula = Total Sale value of all products % Joint Costs
Joint Units Market Total Calculations Apportionment
Products | Produced | Value Market of product their
per unit Value costs
(Rs.) Rs.
(@) (b) | (a)x(b)
A 20,000 16 3,20,000 | 3,20,000 73,846
m X 1,20,000
B 15,000 4 60,000 | 60,000 13,846
— X
520,000 1,20,000
C 10,000 8 80,000 | 80,000 18,462
m X 1,20,000
D 15,000 4 60,000 | 60,000 13,846
m % 1,20,000
Total 60,000 Rs.5,20,000 Rs. 1,20,000

Ratio of Product value to total market value

A:B:C:D
16:4:8:4
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Illustration 2: At the initial processing of raw material, A, B and C joint products are
produced with the following joint manufacturing expenses:

Particulars Rs.

Material 20,000

Labour 16,000

Overheads 18,000
Total 54,000
After Split off processing costs as follows:

Particulars A (Rs.) B (Rs.) C (Rs.)
Material 4,000 3,200 3,600
Labour 5,000 2,800 2,400
Overheads 5,000 2,000 4,000
Total 14,000 8,000 10,000
Sales value 84,000 40,000 36,000
Estimated Profit on 50% 50% 33
Sales

Apportion the joint manufacturing costs to A, B and C products by Reverse Cost Method.

Solution : Apportionment of Joint Costs using Reverse Cost Method
Products

Particulars A (Rs.) B (Rs.) C (Rs.)

Sales Value 84,000 40,000 36,000

Less : Estimated Profit 42,000 20,000 12,000

Estimated Total Cost 42,000 20,000 24,000

Less : After Split Off
processing Costs

(Material + Labour + 14,000 8,000 10,000
Overheads)

28,000 12,000 14,000
A =3.125%
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Ilustration 3 : A Coke manufacturing company produces the following products by using
800 tons of coal.

(in tons)
Coke 500
Coal tar 200
Benzol 10

Sulphate ammonia 50
Gas 40
Total 800

Price of Coal Rs. 2,000, Direct Labour Cost Rs. 1,000 and overheads Rs. 1,500 respectively
per ton of coal at the stage of split-off products.

Apportion the joint cost to each joint product using physical unit method of apportionment.
Solution:

Apportionment of Joint Costs based on Physical Unit Method.

Joint Production | % of Apportionment of Costs Total
Products in tons production

to total Coal Direct | Overheads

production Labour

Rs. Rs. Rs.

Coke 500 62.50 10,00,000 5,000 75,000 | 10,80,000
Coal Tar 200 25.00 4,00,000 2,000 30,000 | 4,32,000
Benzol 10 1.25 20,000 100 1,500 21,600
Sulphate 50 6.25 1,00,000 500 7,500 | 1,08,000
Ammonia
Gas 40 5.00 80,000 400 6,000 86,400
Total 800 100.00 16,00,000 8,000 | 1,20,000 | 17,28,000
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Illustration 4

Using the figures of Illustration No 1 method is shown below :

Total Joint Proudction Cost _R 1,20,000
Total Number of units proudced - RS 60,000

= Rs.2 per unit

Product Units Average Apportionment
Cost of Joint Costs
(Rs.)
(1) 2) (1x2)
A 20,000 2 40,000
B 15,000 2 30,000
o 10,000 2 20,000
D 15,000 2 30,000
Total 1,20,000
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lllustration 4: A factory produces A, B and C products of 4,000, 600 and 1,000 units
respectively. The joint cost of these three products are Rs.90,000 based on the survey and
technical assessment, the weights allotted to A, B and C are 4.6, 6 and 8 per unit
respectively. You are required to apportion the joint cost.

Solution:
Apportionment of Joints using Survey Method
Products Production Weights Weighted  Apportionment of
units Alloated Units Costs (Rs.)*
(1) ) (3) (1 x2)

A 4,000 4.6 18,400 55,200
B 600 6 3,600 10,800
C 1,000 8 8,000 24,000
30,000 90,000

* Ratio of weighted units are 46:9:20

int Cost . Joint Cost ~ 90,000 Rs. 3
ol Total No. of weighted units ~ 30,000 >
I U B
1 I A9 ST & 14 Jarsd FH Fgad S SR SURATE QA Bl Icarad
forar SITar 2 |

2 "GIFEHRYT fovg a1 8 ? HIH IURI B Ao BI AR At i g?
3 FfeTRad § & BIF A $AF T 31AaT TeAd © 7
() g IeuTe AR IUKATE FHA AU H 994 2 |
(@) SUAE BT AR oI BIaT ¢ |
(M) HIad AN SR A AN T B |
(&) ST Ao SIS |l 8l B ¢ |

($.) WM oFTd favTsd 8l g |

166 SUIAIGT 91 R HERer 9 fafr

ol o ugel a9 o, YUIUIg dg 3Ulg g Iar Sdres ArRvr: I Idl« g

TTeT BT © 3R P T 8] Sl Hebell © |

S SURI B oI &I IUMGT AT FIHKI IcTal dI Hod DI AUET HIhl HH BT & |
ISER0T & ©Y H GIgI dll B SHUGH & AAI Gell BT 91, qAT ADT IcATG B A1
ofRT IR WIg &1 9947 | 1 SHURI B oI WY el AR THIT DI o1 H BB HH
AT 2| $9 SUIuTel Bl {497 3N Ufshar & <= S Hhdl © SIdr 999 9 Ugel SHdT 3R
afshar aawad Bl 2| 39 9wy # yded &I 98 <@ o) i A uear © 6 emr @t
gfshar oR T @9 B8R IR S 9vElq Sl Hed el 98 §9 @9 9 Sffdd BN |
Hgad IARI & [9vg H | JE gREHI0T AT A 7 | FEfaRad IR | g8 W
B SRR % geraaxer fag & geand ok T @ ufsar e &= Sfad 2




Ilustration 5 In the course of producing the main product, two joint/by-products ‘X’ and
‘Y’ are also produced, 200 units and 80 units respectively. The saleable value of these
products at the split-off point at Rs. 100 and Rs. 250 per unit respectively. In these two
products are further processed after split-off point for improving their quality at the costs of
Rs. 000 and Rs. 000 respectively, the saleable value is Rs. 280 and Rs.390 respectively.
Suggest whether the management decides to proceed for further process after split-off stage
or sale at split-off stage only.

Solution :

Statement of Incremental Profit/Loss
Details Product X Product Y
Output (units) 200 80
Incremental Revenue after split-off process:
Product X : (Rs.280-Rs.100) x 200 units Rs. 36,000 --
Product Y : (Rs.390-Rs.250) x 80 units  Rs. -- 11,200
Less: Additional Costs if proceeds for further process 25,000 14,000
(Rs.)
Incremental Profit/Loss 11,000 (-) 2,800
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llustration 6: ‘X’ and ‘Y’ are the by-products of Product ‘A’ the joint cost upto split off
point is Rs. 1,31,600/ The following information is obtained from Costing Department:

Particulars Main Product By-products
X Y
1) Sales (Rs.) 2,00,000 80,000 50,000
2) Expenses after
Split off point - 10,000 8,000
(Rs.)
3) Estimated Selling 15% 10%
Expenses on sales
4) Estimates Profit 20% 25%
on Sales

You are required to i) show how joint costs are apportioned to by-production and ii) Cost of
production of the main Product ‘A’

Solution :

i) Cost Statement of By-products X and Y

Details By Product
X (Rs.) Y (Rs.)
Sales 80,000 50,000
Less : Estimated Profit 16,000 12,500
64,000 37,500
Less: After split off costs 12,000
Estimated Selling Expenses 5,000
Manufacturing Costs 10,000 8,000
Joint Cost apportioned 42,000 24,500
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i) Cost statement of ‘Main Product ‘A’

Rs.

Total Joint Cost 1,31,600
Less : Joint Cost apportional to ‘X’ 42,000

Joint Cost apportional to ‘Y’ 24,500 66,500

Cost of Production 65,100

Study the following illustration 7. The solution is present in different format but the concept
of accounting procedure is same as illustration 6.

Illustration 7: From the following information prepare a statement sharing units cost of
main product and by-product

Main Product | By-Product

Units Produced Rs. 40,000 5,000

Total
Raw materials 50,000
Wages 70,000
Overhead 40,000 Rs. 1,60,000

Estimated cost of production after
split off

Material 1,000
Wages 1,200
Overhead 300 Rs. 2,500

Market Value of (5,000 Units @
Rs. 1.80 per unit) Rs. 9,000

Estimated Gross Profit Consisting
of (20% of selling price,
assumed)

Selling and Administrative
expenses (5% of selling price)

Statement Showing Cost of Main Product and By Product

Particulars Main By Product
Product | Rs. Rs.
Rs.
(1) (a) Raw Materials 50,000
(b) Wages 70,000
(c) Overheads 40,000
Total Production Cost 1,60,000
(40,000 units)
(2) Market Value 9,000
(5,000 units @ Rs. 1.80)
(3) Less : Estimated Gross Profit consisting 1,800
of
(20% of selling price assumed)
(4) Less: Selling and Administrative 450 2,250
expenses
(5% of selling price)

12



(5) Less : Estimated Cost offer Split off:
(a) Raw Materials 1,000
(b) Wages 1,200
(c) Overheads 300 2,500
(6) Share of Joint Cost of By-Product
(7) Less : Joint Cost of by product from main 4,250
product cost 4,250
Cost of Production of Main Product 1,55,750
(8) Add product cost of by-product after split 2,500
off
Total 6,750
(9) Total Number of Units 40,000 5,000
(10) Cost per unit 3.894 1.35

16.7 COMPREHENSIVE ILLUSTRATIONS

Ilustration 8: In a manufacturing company 10,000 kiloliters of A is processed to produce
6,000 kilo liters as of “B” and 4,000 kiloliters of “C’. The Joint Cost before separation point
came to an amount of Rs. 24,000. From following particulars, calculate the apportionment of
joint Cost and the profit of each product under (a) Physical measurement (b) Market Value of
separation point and (c) Market Value after further processing.

B C
Rs. Rs.
Unit selling price at separation point 5,000 3.75
Unit selling price after further processing 7.00 7.50
Further processing cost after separation 5,000 7,500
Solution :
(a) Statement of Cost and Profit (Physical Measurement)
Costs Product A Product B Product C
Output in kiloliters 6,000 4,000 24,000
Joint Cost (apportioned in 6:4 14,400 9,600 24,000
ratio)
Further Processing cost 5,000 7,500 12,500
Total Cost 19,400 17,100 36,500
Profit 22,600 12,900 35,500
Sale @ Rs. 7 and 7.50 42,100 30,000 72,000
(b) Market Value at separation point
B C Total
Rs. Rs. Rs.
Sales Value 30,000 | 15,000 45,000
(B 6000 x Rs. 5), (C x4000 Rs. 3.75)
Less: Joint Cost (apportioned in the 16,000 8,000 24,000
ratio of Sales Value 2:1)
Profit 14,000 7,000 21,000
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(c) Market Value after further processing

B C Total

Sales Value Rs. Rs. Rs.
B 6,000 Rs. 7 x C 4000 xRs. 7.50 42,000 30,000 45,000
Less additional processing cost
Equivalent value at the point of 5,000 7,500 12,500
separation

37,000 22,500 59,500
Joint Cost Apportioned on the basis of 14,924 9,075 24,000
equivalent sales value
Additional Processing Cost 5,000 7,500 12,500
Total Cost 19,924 16,575 36,500
Profit 22,076 13,424 35,500
Sales 42,000 30,000 72,000

Ilustration 9: X limited manufactures Product A which yields two By-products B and C in
a period. The amount spent upto the point of separation was Rs. 20,600. Subsequent
expenses were : -

A B C

Rs. Rs. Rs.

Materials 300 200 150
Direct Expenses 400 300 200
Overheads 300 270 280
1000 770 630

Gross sales value of A, B and C was Rs. 15,000, B Rs. 10,000 and C Rs. 5,000 respectively.
It was estimated that the net profit as percentage of sales in case of B and C would be 25%
and 20% respectively. Calculate the profit earned on A

Solution :

Statement of Cost and Profit of Product A

Rs. Rs.
Joint Cost Before Split Off 10,500*
Material 300
Direct Labour 400
Overheads 300 1000
Total Cost 11,500
Profit (balance) 3,500
Sales 15,000

(a) Calculation of Share of B and C in Joint Costs

Rs. Rs.

B C

Sales Value 10,000 5,000
Less Profit B @ 25% C @20% 2,500 1,000
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7,500 4,000
Less Subsequent expenses 770 630
6,730 3,370

(b) Calculation of Product A Joint Costs

Rs.
Total Joint Cost 20,600
Less Cost Share of B 6,730
Less Cost Share of C 3,370 10,100
* Share of A in Joint Cost 10,500

Illustration 10

A factory is engaged in the production of a chemical called “BOMEX” and in the course of
manufactures, a by-product called “BRUCIL” is produced, which after further processing has
a commercial value. For one month the following are the summarized cost data

Joint | BOMEXS BRUCIL
EXxpenses

Materials 1,00,000 6,000 11,000
Direct Labour 50,000 20,000 18,000
Overheads 30,000 10,000 6,000
Selling Price Per Unit 98 34
Estimated Profit per Units |  Units, 2,000
unit on a sale of 2,000
BRUCIL Rs. 4

The factory uses “Reverse Cost Method” of accounting for by-products whereby sales value
of by-products, after deduction of estimated profit, post split off cost and selling and
distribution expenses relating to the By-products is credited to the joint process cost account.
You are required to prepare statement showing : -

@ The Joint Cost allocable to “BOMEX”
(b) The product wise and overall profitability of the factory for the month.

Solution :

Rs.
Sales value of By product “BRUCIL” = 2,000 % Rs. 34 68,000
Less Profit @ Rs. 4 per unit 8,000
Cost of Sales 60,000
Less : Separate expenses 28,000
Cost at the point of Split Off 32,000
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(A) Statement of Joint Cost allocable to “BOMEX”

Joint Expenses Rs.
Materials 1,00,000
Direct Labour 50,000
Overheads 30,000 1,80,000
Less Share of Joint Allocable to “BRUCIL” 32,000
Share of Joint Cost Allocable to “BOMEX” 1,48,000

(B) Statement of Product wise and overall profitability

BOMEX BRUCIL Total

Rs. Rs. Rs.

Joint Cost 1,48,000 32,000 1,80,000

Separate expenses 36,000 28,000 64,000

Cost of Production 1,84,000 60,000 2,44,000

Selling and -- -- --
Distribution

Expenses - m— a—

Cost of Sales 1,84,000 60,000 2,44,000

Profit 12,000 8,000 20,000

Sales 1,96,000 68,000 2,64,000

Illustration 11 : In manufacturing the main product Aa company processes waste material in
two by-products X and Y. Using the working back method from sales value to an estimated
cost, you are required to prepare comparative profit and loss account for three products from
the following data:

Q) Total cost upto separation point was Rs. 1,36,000

A X Y
(i) Sales (all products) 3,28,000 32,000 48,000
(i)  Cost after separation Rs. - 9,600 14,400
(iv)  Estimated net profit -- 20% 3%
percentage to sales
value
(V) Estimated selling 20% 20% 20%

expenses as a
percentage of sales

value
Solution:
Comparative Profit and Loss Account
A X Y
Rs. Rs. Rs.
Joint Cost 1,36,000 -- --
Less Cost charged 19,200 9,600 9,600
to by-products*
1,16,800
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Cost after separation -- 9,600 14,400
Selling Expenses 65,600 64,00 96,00
(20% of sales)
Total Cost 182,400 25,600 33,600
Profit 1,45,600 6,400 1,44,000
Sales Value 3,28,000 32,000 48,000
* Working Details:
X Y Total
Rs. Rs. Rs.
Sales (A) 32,000 48,000
Less : Estimated Profit 6,400 14,400
Selling Expenses 6,400 9,600
After separation Cost 9,600 14,400
Total (B) 22,400 38,400

A — B (share in Joint Costs) 9,600 9,600 19,200

16.8 ERII
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5)  RIL Ltd produces four joint products A, B, C and D all of which came from the
processing of one raw material. The detailed data is as follows :

Production for the period

Joint Product Number of | Selling price per
units unit
Rs.

A 1000 36.00

B 1800 16.00

C 800 8.00

D 400 22.00
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The Company budgets for a profit of 10% of sales value the other estimated costs are :-

Rs.
Cartage 2,000
Direct Wages 6,000
Manufacturing overhead 4,000
Administrative overhead 10% of sales value

Prepare a comprehensive cost statement for a each of the products, allocating the material and
other costs on the basis of (a) number of units (b) sales value

6) AMUL manufactures one main product and two By product X and Y. The details are:

Main Product By Product X By Product Y
Sales Rs. 1,50,000 Rs. 12,000 Rs. 7,000
Before separation Rs. 75,000 -- -
manufacturing cost
After separation Rs. 23,000 Rs. 2,200 Rs. 1,800
manufacturing cost
Selling and Rs. 12,000 Rs. 1500 Rs. 1,100
administrative
expenses

Required : Using reversal cost method for By-products assuming 15% profit for By
product X and 12% profit for By- product Y. There is no beginning of ending
inventories.

7) Kanodia Mills manufactures three products A, B and C from a Joint process. The
Joint Cost total Rs. 60,000. Other information is as follows:

Product Unit Market Additional | Market Value
Produced value of Cost Rs.
split-off Rs.
Rs.
A 6,000 40,000 9,000 55,000
B 4,000 35,000 7,000 45,000
C 2,000 25,000 5,000 30,000

You are required to show Total Cost for each product, using market value method.

8) Using the data of question no . 5, you are required to show total cost for each product,
using average unit cost method.
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9) Calculate the estimated cost of product A and B at the point of separation from main
product.
By Product By Product
A B
Selling price per unit Rs. 120 Rs. 240
Cost per unit after separation from Rs. 30 Rs. 50
the main product
Unit produced 5,000 2,000
Selling expenses amount to 25% of total works cost i.e., including both pre separation
and post separation works cost, selling prices are arrived at by adding 20% of total
cost i.e., the total of works cost and selling expenses.
Al 397 U 9 3MUG! 99 ghls bl R ) g 9 gEgH A derdr ferf | $9e
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Ilustration 1:
Opening Work-in-Progress 8,000 units 40% complete
Units introduced in process 60,000
Units completed 64,000
Closing work-in-progress 4000 units, 60% complete. Calculate equivalent production.

Solution :
Calculation of Equivalent Production

Following are three ways of computation of “Equivalent production” Rs.
Opening work-in-progress works required to be completed

(8,000 x 60%) 4,800
Add: Units introduced and completed during the period

(60,000 — 4000) 56,000
Add: Closing work-in-progress (i.e., 60% of 4000) 2,400
Completed equivalent production 63,200

Alternatively |

Units completed during the year 64,000
Add: Closing Stock (work done i.e., 60% of 4,000 ) 2,400
66,400

Less: Opening Work-in-progress
(percentage of work done in the previous period) 8,000 x 40%) 3,200
Complete equivalent production 63,200

Alternatively Il

Opening Inventory of work incomplete (8,000 x 60%) 4,800
Add: Units introduced in process 60,000

64,800
Less: Closing work-in progress incomplete (4,000 x 40%) 1,600
Completed equivalent production 63,200

Note : Study the formulae in above cases carefully
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Illustration 2:

From the following details, you are required to prepare (a) statement of equivalent production
(b) Statement of cost (c) Statement of Evaluation
Opening work-in progress (50% complete) 10,000 units ~ Rs.22,480

Direct Materials Rs. 60,000
Direct Labour Rs. 45,000
Overhead Rs. 45,000
Units introduced in process Rs. 76,000
Units finished and transfer to store Rs. 78,000
Closing Work-in-progress (25% complete) 8,000



Solution

Statement of Equivalent Production

Input | Output Units Equivalent Production
Materials | Direct Labour Overheads
Unit| % Unit % Unit %
10,000 | Opening W/p 10,000 | 5,000 | 50 5000 50 5000 50
78,000 | Finished Product | 68,000 | 68,000 | 100 | 68000 | 100| 68000 | 100
8,000 | Closing W/p 8000 | 2,000| 25 2000 25 2000 25
86,000 86,000 | 75,000 75,000 75,000
Statement of Cost
Element Cost Equivalent | Cost per unit
Rs. production | Rs.
Materials 60,000 75,000 0.80
Direct Labour 45,000 75,000 0.60
Overheads 45,000 75,000 0.60
75,000 Rs. 2.00
Statement of Evaluation
Opening Work | Materials 5,000 @ Rs. 0.80 Rs. 4,000
in progress
Direct Labour 5,000 @ Rs. 0.60 Rs. 3,000
Overhead 5,000 @ Rs. 0.60 Rs. 3,000 Rs. 10,000
(total)
Finished Materials 68,000 @ Rs. 0.80 Rs. 54,400
Product
Direct Labour | 68,000 @ Rs. 0.60 Rs. 40,800
Overhead 68,000 @ Rs. 0.60 Rs. 40,800 Rs. 1,36,000
(total)
Closing Work | Materials 2,000 @ Rs. 0.80 Rs. 4,000
in progress
Direct Labour 2,000 @ Rs. 0.60 Rs. 3,000
Overhead 2,000 @ Rs. 0.60 Rs. 3,000 Rs. 4,000
(total)
Rs.1,50,000
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lHlustration 3 : The following are details of production and cost data for the month of
February, 2019 the second month of operation:-

Production
Units in progress January, 2019 — all materials issued 2,000 units, 25% complete for
conversion cost.

New units starting in progress 8,000
Total units  the production details are :- 10,000
The production details are

Units completed 7,000
Units in progress — all materials issued,

1/3" complete conversion cost 3,000
Units lost in progress NIL

Cost record
Work-in-progress Inventory, January 31, 2019

Rs.
Materials 600
Conversion Cost 100 700

Costs for February, 2019



Materials issued Rs. 2,560
Conversion Cost Rs. 1,500
Total Cost to be accounted Rs. 4,760

You are required to prepare

a) Equivalent production
b) Cost per unit using (i) average method and (ii) FIFO method

Solution :

a) Equivalent production for February, 2019 — Average Costing

Actual No Materials Cost Conversion Cost
of units

Stage of | Equivalent Stage of | Equivalent
Completion | Production | Completion | Production
Units 7,000 100% 7,000 100% 7,000

Completed
Units in 3,000 100% 3,000 1/3" 1,000

progress

10,000 10,000 8,000

Under average method, the stage of completion of beginning inventory of work-in-progress is
ignored. No distinction has been made between units partially completed in January and
units started and completed in February.

b) (i) Unit Cost — Average Method for February, 2019

Materials | Conversion

Cost

Cost from January in Work-in-progress of January, 31 Rs. 600 Rs. 100
Cost recorded in February 2560 1500
Total Cost 3160 1600
Units completed in Equivalent Production 10,000 8,000
Unit Cost Rs. 0.316 Rs. 0.20

b) (ii) FIFO Method
Cost Distribution

Materials | Conversion
Units Completed in February 7,000 7,000
Add: Units in progress at February, 28 3,000 1,000
Total Number of units processed 10,000 8,000
Less: Units at January, 31 2,000 500
Units Completed in February 8,000 7,500

Units costs are determined by dividing the cost recorded in the current period by
equivalent production for the period. For February it will be : -



Material Cost Rs. 2,500 + 8,000 units Rs. 0.32

Conversion Costs Rs. 1,500 + 7,500 Rs. 0.20

Equivalent Production for February

To determine the cost to complete work-in-progress, it is necessary to find the equivalent
production at the beginning of the period with actual number of units in process. For
February, it will as under :-

Material Conversion

Actual number of units in progress at January, 31 2,000 2,000
Deduct equivalent production at January, 31:-

100 % of 2000 units 2000

25% of 2000 units 500

Equivalent production for February
0% x 2000 0
75% % 200 1,500

It must be noted in passing is the difference created by the point of issue of material. If
in process added material at the end of processing, the equivalent production used in
completing the beginning work-in-progress would be 100%or 2000 units. In making the
cost distribution for February, the 7,000 units completed are divided into 2000 units from
opening inventory of work-in-progress and 5,000 from new production.

When there is no process loss.

Illustration 4: From the following data, find out ‘Equivalent production’ by using
average method and FIFO method, assuming that there is no process loss.

Opening work-in-process 2000 units
Materials 80%
Direct Labour 60%
Overhead 60%
Units introduced 3000 units
Completed as to : -

Materials 80%
Direct labour 60%
Overheads 60%



Solution :

Average Method
Computation of Equivalent Production

Material Labour Overhead
Total units % units % units %
units
Completed 7,000 7,000 100 7,000 | 100 7000 | 100
Not Completed 3,000 2,400 80 1,800 60 1800 | 60
10,000 9,400 8,800 8,800
FIFO Method
Computation of Equivalent Production
Total | Material | % Labour % | Overhead | %
units
Opening Work-in-progress 2,000 400 | 20 800 | 40 800 | 40
Introduced and Completed 5,000 5,000 | 100 5,000 | 100 5,000 | 100
Closing Work-in-progress 3,000 2,400 | 80 1,800 60 1,800 | 60
10,000 7,800 7,600 7,600

When There is Process Loss — Average Method

Illustration 5 :The product process through two processes. The entire material is placed in
the process at the beginning of the first process. The following data relates to the first

process. You are required to work out the value of closing inventory and value of materials
transferred to the second process.

Process I

Opening Inventory
Materials

Direct Labour
Overheads

Opening inventory (25% complete)

Put into process

Transferred to second process

Closing inventory (20% complete)

Loss during process normal

Rs.

10,000
27,500
50,000
40,000
Kilograms
4,000
12,000
10,000
5,000




Solution:
Statement of “Equivalent Production” (units)

Output Material Labour Overhead
Kg
Qty 0% Qty 0% Qty | 0%
Opening inventory 4,000 3,000 | 75% 3,000 | 75% 3,000 | 75%

processed

Completely processed 6,000 6,000 | 100% 6,000 | 100% 6,000 | 100%

Normal Loss 1,000 - - - - |-

Closing Inventory 5,000 1,000 | 20% 1,000 | 20% 1,000

16,000 10,000 10,000 10,000

Process Account |

Kg Amount Kg Amount
Rs. Rs
Opening Inventory 4,000 10,000 | Transferred to | 10,000 1,15,750
Process Il
Material 12,000 27,500 | Normal loss 1,000
Labour 50,000 | Closing 5,000 11,750
inventory
Overheads 40,000
16,000 1,27,500 16,000 1,27,500

Note : The cost per unit will be as under for equivalent production of 10,000 units

Rs. Rs.
Material 27,500 + 10,000 = 2.75
Labour 50,000 + 10,000 = 5.00
Overheads 40,000 + 10,000 = 4.00
11.75

Note: Equivalent Units are 10,000
When there is a process Loss — FIFO Method

Illustration 6: The manufacturing details of two processes of a factory product are given
below:-

Opening work-in progress 500 units @ Rs. 6 per unit

Transfer from process No | 15,000 units Rs. 32,175

Direct Materials added in process No: 2 Rs. 10,350

Direct Wages Rs. 27,200

Overheads Rs. 21,845

Units Scrapped = 800




Normal Loss = 5% of production
Transfer to process No. 3 - 1,32,000 units
Closing inventory 1,500 units

Degree of completion

Opening Inventory Scarp Closing Inventory
Materials 80% 100% 60%
Labour 50% 80% 40%
Overhead 50% 80% 40%
Units scrapped sold for Rs. 2 per unit
You are required
(a) To prepared statement of equivalent production
(b) Statement of Cost
Solution :
Statement of Equivalent Production
Input | Output Units Material | Material Il Labour Overhead
500 | Opening 500 - - | 20% 100 | 50% 250 | 50% 250
WIP
Inventory
15,000 | Normal 700 -- -- -- -- -- -- -- --
loss
Abnormal | 1000 | 100% 100 | 100% 100 | 80% 80| 80% 80
Loss
Finished | 12,700 | 100% 700 | 100% | 12,700 | 100% | 12,700 | 100% | 12,700
WIP
Closing 1,500 | 100% | 1,500 | 60% 900 | 40% 600 | 40% 600
Inventory
15,500 15,500 14,300 13,800 13,630 13,630
Statement of Cost
Element Cost Equivalent Cost Per
Rs. Production Unit
units Rs
Materials 32,175
transferred from
Process |
Less Scrap 1,400
30350 14,300 2.152
Add in Process Il 10,350 13,800 0.743
Labour 27,200 13,630 2.000
Overhead 21,845 13,630 1.602
Rs.90,230 Rs. 6.497
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Illustration 6 : Prepare statement of equivalent statement of cost and statement of Evaluation
from the following information:
Units introduced 7,600 output (units) 600 process cost:-

Material Rs. 14,560
Labour Rs. 21,360
Overhead Rs. 12,240

Degree of completion for closing work-in-progress
Materials 80%, Labour 70% Overhead 7%

Solution:
Statement of Equivalent Production
Input | Output Units Material | Labour Overhead
7,600 | Completed 6000 | 6,000 | 100% | 6000 | 100% | 6000 | 100%
WIP 1600 | 1,280 80% | 1120 70% | 1120 70%
(Closing)
7,600 7,600 | 7,280 -1 7,120 - 7,120 --
Statement of Cost
Element of Cost Cost Equivalent | Cost Per Unit
Rs. production Rs.
Material 14,500 7,280 2
Labour 21,360 7,120 3
Overheads 14,240 7,120 2
50,100 7
Statement of Evaluation
Rs.
Output transferred 6,000 x 7 42,000

Work-in-Progress

Materials 1,280 X Rs. 2 = Rs. 2,500
Labour 1,120 x Rs.3 =Rs. 3,360

Overhead 1,120 x Rs.2  =Rs. 2,240 8,160
50,160

(@) gfshdr B1fF Afdd |HI9e are—ad

Illustration 7 : Tata Engineering company is engaged in making grills during a month 4000
units were introduced in process I. The normal loss is estimated at 5% on input. At the end
of the month, 2,800 units had been produced and transferred to the next process. 920 units
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were uncompleted and 280 units had been scrapped. It was estimated that incompleted units
had reached a stage in production as follows:

Materials 75% completed

Labour 50% completed

Overhead 50% completed
The cost of 4,000 units was Rs. 11,600.
Direct material introduced during the process amounted toRs. 2,880. Direct wages amounted
to Rs. 6,680 Production overheads incurred were Rs. 3,340. Units scrapped realised Re.1
each units scrapped passed through the process so were 100% completed as regards material,
labour and overhead. Show the statement of equivalent production, statement of cost per unit
and statement of valuation.

Solution :
Statement of Equivalent Production
Input Output Units Equivalent Production
Material Labour Overheads
Units % | Units % Units %
4,000 Normal 200 -- -- -- -- -- --
Loss
Abnormal 80 80| 100 80| 100 80 | 100
Loss
Finished 2800 | 2800 | 100 | 2800 | 100 2800 | 100
Production
Work-in- 920 | 690 | 75| 460 50 460 | 50
progress
4,000 4,000 | 3,570 3,340 | 3,340
Statement of Cost
Element of Cost Cost Equivalent Cost
Rs. Production Rs.
Materials 11,600
Cost of units 2,880
14,480
Less Scrap Value 200
14,280 3,570 4
Direct Wages 6,680 3,340 2
Overheads 3,340 3,340 1
24,300 7
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Statement of Evaluation

Production Element of Equivalent Cost per unit Total

Cost Production Rs. Rs. Rs.
Abnormal Material 80 4 320 560
Loss Labour 80 2 160

Overheads 80 1 80
Finished Material 2800 4 11200 19600
Production Labour 2800 2 5600

Overheads 2800 1 2800
Work-in- Material 690 4 2760 4140
Progress Labour 460 2 920

Overheads 460 1 460

Total | Rs. 24,300

Note: Scrap value 280-80 = 200 @ Re 1.

m  far ufear g1 @ IR &R 99 Are—ard

Illustration 8 : Anuprav International Ltd gives following figures relating to a single
industrial process. Quantity of the work-in-process at commencement : 16,000 units

Rs.

Cost of work in process at the beginning

Materials 59,200

Wages 13,200

Overheads 11,600

During the period, additional 64,000 units were put in with following costs :
Rs.

Materials 2,24,800

Wages 66,800

Overheads 60,400

At the end of the period, 5600 units were fully processed and 24,000 units remained in the
process. The closing stock was complete as regards material cost and one-third complete as
regards wages and overheads. Use average method of valuation, prepare necessary
statements.

Statement of Equivalent Production

Input Output Units
Material Labour Overheads
% | Units % | Units % | Units
16,000 | Opening 16,000 | 100 | 16,000 | 100 | 16,000 100 | 16,000
WIP
40,000 | Finished and | 40,000 | 100 | 40,000 | 100 | 40,000 100 | 40,000
transferred
24,000 | Closing WIP | 24,000 | 100 | 24,000 | 33/13 | 8,000 | 33/13| 8,000
80,000 80,000 80,000 64,000 64,000
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Statement of Cost

Elements Cost | Equivalent Production | Cost per
unit
Materials:- Rs.
Opening Stock 59,200
Additional Stock Cost 2,24,800
2,84,000 80,000 3.55
Labour :-
Opening Stock 13,200
Current Cost 66,800
80,000 64,000 1.25
Overheads:-
Opening Stock 11,600
Current Cost 60,400
72,000 64,000 1.125
4,36,000 5.925
Statement of Evaluation
Finished and transferred 56,000 units @ Rs. 5.925 = 3,31,800
Work in progress
Materials 24,000 @ 3.55= Rs. 85,200
Wages 8,000 @ 1.25= Rs. 10,000
Overheads 8,000 @ Rs.1.125= Rs. 9,000

Total Rs. 1,042,00
Rs 4,36,000

@) ufsear =i afed IRfMS 3R F99T ATc—Prd

Ilustration 9 : BIRLA Company gives the following information from which you are
required to prepare necessary statements

Opening Stock 1200 units Rs. 21,00
Degree of Completion
Materials 80%
Labour 60%
Overheads 60%
Transfer from Process |, 22,000 units At Rs. 11,000
Transfer to process Il : 17,600

Direct materials added to Process Il Rs. 4,820

Direct Labour Rs. 14,310
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Production Overhead Rs. 19,080
Units Scrapped : 2000
Degree of Completion :

Material

Labour

Overheads
Closing stock

100%
70%
70%

3200 units

Degree of completion : - Materials 70%, Labour 60%, Overhead 60%

There was a normal loss in the process of 10% of production units scrapped realised Re

0.50 per units
Solution:
Element of Cost Cost | Equivalent | Cost per Unit
Rs. | production Rs.
Materials : -
Form Process | 11,000
Less: Scrap (2000 x Rs. 0.50) 1,000
10,000 20,000 0.50
Materials Added 4820 19280 0.25
Labour 14310 19.080 0.75
Overheads 19080 19080 1.00
48,210 2.50
Statement of Equivalent Production
Input Units | Output Units Equivalent Production
Material | Material 11 Labour Overheads
Units % Units % Units % Units %
Opening 1200 Opening 1200 240 20 480 40 480 40
stock stock
Process | 22,000 | Normal Loss 2000 -- -- -- -- -- -- -- --
4,000 Abnormal 400 400 | 100 400 | 100 280 70 280 70
Loss
Completed 16,400 | 16400 | 100 | 16,400 | 100 | 16,400 100 | 16,400 | 100
Production
Closing 3,200 3200 | 100 2,240 | 70 1920 60 1920 60
Stock
4,000 23,200 23,200 | 20000 19,280 19,080 | 3,340 | 19,080
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Evaluation of Equivalent Production

Particulars Element of Equivalent | Cost Per Cost Total Cost

cost Production | unit Rs. Rs.
Opening Material | -- -- -- --
Stock Material 11 240 0.25 60.00

Labour 480 0.75 360.00

Overheads 480 1.00 480.00 900
Abnormal Material | 400 0.50 200 790
Loss Material 11 400 0.25 100

Labour 280 0.75 210

Overheads 280 1.00 280
Finished Material | 16400 0.50 8200 41000
Production Material 11 16400 0.25 4100

Labour 16400 0.75 12300

Overheads 16400 1.00 16400
Closing Material | 3200 0.50 1600 5520
Stock Material 11 2400 0.25 560

Labour 1920 0.75 1440

Overheads 1920 1.00 1920

48,210

@) (i) sFmFT o™ RT IRMS IR |F I i
(d) (ii) Opening & Closing stock with Abnormal Gain

llustration 9: (abnormal gain)

The following information is obtained in respect of process No. 2 for a month. Prepare
necessary statements.

Opening stock 4,000 units Rs. 8,000

Degree of completion : -

Materials 80%
Labour 50%
Overhead 40%

Transfer from Process No | 24,000 units Rs. 1,00,400
Transfer to Process No. 3 = 20,000 units

Direct material (added in process No. 2 ) = Rs. 62,400
Direct Labour Rs. 42,800, Overhead Rs. 65,400

Units Scrapped 2,000

Degree of completion:-

Material 100%, Labour 80% Overhead 80%
Closing stock 6000 units

Degree of completion:-
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Material 70%, Labour 60%, Overhead 60%
Normal Loss 10% of production, scrap sold Rs. 12 per unit
Solution:
Input Output Units Equivalent Production
Material | Material Il Labour Overheads
% Units % Units % Units % Units
4,000 Opening stock 4000 - - 20 800 50 2000 60 2400
24,000 Normal Loss 2200 -- -- -- -- -- -- -- --
Processed 16,000 | 100 | 16,000 | 100 | 16,000 | 100 | 16,000 | 100 | 16,000
Closing stock 6,000 | 100 6000 70 4200 60 3600 60 3600
14,100 22000 21000 21600 22000
Abnormal gain 200 | 100 200 200 200 100 200
28,000 28,000 21,800 10400 21800
Statement of Cost
Elements Cost | Equivalent Cost
Rs. | production | per unit
Rs.
Materials
Transfer from Process | 10,0400
Less Scrap Sales 13,200
87,200 21,800 4
Added in Process 2 62,400 20,800 3
Labour 42,800 21,400 2
Overhead 65,400 21,800 3
Total Cost 2,57,800 12
Statement of Evaluation
Opening Stock Rs. Rs.
Material | --
Material 11 800 units @ Rs. 3 2,400
Labour 2400 units @ Rs. 2 4,000
Overhead 2400 units @ Rs. 3 7,200 13,600
Processed
Material | 16000 units @ Rs. 4 64,000
Material 11 16000 units @ Rs. 3 48,000
Labour 16000 units @ Rs. 2 32,000
Overhead 16000 units @ Rs. 3 48,000 | 1,92,000
Abnormal Gain
Material | 200 units @ Rs. 4 800
Material 11 200 units @ Rs. 3 600
Labour 200 units @ Rs. 2 400 *
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Overhead
Closing Stock
Material |
Material 11
Labour
Overhead

200 units @ Rs. 3 600 2400

6000 units @ Rs. 4 24,000
4200 units @ Rs. 3 12,600
3600 units @ Rs. 2 7,200
3600 units @ Rs. 3 10,800 | 54,600

Total Cost | 2,60,200
Less Abnormal Gain 2,400
2,57,800

e Since the units scrapped are 2000 only abnormal gain is 200 units. These units are
deemed to be completely processed. Hence the percentage of completion given in the
problem for scrap will not be considered. In the total cost shown Rs, 2,60,200 normal
gain of Rs. 2400 has not been added.

17.5 COMPREHENSIVE ILLUSTRATIONS

Illustration 10:

The following data are available of process | for March 2019
Opening Work-in-progress 900 units at Rs. 4,500
Degree of completion:- Materials 100%, Labour 6% , Overheads 10%

Input of materials

9100 units at Rs. 27,300

Direct Wages Rs. 82,00

Production Overheads Rs. 16,400

Units Scrapped 1200 units

Degree of Completion Material 100%, Labour 80% and overheads 80%

Units transferred to next process 7,800 units

Normal loss is 10% of total input (opening stock plus units put in) and scrap value is
Rs. 3 per unit. You are required to follow FIFO method. Show (a) Equivalent
production (b) Cost per equivalent units for each element (c) Cost of abnormal loss
(d) Closing work-in-progress

Solution :
Statement of Equivalent Production
Input | Output Units
Material Labour Overheads
% | Units % | Units % | Units
900 Opening WIP 900 | -- -- 40 360 40 360
Normal loss 1,000 -- -- -- -- --
Abnormal 200 100 200 70 140 70 140
Loss
9100 Finished and 6,900 100 | 6900 | 100 | 6900 100 | 6900
transferred
Closing WIP 1,000 100 | 1000 80 800 80 800
10,000 10,000 8100 8200 8200
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Statement of Cost

Elements Cost Rs. Equivalent Cost per unit
Production

Materials 27,300

Less Scrap 3,000 | 24,300 8100 3

(2,000 units @ Rs. 3)

Labour 8200 8200 2

Overheads 16,400 8200 1
48,900 6

Statement of Evaluation

Rs. Rs.
7,800 units transferred

Cost of opening WIP (900 units) 4,500

Cost incurred on WIP Opening

Material NIL
Labour 360 units @ Rs. 1 per units 360
Overhead 360 units @ Rs. 2 per unit 720 | 1,080
Cost of completing 6,900 units :
Materials of 6,900 units @ Rs. 3 per unit 20,700
Labour 6,900 units @ Re 1 per unit 6,900
Overhead 6,900 units @ Rs. 2 per unit 13,800 | 41,400
Total | 46,980

Abnormal Loss

Materials 200 units @ Rs. 3 per unit 600

Labour 140 units @ Rs. 1 per unit 140

Overhead 140 units @ Rs. 2 per unit 280 Rs. 1,020

Closing Work-in progress

Materials 1,000 units @ Rs. 3 per unit 3,000

Labour 800 units @ Rs. 1 per unit 800

Overhead 800 units @ Rs. 2 per unit 1,600 Rs. 5,400
Total Rs.53,400—

Ilustration 11:The following information has been extracted from the records of

RAUNAK company Ltd engaged in the manufactures of a single product.

Opening Work-in-progress Quantity 16,000 units
Materials Rs.1,48,000
Wages Rs.33,000
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Added during the year

Finished during the year
Closing Work-in-progress

Overhead

Quantity
Materials
Wages
Overhead

Quantity
Quantity
Materials

Labour
Overhead

Rs.29,000

64,000 units
Rs.5,62,000
Rs.1,67,000

Rs.1,51,00

56,000 units
24,000 units
Complete

] 1/3 complete

Tabulate production and cost figures to give quantities, units value and total value for
completed and value of each element of cost of closing stock work-in-progress. Use

average method of valuation.
Statement of Equivalent units

Materials Labour and Overhead
Units Qty % Qty %
Completed 56,000 56,000 100 56,000 100
and
transferred
to next
process
closing WIP 24,000 24,000 100 8,000 331/3
80,000 80,000 64,000
Statement of Apportionment of Cost
Element Work-in- Putin Total Cost Average | Equivalent
progress process Rs. Cost per | Production
Opening Rs. unit in units
Rs.
Material 1,48,000 5,62,000 7,10,000 8.876 80,000
Wages 33,000 1,67,000 2,00,000 3.1250 64,000
Overhead 20,000 1,51,000 1,80,000 2.8125 64,000
Total 2,10,000 8,80,000 10,90,000 14.8135
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Valuation of Work-in-progress

Equivalent Cost per unit Total

Units Rs. Rs.

Materials 24,000 8.875 2,13,000
Labour 8,000 3.125 25,000
Overheads 8,000 2.8125 22,500
Total 2,60,500
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5)

6)

TG SUTE B AT FAT TS © 7
A ShTSAl DI UM B Bl (ISl e B |

afshar B &R S @M @ |1 9Tl B & URMS IR FHE Wid 8 al

TN H NI IGih BT quiF BT |

From the following details, prepare statement of “Equivalent Production”, statement

of cost and find the value of (a) output transferred (b) closing work-in progress by
using average cost method.

Opening Work-in-progress 2000 units

Rs.

Materials (100% complete) 7,500
Labour (60% complete) 3,000
Overheads (60% complete) 1,500
Units introduced into the process 8,000

There are 2,000 units in process and the stage of completion is estimated to be:-
Materials 100%, Labour 50%, Overheads 50%

8,000 units are transferred to the next process.

The process costs for the period are:-

Materials Rs. 1,00,000, Labour Rs. 78,000, Overheads Rs. 12,39,000

From the following data of Appollo Industry Ltd.

Calculate

@ Equivalent production

(b) Cost per unit “Equivalent Production”

(©) Cost of units completed and awaiting completion

No. of units introduced in the process 4000
No. of units completed and transferred to next process 3,000
No. of units in process at the end of the period 800
Stage of Completion :-

Materials 80%, Labour 70%, Overheads 70%

Normal process loss at the end of 200 units

Value of Scrap Re. 1 per unit

Value of Raw Materials Rs. 7,480

Wages Rs. 10,680

Overheads Rs. 7,120

The Cost recorded for Department B of a plan during April were as follows:-

Rs.
Cost from Department A 25,000

23



7)

New Material added 4,500
Conversion 8,800
38,300
New material is added when work-in-progress is 50%
Complete for conversion
The production record showed the following:-
Units received from Department A 5,000
Units Completed 4,000
Units in process April 30
60% complete for conversion 500
20% complete for conversion 500 1,000
Required for Department B
(a) Production converted to ‘Equivalent Production”,
(b) Unit cost by elements
(c) Cost of completed production
(d) Cost of work-in-progress on April 30

Processing in Department 3 calls for the addition of water at the beginning of
processing, which doubles the weight of mixture received from Department 2. The
mixture is then cooked. Cooking results in a 10% loss of weight. During May,
Department 3 received 1,00,000 kilos of partially. Completed product form
Department 2 at a preceding department cost of Rs. 2,70,000. Conversion costs in
department 3 were Rs. 90,000. Determine the cost per kilo at the end of processing in
Department 3.

39 U W AYBT 9 ghls Bl 3R I dvg W GHSH H Igrudr Herll | SHe
IR o B WM DIY AR gregaHdl A gie By | oifds sfoe SR
favafaemera &1 qa AU | I RI% smud e arg @ foru i 1 €
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COST SHEET
Vehicle No

Carrying Capacity Period --------------

Particulars Rs.

(a) Fixed costs
Garage rent
Insurance charges
Motor Vehicle Tax
Interest on Capital
Depreciation
Road Tax
Administration
Total (A)

(b) Maintenance Charges
Repairs
Overhauling
Painting
Tyres, Tubes and Spares
Servicing and Cleaning
Garage Staff
Total (B)

(c) Operating Costs
Petrol/Diesel /Gas
Grease and Lubricating Oil
Wages of Operators
Mechanics
Cleaner
Total (C)

Total ABC Operating Cost

Other Details

Days maintained
Days operated
Days idle (1-2)
Total hours operated
Total distance covered
Total trips made
Total Kilometres run
Total monthly charges
Cost per day operated
Cost per day maintained
Cost per kilometre
Cost per hour
Cost per trip
Cost per passenger kilometre
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Now, we will take up some illustrations for transport services costing.
Ilustration 1

A Transport company runs buses at two places —A and B from following particulars calculate
(a) total kilometres (b) Total passenger kilometres for both places

A B
Number of Buses 4 5
Days operated in a month 30 25
Trip made by each bus 4 4
Distance of route (one way) 30 kilometres 25 kilometres
Capacity of Bus 60 passengers 50 passengers
Normal passengers travelling 80% of capacity 90% of capacity

Solution : - For A Total Kilometres Covered

No. of buses X No. of days x No. of trips x distance of trip

4 X 30 X 4 X (30 X 2)two ways 60 28,800

Total Passenger Kilometre Covered
28,800x 60 x % = 13,82,400 passengers kilometres
For B Total Kilometres Covered

No. of buses X No. of days x No. of trips x distance of trip

5 X 25 x 4 X (25 x 2)50two ways

25,000 kms

Total passenger kilometres
25,000 x (50 x %) = 11,25000 passenger kilometres

You may be noted that as per the above calculation, first calculate total distance covered,
then calculate passenger kilometre covered. In case of a truck, instead of passengers total
capacity in terms of tons/gallons/litres are to be taken into account.

Illustration 2

SIDHU TRANSPORT Company supplies following details of a truck of 5 tons capacity:-

Cost of Truck Rs.9,00,000

Estimated life 10 years

Oil, grease, etc Rs. 150 per trip each way
Repairs and maintenance Rs. 5,000 per month
Drivers wages Rs. 10,000 per month
Insurance Rs. 48,000 per year
Taxes Rs. 24,000 per year
General Supervision charges Rs. 48,000 per year



The truck carriers to and fro city covering a distance of 50 km each way. Required to
workout operating cost per ton —km. operating days of the truck are 25 days in a month.

Solution :
Operating Cost Sheet
Particulars Per month | Per tonne
kilometre
Rs. Rs.

Fixed Costs : Rs.
Driver’s wages 10,000
Insurance 4,000
Taxes 2,000
General supervision charges PA 4,000
Total 20,000

Fixed Cost per tonne — kilometre 2.666

(Rs. 20,000 = 7500 ton km)

Running Costs :

Oil, grease etc. Rs. (150 x25 x 2) 7,500
Repairs and maintenance p.m. 5,000
Depreciation (F2omx290) 7,500
10x12

Total 20,000
Running cost per tonne —kilometre 2.666
(Rs 20,000--7500)
Total cost per tonne kilometre 5.332

Working Note:

e Calculation of tonne — kilometre per month: [(Kilometres for going X capacity in tonnes)
+ (Kilometres for coming in tonnes)] x No. of days
[ (50 x5)+ (50 x 1) ] x 25 = 7500 tonne kilo metres

Ilustration 3
SINGH Tours and Travels, a transport service company, is running 4 buses between two

cities, 50 kilometres apart. Seating capacity of each bus is 40 passengers The particulars are
as follows :

Rs.

Wages of drivers, conducts and cleaners 24,00,000
Salaries of office and supervisory staff 10,00,000
Diesel oil and other oils 4,00,000
Repairs and maintenance 80,000
Taxes, insurance et 1,60,000
Depreciation 2,60,000
Interest and other charges 2,00,000

14,40,000




Actual passengers carried 75% of seating capacity all the four buses ran all the days of the
November month. Calculate the cost per passenger per kilometere.

Solution :
Particulars Amount
Rs.
Fixed or standing charges : -
Wages of drivers, conductors and cleaners 2,40,000
Salaries of office and supervisory staff 1,00,000
Taxes, in service etc. 1,60,000
Interest and other charges 2,00,000
7,00,000
Variable or running charges:
Diesel and other oils 4,00,000
Repairs and maintenance 80,000
Depreciation 2,60,000
14,40,000

Calculation of passenger Kilometres:

No. of buses X No of actual passengers x distance of trip x days
4 X 30(75% of 40) x 100 x 30 = 3,60,000

14,40,000
3,60,000

Cost per passenger kilometre working = Rs. 4

Illustration 4

From the following data ascertain the cost of carrying one tonne of goods for a distance of
one Km:

Rs.

Cost of truck 8,00,000
Estimated scrap value 25,000
Life estimated 5 years
Capacity 4 tonnes
Average daily distance covered 200 km
(100 km going 100 km coming)
Working days in a month 25 days
Freight : Full capacity going

50% on coming
Annual Charges:
Insurance @ 2%
Repairs and maintenance 14,500
Garage rent 3,600
Taxes 6,000
Interest @ 18% on Rs. 8,00,000
Tyre, battery etc. 65,000



Monthly charges : -
Driver’s salary 1,20,000

Petrol etc.Rs. 100 for every 1 km.
Solution :

Operating Cost Sheet
Going Journey : 4 tonnes x 100 km, 400 tonnes — Km

Coming Journey : - 50% i.e., 2 tons x 100 km = 200 tones km
Total 600 tons — kms daily for 25 days 15000 tons kms

Fixed Costs Rs.

Insurance @ 2% p.a. on Rs. 8,00,000 16,000
Garage rent P.A. 3,600
Taxes P.A. 6,000
Interest @ 18% p.a. on Rs. 8,00,000 1,44,000
Driver’s salary  P.A. 1,20,000
Total Fixed Cost P.A. 2,89,600
Total Fixed Cost per month N A

2,89,600 + 12 = = 24,134

Total ton-kms per month Cost per ton — km 24,134 = 15,000 = 1.608

Running Costs:-

Petrol Rs. 100 for 1 km, per km 100

Depreciation = MS_ZSOOO = 1,55,000

Per year = @ per month = 6,667

Repairs and Maintenance % = 1208

Tyres, Battery etc = 6510200 = 667

Total Running Cost P.M. 85.42

Total ton — km per month 15,000 0.569
Operating Cost per ton-km 102.177




T Y B

1 JAT ARTI— RO &7 aR¥TST <IfRY |

2 I O Harstt & A forRaw {5 Jar arra—feiRer ffyy w1 gwHTer g 2
3 Jar arTa—fAeiRr @ @@ faRvang € ?

4 FefeRad & & BIF @ B9 H AT Teld” € | 3 IR DI e BRI Aled
PHIFTY |

(@)  Treror TR Jar & gREreT H T8 3md B |

@) a1 AnTa—RERr &R aREre™ anTa—fReiRer T € |

@  args A gRaeT 7 R args @ B @ @R Sifdd B 7 |
)

ARTd 2fie # ATl BT TNERT YcheT IR el b w9 H fhAr ST §
@) a1 SUBH H R FEREAT B By H BT I HRAT ISl 2 |

18.6 COMPREHENSIVE ILLUSTRATION

Illustration 5

ARUN KUMAR owns a bus which runs between Delhi and Chandigarh and back for 10 days
in a month. This distance between Delhi and Chandigarh is 150 Km. The bus completes the
trip from Delhi and Chandigarh and will be back on the same day. The bus goes to Agra for
another 10 days. The distance between Delhi and Agra is 120 kilmetres. This trip is
completed on the same day. For the rest of 4 days of its operation it runs in the local city.
Daily distance covered is 40 km. Calculate the charge to be made by the owner who wants to
earn profit 33/13% on the earnings. The other information is as under :- cost of the bus Rs.
2,40,000, Salary of driver Rs. 10,000 p.m. Insurance Rs. 1680 p.a. Depreciation 20% p.a.
Diesel Consumption of 4 km per litre costing Rs. 100 (one hundred) per litre, toll tax Rs. 600
p.a. Lubricant Rs. 10 per 100 km. Repairs and maintenance Rs. 500 p.m., permit fee Rs. 284
p.m. Normal capacity 50 persons. The bus is generally occupied 90% of the capacity when
it goes to Chandigarh 80% when it goes to Agra. It is always full when it runs within the
city. Passenger tax is 20% of net earnings.

Solution
Statement of Operating Cost for one month
Fixed Charges Rs. Rs.
Salary of Driver 10,000
Depreciation 222222 %20 4,000
100 x12
Insurance % 140
Toll tax 2= 50
12
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Repairs and Maintenance 500

Permit Fee 284 | 14,974

Variable Expenses 1,39,000

Diesel 222 x 5,560 556 | 1,39,556
4

Lubricant =~ x 5,560
100

Total Cost for one month 1,54,530
. . 1., . 77,265

Profit on takings 335% i.e., 50% on cost

Total Net takings 2,31,795

Add 2% passenger tax 46,359

Total revenue from passengers 2,78,154

Rate per passenger km =2,79,154 + 2,39,000 = 1.168 passenger km paise.
Calculation of Passenger km

(1) Chandigarh trip = 10 X300 x 50 X %: 1,35,000 passenger km
(2) Agra Trip =10 x 240 x 50 X % = 96,000 passenger km

Formula =km covered in a day X passenger capacity X average capacity

Total km in a month km
(@) Chandigarh =10 x 150 x 2 = 3,000
(b) Agra =10x 120 x 2 = 2,400
(c) Local =4 x40 = 160
Total 5,560
Illustration 6

New Delhi transport company is operating a bus on a route of 20 kms. The cost of the bus is
Rs. 4,50,000. It is insured @ 3% p.a. and annual tax is Rs. 5,000. Garage rent is Rs. 500
p.m. Repairs are Rs. 2,500p.a. and the life of buss estimated 5 years other particulars are : -

Driver’s Salary Rs. 1,500 p.m.
Conductors salary Rs. 1,200 p.m.

10% common in takings (to be shared by driver and conductor equally
Stationery Rs. 150 p.m.
Manger salary Rs. 1,350 p.m.
Diesel and oil Rs. 50 per 100 kms.

The bus will make 3 round trips carrying on an average 40 passengers on each trip.
Assuming 15% profit on earnings, calculate the bus fare to be charged from each passenger.
The bus will run on an average 45 days in a month.
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Solution :

Statement of Operating Cost

Fixed Charges Per annum Per Month
Rs.

Insurance 13,500

Road Tax 5,000

Garage rent 6,000

Driver’s Salary 18,000

Conductor’s Salary 14,400

Stationery 1,800

Manager salary 16,200

Total Fixed Charges 74,900 6,241.66

Operating Charges

Diesel and oil : 50 x 3000/100 kms 1500.00

Depreciation 4,50,000 — RS.9102,000 — 7500.00

Repairs 208.34

Commission 2060.00

Total Cost Per Month 17,510.00

Add profit 15% on earnings 3,090.00

Total earnings 20,600

Workings

Effective passenger km per month

Distance x trips (3 round trips) Days passengers

20 kmsx 6 (one way) X 25 X 40 = 1,20,000 passenger-kms
Bus fare to be charged = 20,600 + 1,20,000 = Rs. 0.17

Commission

Total earnings : - If x to be total takings, commission is 10% of x that is xlzzo = 1"—0

Total earnings = Total cost + Commission + Profit

Profit

Accordingly Profit = 15% on taking i.e., = X5 - X 5y 32
100 100 20
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Total earnings = 15,540 (total above excluding commission) + 110 + 2—’5

_3,09,000 + 2x + 3x
N 20

20 x = 3,09,000 + 2x + 3x
2x —5x = 3,09,000
X = Rs. 20,600

X

Commission is 10% of Rs. 20,600 = Rs. 2,060
Profit if 15% of Rs. 20,600 = Rs. 3,090
Illustration 7

Mr Hazara Singh owns a fleet of taxies and following information is available from records
kept by him.

Number of taxes 10

Cost of each taxi Rs.5,00,000

Manager’s salary Rs. 11,000 p.m.

Garage rent Rs. 4,600 p.m.
Insurance 5% p.a.

Annual tax Rs. 2,400 per taxi
Driver’s salary Rs. 12,000 p.m. per taxi
Annual repair Rs. 1000 per taxi

Total life of a taxi is about 2,00,000 km. A taxi runs in all 3,000 km in a month of which
30% it runs empty. Petrol consumption one litre for 10 km @ Rs.100 per litre. Oil and other
sundries Rs. 5 per 100 km. Calculate the cost of running a tax per km.

Solution
Operating Cost Sheet
Fixed Cost per month (for 10 taxis) Rs. Rs. Per
km
Manager’s salary 11,000
Garage rent 4,000
Total Fixed Cost 15,000
Fixed Cost per month per taxi (15,000 + 10) 1500
Insurance Premium (5,00,000 X % X 1—12 2083
Taxes 200
Driver’s Salary 12,000
15,783 7.51

Fixed cost per taxi (15783 +~ 2100)*
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Variable Cost per km

(a) Deprecations (per effective Km)

[ Rs.5,00,000 for 70% of 2,00,000 km =

Per effective km =

(©) Repairs[ﬂ

21000

X

(b) Petrol [monthly == x 3000] = Rs. 30,000

1
12

30,000
21,000

]

(d) Oil and other sundries
[ x 3,000] + 150

100

Cost per Km per taxi

5,00,000.

1,40,000]

3.57

1.42
0.04

0.07

12.61

*  Ataxi runs 30% empty and thru effective run is 7% all costs have been calculated taking
into consideration its effective km.

Illustration 8

A practicing lawyer spends Rs. 8 per kilo metre on taxi fare for work in court . He considers
two other alternatives, the purchase of a new small car or an old bigger car. The estimated

cost figures are :

ltems

New Small Car

Old Bigger Car

Purchase Price

Sale price after 5 years
Repairs and servicing p.a.
Taxes and Insurance p.a.

Petrol Consumption per litre

Petrol price per litre

Rs.3,50,000
Rs. 1,90,000
Rs. 10,000
Rs.17,000
10 km

Rs. 100

Rs. 2,00,000
Rs. 1,20,000
Rs. 12,000
Rs. 7,000

7 km
Rs.100

He estimates he does 10,000 km annually, Which of the three alternatives will be cheaper. If

his practice expands and he has to do 19,000 km, what should be his decision. He will be
driving the car himself. The tyres of old car are in good condition.

Solution :
New Small Old Bigger Car Taxi
Car Rs. Rs. Rs.
Fixed Expenses .
Depreciation : 32,000
3,50,000 — 1,90,000
5
2,00,000 — 120,000 16,000
5
Repairs and Servicing 10,000 12,000
Taxes and Insurance 17,000 7,000 |
(A) 59,000 35,000
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Variable Expenses

Petrol :% x 10,000 kms 1,00,000 1,42,857

100
T X 10,000 kms

Hire Charges in case of Taxi
(8 x 10,000)

(B) 1,59,000 1,77,857

For 19,000 km

100 100

Total Cost 1,59,000 1,77,857
(a) For 10,000 km B
(b) For 10,000 km (A + B)
306428

For 10,000 km (A +B) 2,49,000 3,06,428

Note
(1) (59,000 + 1,90,000) = 2,49,000
(2) (35,000 +2,71,728) = 3,06428

18.7 ERII

T ARTa—feRer 5 ares arTd—feRer ff dgd €, dArFTa—EiRe @ 98 yrel ®
S B9 IUHAT W ANL Bl 8 S HaT SUA] PRI & | 39 UPR & IUHAl & BB IQTEX
o URded, fIgd slcd, oo, 9M1 IR dfBT | Udh gPhls Hal IUT IR DI AN Bl
TMOET BT S © | GRIES SUHH § U $hls M &I Udb < 10a] Udb 13T 8 Fdhdl §
STafdh IRAUT § Ush $hls fawaR /AXIST 8IdT © | Blcd H Udh Sdhls HART /T ffe Brdr
g Fared drtd | @t § fawitd @ Sl ® o el erf-—uRadesfiar ererar
gRacefiel A1 FaTeds AIRTd | 89 IRTdl &l €9 & folv U oriTd U R fhar Sirar
=

gRags arTa—FER # drd dT—g@ & SR WR \Ufed il 2 | df—g&

# fawga @7 B 2

@l fbelifier &1 o & foy fFeferiad & © -

qred W& X & @ H@r X ERI P H& X T aR B W |

Gl AT B T BRA B forw:

g W=AT X qredl o1 griar

°F @ forg 3l o HE & UM W gHl B qGl OIRAT o A 2| ARG U # )

Yed U ST ST B | SHS U Haed g 31d] IG-—I@d G A0l |

AT @& SEIERYT & : 4, S, S8R, FeilFR 3RIdT fARIeT i & dReTg | qdrel
Tl § I, AHA, UgTd, BHIRHE, de anfe Afferd 2 |

15

80,000

1,90,000 2,711,428 1,52,000




18.8  IIGTdol

SF—gfaEmd (Public Utilities) : 3d®T 31ef a8 IUHHA © Ol oiel, 19, fagd anfq Sueter
PRI T |
AT—g® (Log Book) : Vil gRaaT forad ufd SR &1 <iRT sifesd g 2

HATe[ @ U3 (Operating Cost Sheet) : I8 @t IR @7 IR FATeH 9 3R Ul
T 3FrAT Ui S AT BI Golls DI AN ST ¢ |

189 9 Y¥H P 9N

4

(®) Terq (@) wE m s @) T (s) ¥

1810 qURY U3

1

2

3)

4)

®) AT AN B URETST BT | I8 (5 YR & SN H ANY BT 27?
Q) oo AN H Ggad gdbls Bl aar aef 2?

foelt gRasT &= & forv arTd U= IR ST 58 faf= gaR @ arrd g9y
TS B |

T geb 10 T HIel bR UREER A T AT | g8 3feHIEE H 4 S Al SR ol ©
IR 91T AT dSiaT H IR © | FSIaT H 8 9 AT g B Ig dIfug e UReax
Ugadl o | UREaR W IEAGIEIG, ABHaEIE I Folal AR delal I UREaR Bl Rl
AT 40 fbHl, 60 faer 3R 80 bl € | U ea—fHH” @Y ToHET HIRTU 3R BT
fewoft #ifdTe |

A truck starts with a load of 10 tonnes of goods from Porbunder. It unloads 4 tonnes at
station Ahmedabad and rest goods at station Baroda. It reaches back directly to
Porbunder after getting reloaded with 8 tonnes of goods at Baroda. It reaches back
directly to Porbunder after getting reloaded with 8 tonnes of goods at Baroda. The
distance between Porbunder to Ahmedabad. Ahmedabad to Baroda and then from
Baroda to Porbunder are 40 kms, 60 kms and 80 kms respectively. Compute “absolute
tonne — Km” and Commercial respectively.

Madhya Privahan company gives following details about a tuck of 5 tonne capacity.

Cost of Truck Rs. 8,00,000

Estimated Life 20 years

Diesel, Oil Grease Rs. 2,150 per trip each way
Repairs and maintenance Rs. 5,000 per month
Cleaners wages Rs. 12,500 per month
Drivers wages Rs. 25,000 per month
Insurance Rs. 48,000 per year

Road Tax Rs. 24,000 per year
General Charges Rs. 96,000 per year
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Truck carries goods to and from Indore covering a distance of 5000 kilometres each way
while going to Indore, freight is available to the extent of full capacity and on return 40%
of capacity, Assume that the truck runs on an average 25 days a month, Work out

Q) Operating cost per tonne — kilo meter and
(i) Rates per tonne per trip that the company should charge if profit of 50% on
freightage is to be earned

5) Laxmi transport company is running 4 buses between Delhi and Panipat, which are 100
km apart, seating capacity of each has is 40 passengers The following details are
available from log book for one month.

Rs.

Wages of drivers, conductors and Cleaners 1,48,000
Salaries of supervisor 1,20,000
Diesel Oil and Petrol 48,000
Repairs and Maintenance 16,000
Road tax and insurance 32,000
Depreciation 52,000
Interest and other charges 40,000

4,56,000

Actual passenger carried were 75% of seating capacity. All four buses run on all days of
the month. Each has made one round tripper day. Find out cost per passenger km.

6) From the following data calculate the cost per kilo metre of a Bus :-
Value of a Bus Rs. 1,00,000
Garage Rent p.a. 5,000
Insurance p.a. 4,800
Toll tax per year 1,400
Driver’s wages per month 15,000
Cost of petrol per litre 100
Maintenance per kilo metre 50
Estimated Life 10 years
Kilometres per litre of petrol- 10
Estimates annual distance- 600 km

Ae: 9T U A AUDT 5F ShIs Pl AR JW! dvg I IHIH H Feryal Herf | SHd
IR T B WA PG AR UGIERREN A ge PIRTY | offbd 3 IR
favafderea @ 99 AT | 3 1% amus ooq s & forw v w3 2

17



$O ST WD

THUA. IRTST : AN oidicd (A3 el : U9, @i US dr=iT fol, 1989) 31eam 56,7

.U, He¥aR U9 TE.UA. e AR of@id & Hol dd (fQoell : i AerdR g fu,
1989) AT 7—11

AU, ATl Ud UA.&. HeTa™] © AT i@l (SR : YHe g fSul, 1991) 37y
8,9,10,12

[N o

T, ARIAT : AN of@ide (78 fioell : o da US H, 1991) AT 56,7

18



THS 19 NTd 3R foxiT oral &1 9=

IPIS DI BRG]
190 eI
194 UG

192  ANTd oEid oI fafer
1921 FHTH AT Iih
19.2.2 IFHIHITd STGidhT
193 AN IR fa<iT oAl & AHIE &I SMaeadHdl

194 3[R & BRI

195 AR fdaRoT g9

196 HARSH FHRME fIavor @rar
197 YD SEIEXT

19.8  HRI

199  SIEdel

19.10 91 U & SR

1911 WU Y3 [ I

190 T

39 ShIS DI ATIT B B 915 AT 30 IFY & b fh -

. SN @i @ 1 ARl & deg # derg # a1 |,

. ST IR I oRdl & AT @l STaRaehdl Bl FHST T,

. NI 3R I oi@l H fQ@y S drel & a1 819 | 819 drel 3Rl & BRI Bl
ERIISES

. |AET fdeRor 9491 b, AR

. HANSH A fIaR0T QT a1 9 |




191 UdEHrm

AU UQT & b NI ol | 4 & I8 © fdb ¥ fa<iy oikdl @1 e &1 & &Rd @ | I8
BRI AN oGl & Ifaiid MMdbferd /eI & faxig oikal & Fdfd sfdford /sy &l
1T e PR fhar SIam 21 89 <1 XPAT § U IR BT & | R Y %1 9HeE Ud
AR faaRer g9THR fhar S Fadr 7, 9 I8 99 Oam ® {6 U ofaR o aRON | g |
39 Shls H 3T U fb oI 1@l & Iidd Mbferd o 819 Ug fa<ig ol & 3ideid
aMdferd /e @ da foa SR | ofar BIAT 1 3T I8 91 Ue« b am= faaxor faa

UhR AT ST & |

192 N @i@ied @ faffai (Methods of Cost Accounting)

gel—ss! fafmfor o8 g AT oral &1 Ui < ufafte youmel & IR W XEdr 8 39
ad & foru 9 faforRag o & & e fafr &r sg=mh §

1 FHTDBITT AT Uabldd ofw@id (Integral or Integrated Accounting)

2 STAATDHICTT AT YDl AGih

AT S o Sugad iy & fofw I8 ol &= simaedsd Bien © f arra &R faxi
@l B Udh B o § AT So IICN—3TelT Y@ | I8l aTd 3R fa<i <@l & e &x

foar ST 8, 39 A T AHTh e/ died oRdle [afer ®al Sl & | $9d [Auid Sd drTd
IR fI<T of@T &I Ae—AT R@T Sl & dd SH AGHADICT / 3YdbIdha A BT ST
2| drTd IR fafa el @ |HEE &) gawr 98 Y1 | § WE IrHreford Yy e
S 8| o1 IS SMAITD 81 WAl & &b THEE & THAT & Gee H fdaR &=+ Ugdl g9 ol
fafora & Fey # Hew # faar &x forar v |

1921 HIHferd i@idA (Integral Accounting)

TR/ Udblpd oldichd I SIWUTI BT © faxiid &R ANTa oi@r &l et qen fa<i
IR AT FadT oFaAl Bl Rére &1 & foIy Yl & Ud & §T Bl @A | TN Tl H
T AR T WA THPpa I @ ar & e siava ki ok o g9 N TR @
oar FR 6y o g1 39 A @ siadd <@ wrar @ o ufthar @1 e Srer 98
T oI o i § e H ot oM arell ufshar & & 9ad sl 2] o oeied &
JfTd WY S dTel AT ook (General Ledger), fasha ook (Sales Ledger) 3R 3 ook
(Bought Ledger) @ orfiRad oTd <ioik (Cost Ledger) 3R o9 WeRi® <ok (Subsidiary
Ledgers) I+ ¥ <o) (Stores Ledger), fAMmN_ &R <ok (Work-in-Progress Ledger) 3iR
IR ATl oforR (Finished Stock Ledger) ¥ 3% ST 2 |

AR WoR : I8 ANTd oEdidd § WE ofor Bial @ R it sma—era @ (nominal
accounts) 81 & | I IrAHIHfId gl fAfdy omuerg o € a9 $9H U WEId ook
(@rrTq T orR frEer @, FHvmE B oo FEE @rar $iR GuR " oo i




wran) ® forw v A= @rar W Bdar g1 Afe AHThford ofEid faf ruers S ® 99 A
it =0T W A ook H 8 ST © |

W ok : I8 YEd ook & RO9H 91 & 9P e & o 8id © 3R 399 Al &
IMTE—FE & Weg § o gdT Ierdl 21 39 ook ¥ Al & $I Bl sfoc &) fear Siar &
3R wraf R A T8 AN B sHH Bfse B e War 2

fomtome BRf oo @ S 3T 99 98e ook ¥ BT & R S99 e i, ufshar A
Tl & o BId & ST BrImer § ) ol 8T 8IdT & | 39 Wil Bl GEfdl & o,
A IR SURSAT ¥ Sfde &R faar Sar 8 997 o & FEr B 8 GIR AT @I Bl
JfaRT fbT T A1 B T & Bfee ) fear 9rar 2|

IR A1d ool 399 I 9 Weld ook ¥ gir & forad fafafia dar are an @1 fag
M R B YAb 7S & @I 8ld & | VA YD Yol AT T BRI WA bl Iedrad AR A
Sfde # fgr S & e fasa g @ @l dRa fby U g g | aR fear S
2| Hife 39 A @ sfavfa oal &1 dad T B Ae AT W 8 A DI NI An—=alfa
QAT QIR 81 fhar S, o o A1 B @) Pad TP 8 i Bk § R sHifery ST
Tq faciig am ar g1 @ TERE ) PIS AaeIHar A8 s |

1922 3NTHTHfeTd @i@id+ (Non-Integral Accounting)

ST WA AR o I Sfd & a9 Jdd ofoR H W o9 drel 930 ol & gRT Heldd
oR R AN <IoR U &d € | A 30 @A JIoR! @) S A 8 IR Udd ook
DI A Al g & A 3 <okl @l garefl AU a1 €1 9P ook & oy Us a7erw
qoYe 9917 Off b | 341 =0 @Al & IfdRed M iR &1 & al #al @ foly avd
Qrd H Udh AR ofolR GHRIT @rdr (General Ledger Adjustment Account) ¥ @relr SiTdT
2| 39 @I I ANTd ook =01 @rar (Cost Ledger Control Account) ¥ &1 SITdT @ | 1T
JoR ¥ FRIFT @ W 8 2, o fd Asrgyl fiEvr @mar (Wages Control Account), SedTes
SuRery fg=vr @rar (Production Overheads Control Account) YR SURS™ 30T @
(Administration Overheads Control Account), fdsa vd faaror SuRegy w@mar (Selling and
Distribution Overheads Control Account), 3Tf¢| 9 YHR IHIGIIT AW@idd & Iaiid
= @l @ gR1 AEd vfafe & w1 fRur S 81 59 UeR 39 fafy oy e @
fafer (Control Accounts System) ¥ &gl STl 2 |

ARTd A™—81= @rar (Costing Profit and Loss Account): 16 oFTd oi@l &I fa<iig orar o
TS XET SIaT & a9 fodl faoiy orafdy & wefda oy a1 8w & feiRor & forg orerT & &1
Uh ARTd o 3R B 1T darR fhar Srar 21 59 9@ 9 9 arrg o sfde &) e
ST 7 den e g ¥ wfec W e oar 21 sEw Mg B, SuRest @
=IAERIEUT (underabsorption), favy @il @ fawt & w1f, snfe #ai & Sfde fear <mar &
TAT AT ¥, SURSEIT & TGNy (overabsorption), faeiy dwraf @1 famt & @, anfe
Hal W HiSe B AT IaT 21 59 WA B Y AN RPrel & AR o™ AT 8 Bl
femo AT T foxia Rerst § @ S arel a9 a1 819 & 127 &A1 81T |




193 &g R foxiT oal @ AT @ smagadar (Need for Reconciliation of Cost and
Financial Accounts)

qID ® &l el H @y S ared a ar
qd # @ WM 9l o iR g i T
T —fqaRoT BT g9 P AIIhdT 8 Sl & ol =i P
BRI BT IAY | ANTT @RI & RIS Bl g H & oy 59 4R &I 9911 3aeds
B O 2 s9e JfaRed Ig fdarer foiy o@l gRT Ry WM arel vamerd aiRorEt
(operating results) @1 ORI URYEaT &1 e § 9 W8S &

g &

194 3R D BRI

Il & g1 Hel ¥ fedu S drel oY SR 81 ® 4 3faR @ Bl @ BRUN Pl Felg A
AR W 3l fhar o1 qebdr ©

ARG o A 98} 9fed daa fRT o #§ g o™ arel /¢ ¢ i ome w7 § i
AT e § T8l dfed dadt foxig o ar § 1 fawmr Srar 81 g 3R ' 9 defdd ol
T 7 foxfra om &F 9l € | 91 Al & aEfiaRor At fhar ST Adhar g |

$) fa=ig wR (Financial Charges)

) <1 e Fee Be

i) o, 6 i, dudi, onfe W Ry v @
iii)  gHQ T FAM AR BT

IV) &IV U 3 DN

v) el gREuRil @ 9w @R e

vi) e @ i ) B

vii)  emEferd avgsii W= 81 (obsolescence loss)
vil) IR ol @ e R e

iX) R/ FoEl & T R g

X) JuferRad =nfd, RS o 3T

®) f&i= amg (Financial Incomes)
i) o, 9% S Qe R T T
i) fyaen o oura @i
i) U ¥RR SR B
iv) g foRmr



V) R gRuREl o faw o
vi)  faul o for R o
vil) U Fdhe ge

M) M P fafaeE @ | (Items of Appropriation of Profits)
i) A BT RoTd BT Ao
)  gPIY T AT
TS IC RSN

ol o # <781 afcss daa arTa o # s 9 arelt 7 : A 989 & 9 A< &
AN of@l | ar el & oifch foxiry orar # =1 ot | Ueft w1 fyforRaa €

®) TS TS Yol W AN B — B FET B g8 AT BR © B ArTa ok @
TAGE W e T T8 Yol UR TS [l SN | IRy I1Kid H §9 UBR BT Dlg AT
HTIT el ST | Sty 39 faxi ol & e feam o 2 |

@) PR P 99 F PR : TEy $ A ) AT B ® P a8 o wifiw & o &
Haq @& forg W1 wfeqa fa=1U (notional rent) &1 @ @Y, TG HUAT DI 319+
Hde] H MM dTell IATed o Td 3R Ug R ofl T3 a1 foxu W ol 8 Bhaed # 3
qrell TS ANTT & dle AT Bl Sff | | WR IRdd § ol U e fear &1 iy,
gafery g9 fa<ig oAl # enfie =121 o Sim |

SuRedl &1 3reu/arf™ raeiyer (Under/Over absorption of overheads) : <iTa oi@m #
SURST B agell & MR Fa&T & UTddhiold 3fide (estimates) B 8 o9 o fa<ig oRkam &
IR ardfded 3Mfde (actuals) B © | $HGTY TNTT of@l ¥ a9l by 7Y IuRedl &1 M
TAT I VIR B g AT & IR BT 8 e arRdd # € Iy By a7 iR S9 foiy
orar H Rars fovar Tam 2

AR o dT § oY 1Y SRS, &1 & 99 ardidd T 4 &A
gread | B fhar a1 2 iR 5 faxig oien | Rare o1 far am & | afe SuRegai &1 guic:
I AN ol H AE B U § 1 agell H R #W @ T T OSY ored Jrawnfa
SuRer’ (underabsorbed overheads) @8 SITaT &1 s9d famid Ife aFTd o/ @m § @ SH
qrell Il ddfdd @ W IId 7 Al 39 offdd T B MY sr@enfyd  SuRer
(overabosrbed overheads) %&T ST & |

7 3N B IHhd & e
g

I e A= SR: T oar § ) 18 weia &) A ur: facfi orar § & T
= 9 e Bl © | ST HRUT I8 8 9adl @ b JRdl & el H Rle—died B
ST TRl &7 S HR0T fhar 1T 2 9 U gy o = 8l | fO<i oial o weie Jeaidd &l
RRATT Ay BT MR ANTd HIFd AT R HIAd § ST 91 B9 &1 (cost price or market price

which ever is less) &1 g & | oIfdhd NTd oAl H I JRTHT BT AR A AT &
SUTEA B IRATdd AN Bl & AT §ASD JcId TRTH D SURSRY 1 37 Favel! & |




195 AN fdarer s9FT (Preparation of Reconciliation Statement)

AT W § T 99 9t W &7 O]y @ § W 9 9t I @ 91 FHEE 6
fore faRor g9 s R B Bar ® o & d% A fdaRor (bank reconciliation
statement) ST | 394 &I ST W 8 Ahd & | TSl (ST W¥) Al Sirel S dTell A&l &l
IR B fem™ @ forw 3R %1 ge OIF arefl /el @ IR/ &1 fewm & forg ara
oGl # @ S dTel A 9 URY BRI (A FHAINH dRP fadrg oiar § fawr
S dTel &M BT 9 9ahd 7, 3R I JhR s9&! fakia Rafa & ug=n o d&dr & | af«
MY ANTd gl H WU S aTel & &l SR §9Tdhx. URY &R & ad, foxig o ar & oy
BT SIE B MUl fFfaRad &= s

1 AT ol & TR &Y B it w9 H e | afe s1f &1 €1 & 99 dafdd
IR BT gerd WM H g |

2 AT @ & Sfde uel 3l <% 3R 1ol A—aR, B, 3ffa VAT Hal &1 ar
B o1 @ ol H fewmar e w2 | afe g A1 A # g9 A&l @l |nTd
oral # fe@m T gar ar o @ IR W gS Bkl | or: 39 Il BT el o
ARy |

3 T—8I W & Bfsc el &l o IR 99 R Ui 3y, ured fowmam afe U1 Hai
BT UaT HY o ofTd oidi § 8 fewmrar Ty 2| o @Y 39 qel dl Afe orTd o
 fagmar T BIar @1 o @ IR 31 g8 Il | 3 39 WM Bl gel o ARy |

4 ST oRd BT <@ AR UaT oTrd o a1 dwfoqd faxmm, #ferd & 90+, Yol R <l
anfe S0 fxlt Y68 @ Wd & wU § fogrn w2 afe o fhar T g @ 89
B B S & i g8l & BRI AN okd H &9 &4 8U & |

5 ANTd o H oTg T8 91 3icel orTdl (hded! SuRe™, yemN-ie SuRad, fawmy
3R faaRor SuRer™) &1 AT &Ik faxiy org # forel 78 S arafd®d xwdl &
g @ | A= SuRerdl & SifSieraenyor  (overabsorption) @I WS © el
JreveTaenyoT (underabsorption) @7 & < |

6 ANTd oRkg H Ay U Wi & Jed &1 gorl 9 ofai § fe@rg 1y wie &
TR & AT DI | FHGAT I8 & b anra ol | i@y 1w wie &1 g 3ifdw
BT | S9fery 3ifcM wid # faR &I wel fQa S qn RS Widh § 3idR &l Sile
e e |

7 Sie 3R "el Wl & INT DI A3l AIfSTY 3R g9 T IR & a9
ferfert | afe e w9 &1 INT gl W9 & INT 9 31fde & a9 iy o &
TE AT AT DI T & | R IfQ b 9 BT IRT s W9 & AT
9 o<l o & AJAR Ig AR BT DT <M 2 |
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faveiyor & QMR TR 89 S Al DI T Fdhd & T oid o # fe@e o=
Il o § SIIeT 8§ 3R S #Hgl &) ¥ i S99 9 " 2 |
S 1S R 1 B G
1. AN o # 81 fe@rs 8 ema
2 AT og H ferg T8 dfeqd @mra (Notional Costs)
3 ANTT oRd # fHT e arTd &1 Jferer@eyor [IfuWR (overcharge)]
4 JRMWA® Fidb (opening stock) T 31feFed= (overvaluation)

HeTs o dlell AS

1 AN o # 81 few@m MU g9R
2 ANTA oRg H T 319cder RTd &1 =JA S7aiyol [/d—9+R (undercharge)]
3ifcH ¥ (closing stock) T 3ffe e

&

q G @ R Y g7 BT DI I LT <1 g8 © q9 MMUD] 9 AT 81 b Hael §

i O & o aR & g @M & IR | IR -1 87| 99 RIfa # ST S areft

[ BT TCHT BN IR R I "er WY # @M1 B8R do geis oI dTell Suyad

DI SISl BT 3R R I Sile w9 H @M1 8N | §A W&l H del S §ohdl ©
SuYa fafer 1 faudia fafer srori g |

ST ® ¢ (F) T4 MY AN o & IR o &l MR &9 &, 3R (@) w9 39 faxig

O B AAR A Pl AR §91C ¢ |

Illustration 1

The net profit of a manufacturing company appeared at .Rs. 60,500 as per financial records for
the year ended 31st March, 2018. The cost accounts, however, showed a net profit of Rs.
1,19,400 for the same period. A detailed comparison of the figures contained in both sets of
books revealed the following factors responsible for their disagreement:

Directors Fees not charged in cost accounts 7,500
Works Overheads under-recovered in costs 1,500
Loss due to obsolescence charged in financial accounts 3,500
Administrative overheads over-recovered in costs 1,800
Depreciation charged in financial accounts 10,000
Depreciation recovered in costs 12,000



Income Tax provided in financial accounts 54,500

Interest on Investments not included in costs 5,000
Transfer Fees credited in financial accounts 2,500
Fines paid not included in costs 1,200

Discount on issue of debentures written off in financial accounts 2,000

Prepare a Reconciliation Statement showing reconciliation of profit between the two sets of
books.

Solution

Reconciliation Statement

Plus Minus
Column Column
Rs. Rs.
Net Profit as per Cost Accounts 1,19,400
Directors’ Fees not charged in costs 7,500
Works Overheads under-recovered in costs 1,500
Loss due to Obsolescence not charged in costs 3,500
Administrative Overheads over-recovered in costs 1,800
Depreciation overcharged in costs (12,000 - 10,000) 2,000
Income Tax provided in financial accounts 54,500
Interest on Investments not included in costs 5,000
Transfer Fees credited in financial accounts 2,500
Fines paid not included in costs 1,200
Discount on Issue of Debentures not shown in costs 2,000
1,30,700 70,200
Net Profit as per Financial Accounts 60,500




Alternatively

Reconciliation Statement

Plus Minus
Column Column

Rs. Rs.
Net Profit as per Financial Accounts 60,500
Director’s Fees not charged in costs 7,500
Works Overheads under-recovered in costs 1,500
Loss due to obsolescence not considered in costs 3,500
Administrative Overheads over-recovered in costs 1,800
Excess depreciation charged in costs (12,000-10,000) 2,000
Income Tax provided in financial accounts 54,500
Interest on Investments credited in financial accounts 5,000
Transfer Fees credited in financial accounts 2,500
Fines paid charged in financial accounts 1,200
Discount on Issue of Debentures written off in financial 2,000
accounts

1,30,700 11,300
Net Profit as per Cost Accounts 1,19,400

< U B

1 Raa Y=t &1 gt S |

i) IS AT 3R i Bl Bl Yl & T & A H AT Sl &, 99 99 A

DI BB ST B oo |

i) afe arra ok i oAl &1 STeT—3reTT Y@ ST ©, a9 39 fafS &l Par
S LT |

i) T T H ARTT AR T8 e oR ® R 9 sma—arg o
(nominal accounts) &I € |

V) W AR T8 o oR 2 RaH ©R @ 9@ 98 & oy s @rar
BICT 2 |

V) AR AM—8I @I Bl g9 BT JAISTT .o

=

Vi) IR fIaROT B GOR SR @1 GRSl BT BRI &




2 gargy o fFefeiRad weAl § 9 B9 |81 8 3R B Tad IR 307 IR e HRop
Hfed €y |
i) AN o & AR Fael & &1 S & foly ged SuReqy (works
overheads) @1 319 a¥fell (under-recovery) &1 faxTT oRaT & SIFAR aa o
H SireAT =2y |
i) A Ol ® AR e aM Bl S @ oy fRig ol & rgaR ad
A H H EA-T—g8I+ (obsolescence loss) @1 EET oI 12T |
iii) AN @l & SIER Mad ™ Bl S @ oy faxi oar & iR e
o™ H Rl OR T 8 dTel ol Bl SIS QAT =Mfey |
iv) ORI o & IgER Mad o™ & MA@ foly anTd ofEl @ S 9R fHad
A AnTdl H Ay iR fadRer SuRegdl & aifer srasmyor
(overabsorption) &I el AT @R |
3 FHTE fAaRT Bl g9 BT R JAISH 8Iar § 7

196 HANSH §HRTE @rar (Memorandum of Reconciliation Account)

=2

QDI & QI del § Q@ U aM & §ERIE Bl ook @i (ledger account) & w4 H
TRd fhar S daar @ R SHReH SR @iar e odT § | U8 US 9Xd fafy @
XBH DI A H SileT 8T S hfse UaT § @ S iR 519 Xhq & o § 9
BT SW <fde ue # fagman smuwm | g9 Rfd # oY 3U oiTd ofjal & IfER o™ a1 g1
AER & BY H of Ghd & AT (9 @l & ITAR ™ AT BT Bl YR & ®Y H o Fobal
2| SaTERTT 1 | feU 10 aiidel & SMUR IR AHRSH FHETT WTdT A G- ST

iz
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Memorandum Reconciliation Account

Dr. Cr.
Rs. Rs.
To Directors Fees not charged in costs 7,500 | By Net Profit as per Cost
Accounts 1,19,400
To Works Overheads under-recovered 1,500 | By Administrative Overheads 1,800
in costs over-recovered in costs
To Loss due to Obsolescence not 3,500 | By Depreciation over- 2,000
charged in costs recovered in costs
To Income Tax charged in financial By Interest on Investments not 5,000
accounts 54,500 included in costs
To Fines paid not included in costs 1,200 | By transfer Fees credited in 2,500
financial accounts
To Discount on Issue of debentures not
shown in costs 2,000
To Net Profit as per Financial Accounts 60,500
1,30,700 1,30,700
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Alaternatively

Memorandum Reconciliation Account

Dr.

Cr.
Rs. Rs.
To Admlnlstrqtlon Overheads over- 1.800 By Net Profit as per Financial 60.500
recovered in costs Accounts
To Excess Depreciation charged in 2,000 By Dlrectors Fees not charged 7.500
costs in cost accounts
To Interest on Investments credited By Works Overheads under-
o : 5,000 X 1,500
in financial accounts recovered in costs
o By Lots due to Obsolescence
To Transfer Fees credited in 2500 |  charged in financial 3,500
financial accounts
accounts
To Net Profit as per Cost Accounts | 119,400 By Ipcomt_e Tax provided in 54,000
financial accounts
By Fines pald charged in 1.200
financial accounts
By Discount on Issue of
Debentures written off in 2,000
financial accounts
1,30,700 1,30,700
19.7 dYdh IQIER (COMPREHENSIVE ILLUSTRATIONS)
llustration 2
From the following figures prepare a Reconciliation Statement.
Rs.
Net Profit as per Financial Records 25,751
Net Profit as per Costing Records 34,480
Works Overheads under-recovered in costs 624
Administration Overheads recovered in excess in costs 340
Depreciation charged in financial records 2,240
Depreciation recovered in costing 2,500
Interest on Investments received but not included in costs 1,600
Obsolescence loss charged in financial records 1,140
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Income Tax provided in financial accounts
Bank Interest credited in financial accounts
Store Adjustments credited in financial accounts

Loss of Stock due to Spoilage charged in financial accounts

Solution

8,060
150
95
1,350

(+) Rs.

(-) Rs.

Net Profit as per Financial Accounts

Works Overheads under-recovered in excess in costs
Administration Overheads recovered in excess in costs
Excess Depreciation recovered in costs

Interest on investment not included in cost
Obsolescence loss charged in financial records but not in

cost

Income Tax provided in financial records but not in cost
Bank interest credited in financial books, but not in cost
Stores Adjustments credited in financial books, but not
in cost

Loss of Stock due to Spoilage charged in financial books

but not in cost

25,751
624

1,140

8,060

1,350

340
260
1,600

150

o1

36,925

2,445

Net Profit as per Cost Accounts

34,480
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Illustration 3

The Net Loss shown by financial accounts of a company amounted to Rs. 57,320 while the Net

Loss disclosed by company’s cost accounts for that period amounted to Rs. 37,100. Scrutiny of

figures from both the sets of books revealed the following facts: Rs.

) Directors Fees not charged in cost 1,300
i) A Provision for Bad and Doubtful Debts made in financial accounts 1,140
iii) Bank Interest credited in financial accounts 60
iv) Obsolescence Loss charged in financial accounts 16,600

V) Overheads in the Cost accounts were estimated at Rs. 17,000. The charge
shown by the financial accounts was Rs. 16,640
vi) Depreciation charged in financial accounts was Rs. 9,600 while depreciation

recovered in costs amounted to Rs. 8,000.

Prepare a statement reconciling the figures shown by the financial and cost accounts.
Solution

Reconciliation Statement

(+) Rs. | (-) Rs.
Net Loss as per Financial Accounts 57,320
Directors Fees not charged in costs 1,300

Provision for Bad and Doubtful Debts made in financial accounts but 1,140
not in costs
Bank Interest credited in financial accounts, but not credited in costs 60

Obsolescence loss charged in financial accounts, but not in costs | 16,600

Over absorption of overheads in costs (17,000-16,640) 360

Excess depreciation charged in financial accounts (9,600-8,000) 1,600

20,640 | 57,740
Net Loss as per Cost Accounts 37,100
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Illustration 4

From the following Profit and Loss Account draw up a Memorandum Reconciliation Account

showing the profit as per Cost accounts.

Profit & Loss Account for the Year ended 31st December, 2018

Dr. Cr.
Rs. Rs.
To Office Salaries 22,564 By Gross Profit b/d 1,09,236
To Office Expenses 16,540 By Dividend 2,400
received on
Investments
To Sales Expenses 28,452 By Interest on Bank 360
Deposits
To Distribution Expenses 5,980
To Loss of Sale of Machinery 3,900
To Fines & Penalties 500
To Discount on Debentures 1,000
To Goodwill written off 10,000
To Provision for Income Tax 10,000
To Net Profit 13,060
1,11,996 1,11,996
Solution:
Memorandum Reconciliation Account
Dr. Cr.
Rs. Rs.
To Dividend received on 2,400 | By Net Profit as per Financial 13,000
Investments Accounts
To Interest on Bank Deposits 360 | By Loss on sale of machinery 3,900
To Net Profit as per Cost Accounts 35,700 | By Fines & Penalties 500
By Discount on Debentures 1,000
By Goodwill written off 10,000
By Provision for Income Tax 10,000
38,460 38,460
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Illustration 5

The following figures are extracted from the financial accounts of Selwel Ltd. for the year
ending 31-12-2018.

Rs.

Sales (20,000 units) 50,00,000
Materials 20,00,000
Wages 10,00,000
Factory Overheads 9,00,000
Administration Overheads 5,20,000
Selling and Distribution Overheads 3,60,000
Finished Goods (1,230 units) 3,00,000
Work-in-progress

Materials Rs. 60,000

Labour Rs. 40,000

Factory Overheads Rs. 40,000 1,40,000
Interest paid on capital 40,000
Goodwill written off 4,00,000

In the costing records, factory overheads are charged at 100% of wages, administration
overheads at 10% of factory cost, and Selling and Distribution overheads at the rate of
Rs. 20 per unit sold.

Prepare a statement reconciling the profit as per financial records with the profit as per cost
records.
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Solution

Trading and Profit & Loss Account of Selwel Ltd. for the year ending 31st December, 2018

Dr. Cr.
To Materials 20,00,000 | By Sales 50,00,000
To Wages 10,00,000 | By Closing Stock
To Factory Overheads 9,00,000 | Finished Goods 3,00,000
Work-in-progress
Materials 60,000
Labour 40,000
Factory Overhead 40,000 1,40,000
To Gross Profit c/d 15,40,000
54,40,000 54,40,000
To Administration 5,20,000 | By Gross Profit b/d 15,40,000
Overheads
To Selling and Distribution | 3,60,000
Overheads
To Goodwill Written off 4,00,000
To Interest pad on Capital 40,000
To Net Profit 2,20,000
15,40,000 15,40,000
Cost Sheet of Selwel Ltd. for the Year ending 31st December, 2018
Output: 21,230 units
Cost of Direct Materials used 20,00,000 Rs.
Less: Cost of Materials in Work-in-progress 60,000
19,40,000
Cost of Direct Labour used 10,00,000
Less: Cost of Direct Labour in Work-in-progress 40,0000 9,60,000
PRIME COST 29,00,000
Factory Overheads @ 100% of wages 9,60,000
FACTORY COST 38,60,000
Administration Overheads @ 10% of Factory Cost 3,86,000
COST OF PRODUCTION (21,230 units) 42,46,000
Less: Cost of closing stock of finished goods (1,230 units) 2,46,000
COST OF GOODS SOLD (20,000 units) 40,00,000
Selling and Distribution Overheads (20,000 x 20) 4,00,000
COST OF SALES 44,00,000
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Profit (Balancing Figure) 6,00,000
SALES 50,00,000

Reconciliation Statement

(+) Rs. (-) Rs.

Profit as per Cost Accounts 6,00,000
Over absorption of Factory Overheads in 1,00,000
costs (9,60,000-8,60,000)

Overvaluation of closing stock of Finished
Goods in financial accounts (3,00,000- 54,000
2,46,000)

Under absorption of Administration 1,34,000
Overheads in costs (5,20,000 - 3,86,000)
Over absorption of Selling and Distribution

Overheads in costs (4,00,000- 3,60.000) 40,000

Goodwill written off in financial accounts,
but not considered in cost accounts 4,00,000

Interest paid on Capital charged in financial 40,000
accounts, but not considered in cost
accounts

7,94,000 5,76,000
Net Profit as per Financial Accounts 2,20,000

Working Notes

) Total number of units produced during the year
= Number of units sold + No. of units remaining unsold
20,000+1230 = 21,230 units

i) Value of Closing stock of Finished Goods

Cost of Prodution

~ Total No. of units produced

X No of Units remaining unsold

_ 42,46,000
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iii) Actual expenditure incurred on factory overheads in financial accounts
Total amount - Amount spent on work-in-progress

= Rs. (9,00,000 - 40,000) = Rs. 8,60,000

19.8 RIS

S fafie yomell @ STgAR ANTd ofkdl &I @ &I AUE wd H & AR &:(1) Faraferd
AGIHT AR (2) FAHTHIAT eRITH | AT oRdid @l gl fafyy (Ry f=or @rar ugfa 6
PEl AT 8) B IAdId INTd o€l Bl Tb Wdol e & ®U H T Sfial & | o a1 81 6
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TS oY T B &Y Ipd foxig o~y & fears o arell oy a1 g1fv 9 =1 gt 8 | sefifore
UHh U fqaRoT BT g9 BT MaIHaT Usdl & ol 39 ol & & Jel # @ Se aret o9
7 B & AR Y|

Il & qI Wl H WY S aTel o A7 B & &9 3R IR I BRI A Bl © | Y
HR T

i) d A< Sl dad O oal # fT@rsg Sl 8, dnTd ol A8 |

i) 9 A< S dad aFTd ordl | fexars o €, faxi orat § A8 |
i)  SuRerdl &1 e / 31fer raeiyo

V) i Jedied & - IR
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FAEE f[gaRer  (Reconciliation  Statement) 31 HHINSH AR @l (Memorandum
Reconciliation Account) @& & 34 I Wel & ORI IRYEdr & URE@R®e oig H
WERH BIAT © IR $H UHR IE = AD [Iea9-1g 4T 7 |

199  IIIdell

arTa AT @rar 9gfa (Cost Control Accounts System): ol @ @ a8 fafr @
AT NI Haeh oIl & RPbrs gadl & fdodqet &1 U el ¥ # fdhar omar = |

ANTA SR (Cost Ledger)y: <N oi@idd # U@ oor forad deres @l & forg
IT—q T AR =T Wit B © |
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ARTd aWM—8T @rar (Costing Profit and Loss Account): 98 Tl 1 STAATH oI oAl

fafr & IR & S 916l ARTd—ol@l Dl & ATAR /e & FaRo & fog a9 man
IS

{UR 1 Aok (Finished Stock Ledger): 98 W@ ofoR forad fafafia Gar At ar qx1
fpT U PR P UAS A B @I B & |

THIgd o@ide (Integrated Accounting): oi@l Y&+ &I 98 fafdy e sfavfa o ok faa
Heell oIFTal Bl Gl & Yo &1 S § Repre fdbar Srar & |

HANSH AR @rr (Memorandum Reconciliation Account): J&I&! @ a1 9ie 3 g Ty
/B BT UH <ok @Td (Ledger account) & U # ARG w4 A FHTE |

SuRReral &1 arfdreraeiyor (Overabsorption of Overheads): SURSE & 98 ael Wi aRd(dId
g 9 31 Bl 2|

gaEE fdaxer (Reconciliation Statement): g&idi @ &I ¥e H fe@y U a™/EI &1 U6
fARor & ©U # NuARE S F FHE |

R @R (Stores Ledger): 98 We—® ook T8 H1d & YAd A & W@Id 8l & 3R 9
AT & AT & Hder # i gar orar 2|

SuRerdl &7 sreuetaeiyer (Underabsorption of Overheads): SUR&dl &1 a¥iell # &1 dTefl
B4 |

fomtomei| st @rar (Work-in-progress Ledger): a8 eI oioR forad 891 it &t oiR
gfshall & WA Bl 2 S Briemer § anf et %8 B & |
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1 fa=roT grar fhd @81 91T 8 ? 99 oY & Hed | 9aigv |

2 UhIdhd gl (Integrated Accounting) ¥ 3T &1 HHSK © 7

3 ANTa 3R i oial & AR B SavIhdT i Bl © 7 39P Hed H §d1g |

Bl SIdT g b T o i o faxiig ol & < aRoma fAaTel S @S9
9 ggafa &1 89T JMavyd A8l BT | VT y 7

N

5 AT oI} QIR AT oial & a9 G BRAT |7 MMIeTH BIdl & 7 BRI
AW | S9P FHEE b v b= wH e gfhamsit o oM § Ry Srar g 2

6 o= oral & fexgTu U o QIR oIRTd oial gIRT 31U 10 o1 & 919 819 a1l
AR B BRUN b A F Feg H gdIv |

SR
1) From the following figures prepare a Reconciliation Statement.
Rs.
Net Profit as per financial records 1,28,755
Net profit as per costing records 1,72,400
Works Overhead under-recovered in costing 3,120
Administrative Overhead recovered in excess in costing 1,700
Depreciation charged in financial records 11,200
Depreciation recovered in costing 12,500
Interest received but not included in costing 8,000
Obsolescence Loss charged in financial records 5,700
Income Tax provided in financial records 40,300
Bank Interest credited in financial books 750
Stores Adjustments credited in financial books 6,750
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From the following particulars prepare

)} Statement of Cost of Manufacture for the year 2018.

i) Statement of Profit as per cost accounts, and

i) Profit & Loss account in the financial books and show how you
would attribute the difference in the profit as shown by (ii) and (iii).

Rs.
Opening stock of raw materials 30,000
Opening stock of finished goods 60,000
Purchase of raw materials 1,80,000
Stock of raw materials at the end 45,000
Stock of finished goods at the end 15,000
Wages 75,000

Calculate the factory overheads at 25% on prime cost and office overheads at 75% on
factory overheads.

Actual works expenses amounted to Rs. 58,125 and actual office expenses amounted to
Rs. 45,750. The selling price was fixed at a profit of 25% on cost.

(Answer: Profit as per Statement of Cost Rs. 97,500; Profit as per Financial Amounts
Rs. 98,625)

The following information has been obtained from the records of Freezer Ltd., a
manufacturer of one tonne air-conditioners:

Rs.
a) Materials per machine 1,500
Wages 900
Number of machines manufactured and sold 80
Selling price per machine 4,250

b) Works overheads to be charged @ 60% of the wages

c) Office overheads to be charged 20% of works cost

d) There were no stock of machines or work-in-
progress at the beginning or at the end of the period.
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4)

Prepare a statement showing the profit per machine sold. Also prepare a statement
showing the actual profit if work expenses were Rs. 43,000 and office expenses were Rs.
48,000 as per the financial records; and shown how you will reconcile the profits shown
by two statements.

(Answer: Profit as per cost statement Rs. 57,760; Profit as per financial
records Rs. 57,000)

The following is the summarised version of Trading and Profit & Loss
Account of Continental Enterprises Limited for the year ended 31st March,
2018.

Dr. Cr.
Rs. Rs.
To Materials 48,000 | By Sales 96,000
To Wages 36,000 | By Closing Stock Finished 20,400
Goods
To Works Expenses 24,000 | By Work-in-progress
To Gross Profit c/d 14,400 Materials 3,000
Wages 1,800
Work Expenses 1,200 6,000
1,22,400 1,22,400
To Administration 6,000 | By Gross Profit b/d 14,400
Expenses
To Net Profit 8,400
14,400 14,400

During the year 6,000 units were manufactured and 4,800 of them were sold.
The costing records show that works overheads have been estimated at Rs. 3 per unit

produced and administration overheads at Rs. 1.50 per unit produced. The costing books
show a profit of Rs. 11,040.

You are required to prepare a Reconciliation Statement.

(Answer:Valuation of Closing Stock of Finished Goods in Cost Rs. 21,240
(Overvaluation by Rs. 840). Under-recovery of Works Overheads
Rs. 4,800 and Over-recovery of Administration Overheads Rs. 3,000)
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5) Modern Company Limited furnishes the summary of Trading and Profit &
Loss Account for the year ended 31st March, 2018.

To Raw Materials
To Direct Wages

To Production Overheads

To Administration Overheads

To Selling & Distribution Overheads
To Preliminary Expenses written off
To Goodwill written off

To Dividends

To Income Tax

To Net Profit

Rs.
1,39,600
76,200

42,600
39,100
42,700
2,200
2,501
3,000
4,100
1,89,944

5,41,995

By Sales (1,200 units)
By Finished Stock

(200 units)

By Work-in-progress
Materials

Wages

28,200
11,976

Production Overheads 7,999

By Interest on Securities

Rs.
4,80,000
8,000

47,995
6,000

5,41,995

The Company manufactures a standard unit, scrutiny of cost records for the same

period shows that

1) Factory overheads have been allotted to the production at 20% on prime cost.
i) Administration overheads have been charged at Rs. 3 per unit on units produced.
iii) Selling and Distribution expenses have been charged at Rs. 4 per unit on units sold.

You are required to prepare a Statement of Cost to work out profit as per cost accounts and to
reconcile the same with that shown in the financial accounts.

(Answer:

Profit as per costing records :

Rs. 1,88,493; Valuation of Closing Stock of

Finished Goods in Cost Rs. 4,058 (under-valuation by Rs. 3,942); Over
absorption of production overheads Rs. 560; Under absorption of administrative
overheads Rs. 2,500 and over absorption of selling & distribution overheads Rs.

5,300)
6) The financial profit and loss account of a manufacturing company for the year ended 31st
March, 2018.
Dr. Cr.
Rs. Rs.
To Opening stock of Finished 38,500 | By Sales 2,50,000
Goods
To Purchase of Materials 60,000 | By Closing Stock of 35,000
Finished goods
To Wages 48,000
To Works Overheads 38,000
To Gross Profit c/d 1,00,500
2,85,000 2,85,000
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To Administration Expenses 20,000
To Selling & Distribution

Expenses 24,000

To Bad Debts 7,200

To Provision for Bad Debts 5,000

To Net Profit 65,300
1,21,500 1,21,500

It is found that the Costing Profit and Loss Account has been prepared on the basis of figures
furnished below:

Opening Stock of Finished Goods Rs.45,000
Closing Stock of Finished Goods Rs. 31,500
Works Overheads recovered in costs Rs. 36,000
Administrative Overheads recovered in Costs Rs. 22,000
Selling & Distribution Overheads recovered in Costs Rs. 20,000

You are required to prepare a Memorandum Reconciliation Account and determine the profit as
per cost accounts.
(Answer: Profit as per cost accounts : Rs. 50,500;

Overvaluation of Opening Stock in cost Rs. 6,500;

Undervaluation of Closing Stock in cost Rs. 3,500;

Under-recovery of Works overheads in cost Rs. 2,000

Al 39 YT O 3MUBI S9 SIS Dl AR ) ke ¥ 9z § degrudr el | 998 SR
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